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T.Y. B.A. EXAMINATION, 2009
FRENCH (GENERAL)
(2004 PATTERN)
Time : Three Hours Maximum Marks : 80

Q.1.A. Traduisez en anglais. (6)

Contes, musiques, chants, textes, jeux... toutes les formes d’expressions reflétent
Phistoire et la richesse d’un peuple. L'Unesco a décidé de préserver cés trésors qui sont
en train de disparaitre.

- Le plus ancien opéra chinois, le carnaval d’Oruro en Bolivie, les traditions du peuple
Zapara en Equateur, les conteurs, acrobates, musiciens, comiques, charmeuss de serpents
... Pour sa premiére sélection de formes d’expression oculturelles a protéger, I’Unesco a
choisi 19 formes de traditions artistiques et modes de vie d*un peupl..

De la méme fagon que des sites et monuments du monde sont désignés comme fajsant
partie du patrimoine mondial de I’humanité, I'Unesco a en effet décidé de créer un
“patrimoine oral ”. Ainsi, toutes sortes de créations artistiques ou culturelles, rites et
toutes formes d’art, peuvent étre inscrits sur cstte liste de patrimoine. Ainsi, les traditions
qui font la diversité et la richesse des peuples pourront étre passées aux générations
successives. '

Q.1.B. Traduisez en frangais. (6)
France is a cold country, but because of global warming, it gets very hot in summer.
People are not used to the heat. Very old people, and those who are already sick, suffer
because of the heat. Several doctors in France admit that many people die in because of
the hot weather. They say that the State must inform people about the dangers of
excessive heat and its effect on the health of aged persons. They must be told to drink:
plenty of water, to keep their rooms cool and not to g0 out when it is very hot.

Q.2. Compréhension. 8)
La justice du Tchad (Afrique de I’est) a officiellement inculpé les seize européens arrétés
en début de semaine, pour escroqueric. Parmi eux, six francais, membres de I'association
I'Arche de Zoé. Depuis une semaine, la confusion est grande dans Daffaire de I’Arche de
Zoé. Plusicurs membres de cette association ont &té arrétés 3 P’aéroport d’ Abéché (Tchad)
alors qu’ils ailaient embarquer une centaine d’enfants dans un avion & destination de la
France. '

On sait aujourd'hui que la majorité des enfants ne sont ni orpheiins, ni originaires du
Soudan, comme I'affirmaient les responsables de l'association. Certains dlentre eux
racontent méme que des hommes, européens et tchadiens, les auraient emmenés avec sux
en leur promettant des bonbens ou un repas, avant de les faire embarquer dans un avion.
Seconde cerifiude : le gouvernement frangais ne soutiendra pas les membres de I'Arche
de Zoé. Nicolas Sarkozy a lui-méme condamné cette opération "illégaie et inacceptable”.
Le président tchadien demande que les Frangais soient punis sévérement,

P.T.O.



Questions “4)
i) Dans quel pays les seize européens ont-ils été arrétés? Pourquoi ?
ii) Quelle est I’attitude du Président de la France vers I’ Associaticn I’Arche de Zcé 7
, I 4)
Dites ‘vrai’ ou ‘faux’.
iii) Les enfants sont accompagnés de leurs familles.
iv) Tous les membres de I’association I’Arche de Zoé¢ étaient des Frangais.
Q.3. Répondez aux questions en dix lignes environ. (3 au choix). (15)
i) Citez trois exemples d’escroquerie. Quelles en ont €té les conséquences ?
ii) Analysez le role de la publicité dans la société moderne.
iii)Que faut-il faire pour préserver les monuments historiques?
iv) Le woisiéme age, comment peut-on s¢ préparer pour cela 7
v) Aujourd’hui on critique le rdle joué par les médias dans le reportage de 'attaque
terroriste sur I’Hotel Taj 3 Mumbai. Croyez-vous qu'il faut censurer les médias ?

Q4. Traitez UN des sujets ci-dessous. &)
a) Expliquez & un ami indien qui va visiter La France, I'implication de certains types de
comportements chez les Frangais. Ecrivez un dialogue de 8 répliques environ. Utilisez les
expressions comme ‘cela va te surprendre’, ‘c’est peut-étre’, ‘il est possible’, ‘n’importe
quand’ etc.

(814]
b) Vous étes journaliste et vous avez fait un sondage sur les réflexions des vieilles
personnes sur la sociéié, leur famille, leurs appréhensions, leurs attentes. Présentez les
observations et les conclusions sous forme d’un article dans le journal. Utilisez les
expressions qui expriment la surprise, I'indifférence et des indéfinis comme ‘certains’,
‘quelques-uns’, ‘tous’, etc.

Q.5.A. Mettez les verbes a I'imparfait,au plus-que-parfait ou au passé composé. (4)
Hier soir, nous (se coucher) de bonne heure parce que nous ___ (se
lever) trés tard la veille a cause de ’excursion de classe. Nous ___ (aller) a
Ajanta et Ellora pour visiter les grottes et les temples. Nous y (rencontrer) un groupe de
touristes francais.

Q.5.B. Trouvez le nom qui correspond. @
Orgueilleux ; considérer ; compréhensible ; bavard. ’

Q.5.C. Comiplétez avec les indéfinis qui correspondent. (tout, n’importe quel,

quicenque,certains,quelques uns etc.)Ne les répétez pas ! )
i) Tous les enfants n’aiment pas aller 2 ’école; préférent rester a la maison
avec les parents. '
ii} Achetons des fleurs : elles sont toutes belles.
iit) doivent faire des efforts pour combattre le terrorisme.
iv) mécanicien pourrait réparer cette voiture.

C))

Q.5.D. Mettez au discours indirect.
i) I1 ordonne aux enfants : « Ne faites pas de bruit! »
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i1) Le professeur a annoncé : « J’ai fini la lecon. »
iii) J’ai dit & mon frére : « Je ne suis pas d’accord avec toi. »
iv) La boulangére annonce : « Nous n’avons plus de pain. »

Q.5.E. Choisissez la phrase qui correspend a la question, 4)
Jen ai assez de ses bouderies ! / Encore un effort ! Pousse ! / N’occupe pas de mes
affaires ! / Ca m’est éga!l !

i) Qu'est-ce que tu préféres ? Le café ou le thé?

ii) Je ne peux plus faire un pas. Je suis fatigué.

iii) Si j’étais 4 ta place, je ne dirais rien a personne.

iv) Pourquoi est-ce que tu ne viens plus chez Maria ?

Q.5.F. Transformez les phrases soulignées en utilisant des gérondifs. )
i} Travaille bien ; tu gagneras I’appréciation de tes collégues.

ii) Il voyageait ; il a appris beaucoup de choses.

iii) Les touristes se promenaient dans la région ; ils ont découvert un temple ancien.
iv) Il s’est réveillé; il s’est apergu que se maison avait éié cambriolée.

Q.5.G. Donrez les adjectifs qui correspondent. “)
Rire; boire; porter ; humilier.

Q.5.H. Meitez les verbes au mode subjonctif ou a I'indicatif,
i) Pourquoi veut-il que je (faire) cette tache ?

ii) Nous espérons que vous (arriver) 4 I’hieure pour Pinterview.
iii) Je crains que mes parents (savoir) que j’ai échoué & I'examen.
iv) Elle est sfire que son fils (devenir) un grand sculpteur.

—
L
S’

Q.L Dites si les paroles suivantes expriment : la surprise / Pindifférence /
la probabilité / 'improbabilité. (4)
i) « P’ai gagné la loterie ? Sans blague ! Je réve ou quoi ? »
i) Il ne me semble pas qu’elle accepte ton offre de mariage.
iii) « Le nouveau film de Shahrukh Khan ? Ca ne me fait ni chaud ni froid. »
iv) Il n’a pas dit son nom ? C’est sans doute un escroc !

Q.J. Complétez les expressions ci-dessous avec les parties du corps

qui conviennent. (yeux / téte / ongles / dents / pieds / main) (4)

i) C’était un moment embarrassant, quand elle s’est trouvée a . avec son
ancien mari. '

ii) Ils ont perdu le contrat parce que leur directeur ont les longues ; il & dermandé
un prix trop éleve,

iti) Je pense qu’il est perturbé par cette affaire ; ca saute aux quaind on le rencontre.

iv) Il est peintre jusqu’au bout de ses _

[3601}-305 3



"Total No. of Questions—4] [Total No. of Printed Pages—1

[3601]-306
T.Y. B.A. EXAMINATION, 2009
FRENCH (SPECIAL 3)
(17th + 19th Century)
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NB. :— () All questions carry equal marks.
(i)  Attempt all the four questions.

QUESTION I : Faites une appréciation du poeme “Harmonie du
Soir “ de Baudelaire et avec des exemples expli-
-quez la théorie des “correspondences “.

QUESTION I1: Emma Bovary est restée une adolescente roman-
-esque toute sa vie. Expliquez.

QUESTION I1I: Pourquoi “Le Lac” de Lamartine est-il connu
comme le manifesto du movement Romantique ?
ou

Mme. De Sévigné a créé tout un tableau de la Cour
Royale dans ses lettres. Montrez avec des
exemples son extraordinaire talent.

QUESTION 1V : Situez et expliquez : 2 au choix
1. Comment voulais-tu que je vécusse sans toi ?
2. Valse mélancolique et langoureiix vertige !
3. ...comptez bien sur ma tendresse qui ne finira
jamais.
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T.Y. B.A. EXAMINATION, 2009
FRENCH (SPECIAL 4)
(18th + 20th Century)
(2004 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions carry equal marks.
(ii) Attempt all the four questions.

Question I : Faites une étude comparative avec des exemples du
caractére de Raymond et de Lucie Pasquier.
Ou

Faites une analyse du poeme “Heureux ceux ...” de
Péguy.

Question II : Gil Blas est une “victime d’amour¥. Comment
surmonte-t-il cette déception ?

Question II1 : Selon Sartre, il n’y pas de Dieu. Commentez.

Question IV : Situez et expliquez:.2 au choix.
1. Je me levai avec transport, et, me jetant aux

pieds de.....
2. L’homme est maitre de son destin.
3. Mais qui te dit que nous les aurons, les meubles ?
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" T.Y. B.A. EXAMINATION, 2009
GERMAN
General Paper III
(Advance Course in Language)
(2004 PATTERN)
Time : Three Hours Maximum Marks : 80
Use of a dictionary is allowed.

I. Obersetzen Sie ins Englische oder Marathi! | (10)

Ob auf Urlaubsreisen oder beim Surfen im Internet — wer Fremdsparchen spricht, kommt
schneller an sein Ziel. Und wer beruflich etwas erreichen will, kann auf Fremdsprachen
nicht verzichten. Vom kiinfti gen Idealbiirger Europas wird sogar erwartet, dass er sich in
mindestens zwei Fremdsparchen unterhalten kann. Die Frage, wie man méglichst effektiv
Fremdsprachen lernt, wird damit wichtiger. Die Auslinder ei gnen sich die neue Sprache
rasch nach dem gleichen typischen Muster. Bei den Kindern ist die Situation anders. Sie
lemen durch Nachahmen. Diejenigen, die ihre Muttersprache gut beherrschen, lernen die
Zweitsprache schneller und besser als ihre Eltern. Die erwachsenen Lerner dagegen

erfassen die komplexen Strukturen einer Sprache nicht mehr spontan durch einfaches
Nachahmen.

II. Beantworten Sie mit etwa 80 Woértern filnf der Fragen! (20)

War Karl-August zufrieden mit seinem Urlaub?

Welche Problematik behandeln die drei Gedichte *J etzt’, ‘Zukunft’ und
‘Zukunfisproblem’ ?

Wie kommt es zu dem Streit zwischen Vater und GroBmutter?

Was behauptet der Bischof in der Schneider von Ulm?

Was hilt der Gelehrte von dem Wissen? Wie schétzen Sie ihn?

Wo spielt die Geschicte der Floh? Welche Personen treten auf?

Aus welchen Lindern kommen die Postkarten?

Welchen Fehler macht der winzig kleine Mann?

DY -

NN W

III. (Landeskunde) ‘ (30)
A Antworten Sie mit etwa 100 Wortern auf sechs der Fragen! 18

1. Wie ist die Schweizer Entwicklungshilfe eigentlich zu verstehen?

2. Wer sind die Welschschweizer und Tessiner?

3. Wie wichtig sind die Migranten fiir die Schweiz? p
.T.0.



4. Was macht die. Selbstbesteuerungsgruppe in Osterreich?
5. Warum ha? Wien die Amtssitze vieler internationalen Organisationen?
6. Welche Minderheiten hat Osterreich? Wie leben sie ? -

Beschreiben Sie die Arbeit der deutschen Hilfsorganisationen!
Wie funktionieren die deutschen Medien?
Welche Einwanderer kamen seit dem 17.] ahrhundert nach Deutschland?

O 00

w

Beantworten Sie fnf der Fragen ganz kurz! 5

Welche Faktoren charakterisieren die deutsche Wirtschaft?
Welche Funktion hat der Bundesprasident in Deutschland?
Nennen Sie die Lander von Osterreich!

Wofiir ist die Schweiz ein Muster?

Sind die deutschen Linder autonom?

Nennen Sie vier wichtige Zeitungen/Zeitschriften in Deutschland!
Wie ist die 8sterreichische Nationalflagge?

N v

@]

Ergtinzen Sie sechs der Lucken!

| PR R und --------=--- sind die rechtsgerichteten
auslinderfeindlichen Parteien in Deutschland.

2. Mit Frankreich hat Deutschland seit ------------ und ----e-am-eo- einen engen
Freundschaftspakt.

3. meeemeeee- sind die Menschen aus der fritheren Sowjetunion, Rumdénien und Polen,
die von Deutschen abstammen und die seit 1970ern nach Deutschland
zurtickgeholt werden.

4, coomeemeee- sind die Auslinder, die nur in der Schweiz arbeiten, aber in einem der
Nachbarldnder wohnen.

5. Osterreich muB die im =----------------- Abkommen festgelegten Richtlinien fiir
Einwanderung durchfiihren.

[ ist fir manche Osterreicher ein Ort, wo sie ihre Millionen vor Steuer
verstecken kénnen. -

7. Osterreich ist seit --=--------- Mitglied der EU.

IV Lesen Sie den Text und 18sen sie die Aufgaben! (10)
Deutschland ist in der Mitte Europas ein klassisches Transitland: 1,4 Millionen Lkws
sind jahrlich auf deutschen Autobahnen unterwegs. Aber mit der einmailgen Technik des

deutschen Maut-Systems ‘Toll Collect’ ist es mdglich, mit Satelittenortung die
kilometergenaue Abrechnung zu machen.
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Diese technische Revolution ist nur so gro} wie ein Autoradio. On —Board Unit, kurz
OBU, nennt sich das Herzstiick des weltweit modernsten Mautsystems, das seit dem 1.
Januar 2005 auf deutschen Autobahnen gilt. Das System des Toll Collect braucht keine
Vignette (permit for motorway driving) und keine Mauthuschen. Es berechnet die
StraBenbenutzungsgebiihr fiir Lastwagen mit einem satelittengestiitzten
Erfassungssystem- auf den Kilometer genau. OBU sei Dank. Die Fahrer miissen vor .
Fahrbeginn nur einige Daten bestitigen, den Rest erledigt die schwarze Boz im Cockpit

automatisch, denn sie enthlt einen GPS Empfinger und ein Mobilfunkterminal. Fihrt
der Lastwagen los, erkennt die OBU durch die GPS~Sate1ittenortung, welche Strecke der
Lkw zuriicklegt. Der Mautcomputer berechnet die entsprechenden Gebiihren und
tibermittelt die Daten per Mobilfunk an Toll Collect, wo die Rechnung erstellt wird.

Was ist die Besonderheit der OBU?
Warum ist OBU eine technische Revolution?
Schreiben Sie die Abkiirzungen Lkw und GPS aus!
Erkldren Sie zwei der folgenden Begriffe auf Deutsch:
a) klassiches Transitland
b) Herzstiick
¢) Satellitengestiitzt
5. MuB man auch in Indien Maut zahlen? Wie berechnet man hier die Maut?

PO -

V' Schreiben Sie einen Leserbrief an]hre Zeitung, in dem Sie die junge Generation
appellieren, bei den kommenden Wahlen aktiv teilzunehmen, (10)

ODER
Ubersetzer. Sie ins Deutsche!
Will the sun and the stars stop shining one day? Yes, our sun, and all the stars, will g0 out
one day - but not for many thousands of millions of years to come. First the centre of the
sun will get smaller and hotter. The outer layers will be pushed out further by this

increased heat, so the sun will grow in size. It will become a red giant star. Since the sun
is very much closer to the carth, the earth also will get hotter.
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T.Y. B.A. EXAMINATION, 2009
GERMAN
Special Paper I1I
(Study of Literature)
(2004 PATTERN)

Time : Three Hours Maximum Marks : 80

I Klosterschule ceveennn]20]

1. Wie ist die Umgebung in der Klosterschule? Wie wirkt sie auf die Personlichkeit
der Schilerinnen? L (8)

2. Beantworten Sie drei der folgenden Fragen (etwa 120 Worter)! ... (12

a) Ist die Ich-Erzahlerin rebellisch ? Antworten Sie mit Bezug auf das letzte Kapitel
,Der Lauf der Welt’!

b) Was sind ,,Visionen“? Welche ,,Visionen* hat die Ich-Erzéhlerin? Wie behandelt
die Schwester diese ,,Visionen*?

¢) Erldutern Sie das Zitat: ,,Wir feiern um die Gerechtigkeit auszugleichen®!

d) Was fiir Gesinnung hinsichtlich des Umgangs mit Ménnern wird bei den
Schiilerinnen herausgebildet? ( Kapitel ,Anstandsstunde’)

e) Was spielen die Schiilerinnen in der Buchenlaube? Warum werden solche Spiele
erfunden?

II Erziihlungen

Beantworten Sie vier der folgenmden Fragen! .. [12]

a) Beschreibén das Bild der Grossmuter, von dem die meisten Eltern trdumen!

b) Erldutern Sic das Zitat: ,,Ausldnder sind schrecklich sensibel*!

¢) Was fiir ein Menschentyp ist der Ich-Erzéhler von ,Eine gréssere Anschaffung’?

d) Ist das Leben des Protagonisten (bei B6ll) mit einem ,schlechten Roman’
vergleichbar?

e) ,.Denn einmal stirbt die Sehnsucht doch!* Erldutern Sie diesen Satz im
Zusammenhang mit der Erz#hlung ,,dre Kapitdn*!

f) Warum findet Frau Sarti die Besichtigung durch das Rohr eine Blamage?

IIl Gedichte e [15]

a) Wihlen Sie ein Gedicht entweder von Enzenberger oder Sarah Kirsch und
analysieren Sie es ausfiihrlich! . (6)



b) Beantworten Sie drei der folgenden Fragen- ... (9)
i. Wie #uBert sich Goethe in ,Gegenwart’? An wen?
ii . Wie ist die Stimmung in dem Gedicht ,,die Stadt"?

lii. Interpretieren Sie den Titel von Heines Gedicht aus?
iv  Wie beschreibt Nietzsche die Stadt ,,Venedig*?

IV Ubersetzen Sie den folgenden Text ins Englische oder Marathi!  .......... [13)

Ich bin, sagte Almor, in Smirna geboren. Mein Vater, ein Franzose und reicher
Kaufmann, der von der christlichen zur Mohamedanischen Religion iibergegangen
war, behandelte mich, so selten ich auch vor ihm erschien, kalt und unfreundlich, und
meine Mutter war vor meiner Erinnerung gestorben. Ich fithlte mich recht verlassen
und oft tief erbittert durch meinen Vater. Kinder, wenn sie schon anfangen, das Leben
mit den Augen ihres Geistes zu betrachten, werden von den Gewohnheiten,
Verhiltnissen und Forderungen der menschlichen Gesellschaft bedngstigt, und nur die
sanfte Hand guter Eltern kann sie ohne grosse Schmerzen in die ungewohnten
Schranken des biirgerlichen und héuslichen Lebens einfithren. Durch die Eltern
spricht die Natur zuerst zu den Kindern. Wehe den armen Geschopfen, wenn diese
erste Sprache kalt und lieblos ist!

V Literaturgeschichte ... [20]
a) Antworten Sie auf drei der Fragen! . (15)

1. Bestimmen Sie die zwei Begriffe ,modern’ (Adjektiv) und ,die Moderne’!

il Welche Gedanken vermitteln die Epoche ,,Realismus*? Nennen Sie einige

wichtige Vertreter diser Epoche!
iti. Wie stellen die Aufklidrer die Welt der Literatur dar?
iv. Wie war das Schonheitsideal der deutschen Klassik?
V. Erkldren Sie den Begriff ,,Romantik* und diskutieren Sie ihre Merkmale!

b) Erkennen Sie die Epochen! . (5)
1. Sehnsucht nach Ferne
ii. 1789 bis heute
iii. zwei Stidte: Weimar und Jena
iv. die aufgehende Sonne
V. erste revolutionire Jugendbewegung
[3401]-309 2
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T.Y. B.A. EXAMINATION, 2009
GERMAN
Special Paper IV
(Communication Skills)
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(This part of paper carries 40 Marks and the rest 40 Marks are for
the oral examination)

Fragel. 07

Die Buchhandlung “Popular Book Store” Deccan Gymkhana, Pune bestellt von Langenscheidt
Verlag, Delhi einige Worterbiicher

Bitte entwerfen Sie einen Bestellungsbrief von der Buchhandlung!

Oder

Die Deutsche Abteilung (Pune Universitﬁi) hat einen CD Spieler von “Sony World” Aundh,
Pune gekauft. Nach der Ankuntft stellte man fest, dass der Spieler nicht richtig funktioniert und,

dass einige Teile des Gertits fehlen.

Entwerfen Sie einen Beschwerdebrief von der Deutschen Abteilung an ‘Sony World’
Aundh, Pune!

Frage 2. Rezensieren Sie einen der indischen Filme, der neulich die Oskar Nominierung
erhalten hat. 07

Frage 3. Beantworten Sie vier der folgenden Fragen! 20

P

Welchen Symbolwert hat das Herz in der #gyptischen Mythologie?

2. In wiefern schildert Gtinter Kunert durch das Gedicht * Uber einige Davongekommene’ die
damaligen soziopolitischen Umstiinde?

3. Erkléiren Sie das Wort Horizonterweiterung im Rahmen des Textes von Walter Eder ** Zu
Hause in der Fremde”!

4. Was geschieht bei einem Herzinfarkt?

Erkltren Sie den Titel * Kannitverstan”! Wie gelangt der deutsche Handwerksbursche durch

das Wort “Kannitverstan” zur Wahrheit des Lebens?

v

P.T.O.



6. Wie finden Sie den Vorschlag des Autors von ‘Alte Minner an die Front’ alte Ménner
wehrpflichtig zu machen? ‘ ,

7. Was ist nach Borchert die einzige Losung in dem Gedicht *“ Dann gibt es nur eins”?

8. Warum nennt Peter Marquard die Relativititstheorie eine sterbende J ahrhunderts- illusion?

Frage 5. Ergiinzen Sie die Nomen sinngem#f!  (nur 3) 03

Zwar treibt heute ein Teil der Bevolkerung ausreichend Sport, aber doch muss man diese
kérperliche ____in Relation zu der harten korperlichen Arbeit sehen, die frithere
Generationen leisteten. Heute verbringen die Menschen vor allem in den einen
Gropteil ihrer Zeit im Sitzen. konnen und sollen hier nicht gegeben werden.
Aber jeder Einzelne ist in der Lage, eine ganze Menge zur zu tun. Wer alle
Zuvor genannten beherzigt, und dariiber hinaus auch noch Cholesterinspiegel und
Blutzuckerwerte regelmassig iiberpriifen und gegebenenfalls Stérungen medikamentds
behandeln lisst, hat gute Chancen, das Infarktrisiko zu verringern.

Frage 4. A) Ergiinzen Sie die Verben sinngemiB! (nur 3) 03

Im Vergleich zu seinem auf der Erde verbliebenen Zwillingsbruder ist ein weitgereister
Raumfahrer bei seiner Riickkehr immer etwas jiinger, da flir ihn die Zeit langsamer

. In Raumfahrzeugen unserer Epoche diese Zeitdehnung bestenfalls
einen Bruchteil von Sekunden. Sie kénnte aber bei interstellaren Missionen zukiinftiger
Generationen viele Jahre , wenn die Reisegeschwindigkeit relativistisch, also mit
jener des Lichts vergleichbar wird. Solche Geschwindigkeiten wir heute nur
mit atomaren und subatomaren Teilchen erreichen. Dort sind die Konsequenzen der speziellen
Relativititstheorie am deutlichsten zu ‘
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ﬂ (Arabic Script)
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(Devanagari Script)

¥feat ai wfg f fen fowa 7 wom fomen - [20]
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r
‘ﬁwmwfmﬁaﬁz@ﬁwr{ﬁmﬁsﬁn

‘ TSR o1 TR RIS YA S fhdre STl SR ek gl el 8TR 7 [20]
- a
‘HTE' § v wifes e S =TS 1S 99w R ?

. Rl et Cuet vt S wens! e 1 Ryt St wee TeE SR e

R ? | [20]
m 5

‘o1 T Sl s’ gt & 7Y A aie wiegt W aEiE garta s

IMRUD ?

‘mem’ﬁﬁm«sﬁmﬁwﬁﬁam? [20]

a
‘fmy =11 Hd e ' FIEh T Hi aRie Hiee! T ald A T D ?
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[36013-312
T.Y. B.A. EXAMINATION, 20062
GUJARATI (Generzal)
(2004 PATTERN)
Time : Three Hours Maximum Marks : £
1. DApiidl ASum ed Msliil G Esui el ¢ [20]

(1) ades saar diaddl wiHl w5 & 7

() [m@a wgad 2o ddavdez sidiaqsd R il
(3) B Wil siz udad @ u odl Rl RAdud avil.
(¢) RRww 2l R asls avi.

() aidloedl Heusid @wt sish wd el 7 Al {adwdr wendl.
(5) 3@l wuPIRdz 4 4 wud @ 7 Awdlded asi sl
(@) ‘A’ wd s g ¢w adl d 7

(¢) ABud’ sl 52 wnd idd 2 2ad 8 7

() el w9 ol sRAdL wa qeigt s wd 8 7

(10) Ssaz v 3 Awwidl el !

(42) ‘ogél Az sl wenl J oud oy O 7

(2) “valfid i ue’ Hi s 3n ainar ol ?

(43) ‘aruzar #i Beolli wiod ai & ?

2. QA ‘o’ [Qewoniidl Mg @A o Rowidl Ag yalu s el
il [20]

@) (3) ‘sl Dourg wuT B, Al el Ul anll s Acirtl wal.”’
() sisdl AR, »umi A0 W, HLowel, WL WL
) (1) 3 wmoruwt Q- <a Fadld, 3 @ w9 wdq +a sl

R) ueolz@A sw s Ul WU AL T sl
PT.O



:f;‘

1A wardirl LU0 ACEIHE wale dvil. ‘W’ [Royonid] Bls 9 ‘o’ Qo]

W Ay ‘ [20]

\

) (3) sliRotuzeid asld @il

(2) ssa domza [N Aud 2ulel wRA «vil,
() (1) ‘T’ sl sl uslds 2udm).

() 2uotmi Nell »ed dlodl’ st el AsH] wuodl

At wasinag w@ad2 Gu w’ [Qeyaidl Mg A ‘o Qowsidl s

Quil : [30]

() (1) “olloneusSa agldar Fael-aotfsl sidau-a side >0l dai
®7 zal-l WA 2w Q.

() “olioneus wan qel-iMi QAN s duls sl Ral

HOL 9.7 Beiswl L yHAal.

o) (1) “OBsiedl Mina gsadl cudidl Youddl Sl 977 Belsnl ]

Ay,

() GlBsiuld w3y 2 WRlUs qaol Aleleza 2.
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| [3601]-313
T.Y. B.A. EXAMINATION, 2009
URDU
General Paper 111
(2004 PATTERN)
Time : Three Hours ‘Maximum Marks : 80
N.B. —Attempt All questions.
[ Z%J}&{EL&J'J)ﬁ'{ﬁéy’ﬁé(j)(j]c’utdz} -1

| & /el S )

te el lrdU kel (D
_é{;}uuid,t r)
YQ;JL{,JL&“dew”LuGily/ )
s LS (0
e L sy (1)
?c;_/b/t{dstg/u/ﬁf (2)

et Ll AL e (M)
 tesl,Ve dtdr (D

Ce b AU st iy Kot (1)

o SEUTE Fobr S LRl e ()
A Ly L (1)
;:J(téuuu/féfjcuw (1)

-P.T.O.



o1 Epswiee iz n L e S5

RTINS ]

LA S L S

_EE b e S

-2_15&%/4 ehil S S8 L6 S S

(1
(r)
(r)
(")

[F] o e (i da fin LS r

S0P Sl 6B L S Dl s

_EE AT S e s

_E Che udts Ce O YUYl RITINY
& 5‘5—9 J/'uf Jab sl als

("
)
(r)
()

[f“]' Iéd«)ﬂ/?:)é]cuﬁd:’an -

B Iy A r il SISy
T RSNV N AL PO ]

LBl IlalKels §ol S db

LG Bl st L Sy S Ust

(1
(r)
")
()
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| [3601]-314
T.Y. B.A. EXAMINATION, 2009
URDU
Special Paper II1
(2004 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B.:—(i)  All questions are compulsory.
(i1) Figures to the left indicate full marks.

(] ESY A Ny U SR
e Qe St e et JUF (D
sy dn P gaE v e (1)
te Qb dy e St UIF Sy ()
Syt U I T s a0 ()
?(‘_L{r,ﬂ,gwﬂﬁ,m/@a‘_ﬁ (o)
LT Ut Uty €4y (D)
cdwolfet S E (0
ALl e (A
e & 51 sl s ()
_e bt CaP L Gk e (1)
e ol Se 6 G ()
e FU P BB LE QY ()
S I Ul e o (1)

P.T.O.



(1] o e A (DD
CF Y )
LEEL ()
| & B ()

13 E fn b T AU (D)

_io/’;{d/.’..fzﬁ_:/ (N
_ZE Chogr Ut tet gt i s e ()
e WL SrES S (M)

e E oSt ds -
E O LB AEEEL Ly ()
-g{fuqﬁldngu;/f;ufﬁﬁ (r)
_E Sete o Sy QUL E ()
S ALy S8 Sde ()

il o LT S

LB eI S L ES A aE s (1)
LS e el A2 G (D)
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Total No. of Questions—4] [Total No. of Printed Pages—3

[3601]-315
T.Y. B.A. EXAMINATION, 2009
URDU
Special Paper IV
(2004 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. —() All questions are compulsory.
(i) Figures to the left indicate full marks.
1] Ao S8 0 e s (D
Jrg

st - ()
Ay (M)
ce! ()
af:'.:f‘ Q)]
Alexe (2)

S (A)
(1] & ekimzd Pty ()
Uspeizibe fs (1)
T UEL Ut

P.T.O.



e Sfukn ey (0
4.&»6‘&%%;}(:?

b Al NS ferd (P
cﬁxd/:}’uﬁ'fdiéfa«ﬂ/@lﬁvg’;

LGl ()
YAV IR

[1*] R A S TR
e ()
sES 0
s EE ()

[F*] ‘:é;%l(wﬂgégugfr@wi} -r
-2LUL°5%J{¢@JM:U§)J£/TM (1
SE AL QU (F)
ol (e B iz o ()
-i!}f,/guuuzﬁuwr:’”’}ju}g) (")
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[14]

['e]

éd}‘”d;f/(_ﬂy’vg‘f(cji} () _r

Sk2,EF 2 (D)

NS A

cBIE S ()
:éuﬂ{,uiﬁ.ggffc,utd)’ (<)

enfdAoapessl (1)

S F G S (1)

mf’;;;f)Juig/{?c‘:. t/u": (r)
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Total No. of Questions—4+4] [Total No. of Printed Pages—8

[3601]-316
T.Y. B.A. EXAMINATION, 2009
& v (G-3)
(i, wewmea, smEor war dam)
(2004 PATTERN)
W di que quife : 80
T@AD =— (i) 9% fray : g =i, Aels T
@)  Yfism . :HTT@‘H

T — () vt v e ¥
@) et iR fa@ sk well & qols ¥

1. (3) ﬁw%@aﬁﬁwﬁmﬁmmﬁﬁ@ﬁm’fw:%%ﬁwha@w
fafae . ‘ ' [6]
(1)  Advocate | |
(2) Commissioner
(3) Operator
(4) . Por-vice-Chancellor
(5) Records Keeper
(6) Surveyor
(7)  Trustee

(8)  Workshop Manager.

P.T.O.



(3n) Frafafea st wfafad 4 4 <l ar & 7of & g fafew : (8]
(1) C.ID. '
(20 D.CC.
(3) MLA.
4 MID.C.
(5) R.B.L
6 UK

(m  UN.O. |
(3) frafafed 4 @ fodl T S @1 weafaq wifsT [6]

1 ‘%9 A s g
(2) ‘wffe wA gl &t gR & St

2, frafafaa saawel & @ &= & = a9 =ren sifsg [10]
(1) “=ii R "= ¥ TRl |
T TR Y FE-SQ |
gy Uat W SE@ Wd g
IM W & YW fFm @@
3G gR A e 9l gl
(2 Y=l w1 FR-voewE-Het
Rl § R IR WM
Y Al g @ &N ?
Tt § e A ¥ oW

[3601]-316 | 2



3)

(4)

3. (3.
(am)

4. (3D

[3601]-316

YRR A wEl & Ay
u-gq E-g9-g9 B AN
u-wq g foen-gfs-foas
fer @@ ¥ Hw @ WEOR
I e S W@ W s
“Teu quEt Wi, T TR w9
Rk LIRS GG I
i e e dReaR-—

frafafed st § @ fodl ff & s fafag . [10]

(1) &@® 7 FA=w & Wea fhe wE wfawfa fean & 2

(2) ®HY w gWifSs Stad # F IuAfiEr 2

(8) ‘w-vere' fey w1 e fafew)

frefafen weii & & sl & & sw fafag - [10]

1) ‘e’ & R W wWe s

(2) T w1 H[gYH FHI

() dw & fEw & 9] aifd w wARen w1 ufEm dfs

frafafea we=i 4 @ fodt ww =1 W fafag [10]

(1) fussht 7 ‘' @t wfem ® HY foeg feam ¥ 2

2) feiu wen ®t g § ‘<o’ frey @t wHian w3
3 | P.T.O.



(am) frfafen sl & @ frdt o =1 s fofeg [10]

(%)

©)

[3601]-316

D yfrsr’ # S wE-ds W owwm e

2) ‘yfrsn’ F o w oofem ek Ad-vie w5 sme ¥
R0 W HifSy |

frafafed # 4 fodt @ ™ * wew Sar wifRT [5]

(1) 9@ oM@, SR §f9d, © HAeE, 9Rd WER gt od
H SARAE B T B R B fau T oo e
W WRW H T dAR

(2) owI® frobH ® ARG WHR & @RS WeE § ek ghag
%vamﬁgﬁﬂaﬁwéﬁgq‘am’wmmﬁm:

frafafes 4 4 fodll w@ ™ wamhR & T $aR Fif (5]

1) Aot s souEEs TR ¥ YRERYw QEN-Sae § ey
ﬁmaﬁwsﬁﬁﬁaﬁa—wmwmm

TR wifST)

2) W@ﬁéﬂ&fwﬁmﬁwmmﬁmﬁa—w
FIEHR &1 T FR wifea



[3601]-316
(watsrpee &)
(Functional Hindi)
W ;i wue quile : 80
o — (i) |t v afe §)
i) et oM fea siw ywdl & yobws €

1. (9 frafafea st afwfe o= & @ ol o1 o=l & i wals

fafaq | [10]
(1) Absorb
(2)  Analysis

(3) Bonafide
(4) Chamber
(6) Claimant
(6) Enclosure
(7)  Escort
(8)  Financial
(9)  Gratuity
(10) Interim
(11) Judicial

(12) Locality.

[3601]-316 5 P.T.O.



(am)
2. (31)

(am)
3S. (31)

[3601]-316

S st e 1 @ fpeel uie i & i vt fafae : [10]
o)) Cqmmunal award

(2) Disciplinary action

(3) Matter of fact statement

(4) Please give top priority to the case

(5) The proposal is self expianatory

(6) Situation is under control

(7  Alike proposals are

(8) For necessary verification. -

frfafed favdl § 4 frdt e fom W oqee g fae s T
TR i 5]
(1) f&dt = famre

(@) TEEH W asgel w1 T gEHA w feaRr |
ﬁmﬁf@ﬂﬁuﬁiﬁﬁ%@@ﬁmmw_w%’g‘w'w
HifSg, ' [5)

(1) o s9d W A A

(2) TR § | g HRed |

frefofen @ fEd @ W ® WEY (TE) TR Wi [14]

1) mﬁa,mmm,mmmmww%
mmmﬁ‘wﬁwaﬁaﬂm’mmﬁm@ﬁ
& fovg § o 3w R

6



(3m)

[3601]-316

(2) wfum, faq woe@, s 9t wdwiiEl = wriem # fuiia
99 H M @ # eEied Ry SN e ¥

3) Wfud, @R waeE, WRd W&R, 9RuA gr et wged S
? welid @ el R wER w1 oW 7w B wed A
gfaa @ ¥

frfafea sg=adi A 4 foet wa o7 &1 & A s i ; (6]

What is the secular state which India claims to be ? It postulates

that political institutions must be based on the economic and

social interests of the entire community, without reference to
religion, race or sect : that all must enjoy equal rights but
no privileges, prescriptive rights or special claims should be
allowed for any group on the basis of religion. Secondly, it
eliminates from the body politic all ideas of division between
individuals and groups on the basis of their faith or racial
origin.

Rgar

WA HH{-RAE TS ST S0 S HLAl. IO A WEY HY S 2

WHW U G gl werErEn eonfde 9 wmife fediaw snuiRa

S 3 Tl WA w9 S e u) 29 . wat gue

AR e g9d. 90 wiva TH aier yHie U HuoE!

s & w1 AW Toarite o fRa S snuRieR R fear St

faursreEed w6 fouR aN@ 9O Wi

7 P.T.O.



4. frfafes 4 @ fF= & vl & S @ dse dfwdl § fafew ;o (30
(1) ‘gee’ dEE @ fadwand saE
(2) ‘IR W WS R WRE ARy
(3) ‘'HuRA wan' %1 wWeu favm wif
(4 ‘'"OER wEd W SRl
(5) ”31‘:131':' Th el 2" T R e Hife |
6) ‘“‘fammam snyfter I @t sTavEw@ 1 @ faum @ fad=m wife
(1) o sERE B T # wh Hfwg)
® ‘i wiww' & e d W SEeR) i)
9 fmm & R | yew sifaw
(10) BRI 99 & Heaqul wewhl w1 U=y dfwu

[3601]-316 | 8



Total No. of Questfons——tl] [Total No. of Printed Pages—2
| [3601]-317
T.Y. B.A. EXAMINATION, 2009
| f&f fawte-3
& ol = sfem
(enfemre R gfd wA qH)
(2004 PATTERN)
g i wee quife : 80
g — () @t w1 sted €
(i) <feh R fo@ @i ol & yuis ¥

1. frafed 4 9 fodl o@ oo & S @R A @ gl § fERge : (20
(1) wfa weaeE gu WEd qEmwe w1 AW fefEn
2y fammefa 3 fF9 & gl # wee-gsm fea &7
(3) orfcwrelM &= 4 WU IFER € WHE W O# Sooig w i |
@) ‘uemem’ B # few A (wmn) # fwen omn &2
(5) iR A weeW ® owTE w e aw fefem)
(6) W WM™ el & fovmasl &1 sem Fifsw)
(7) ‘fosdl woEs' § ®E WH QR S|Yd wifaT |
(8) Ufugew wreaem & & &fodi & W fafew
9) YR &= & & fovmad fafe
(10) yfgat w1 frg foemem wosmaf@ & 2
(11) wofivery WRH & frdl & St & m fafaw
(12) WORRR J1 & o "ehadri & M fafeu)
(13) ‘frayem’ & w@iaa 1 A fafen)

P.T.O.



2. frafafes # § < @ fawll w feufel fafaw - [10]
1) Tl |
(2) R gEl|
(3) WRfERl Wifecashr g |

(4) TR SHTIYN |

8. frafafem d @ fadl aw il & Sw fafen : ., [20]
(1) Bfcha & THRT H TR W YHR ST |
2 ‘qRN 9@ W % wER §-ugu # ows wifew
(3 onfcwri UeHifaew gseqfH w1 qR=m €S
(4) TEER e & fEE @ v wm Yeifed st
(5) YERRR iew faw W G989 # yww Sifau
6) ‘TR y=iiel ufyew’ & ArRE H W @i

4. frfafes 4 @ fo @9 oo & S fawmr @ fafeg [30]
(1) Syl ey &1 dfda 9i=a Qd gu 39H U & e W
HifsT |

2) Jfserlt afe * 7@yl ww S

3) T sy faw o1 fawm W= #@ gL SHH YHeEcst & dfRH
R YRRl AT

(4) feadgta s & fovmad fafew)
(5) TYANER! wEEHW % Wgtadl l@ifed it

[3601]-317 2
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[3601]-318

T.Y. B.A. EXAMINATION, 2009
& fagie4
CILHEEI
@reaTET e i sfee war fee)
(2004 PATTERN)
g ;oA ou quifes : 80
o :—() Wt W sted €
(i7) efet 3R for@ &% wwdl & qoie %I
1. frafafen d @ fe<l @@ ol & SW waw ¥ fafew [20]
(1) o & e fea-fer @ W g § 2
) f&& & fog oiel ) TS w1 W Ww gl ¢ 7
(3) &S WM & & W@ Weasr fafeu)
(4) oraet et & waleEl AW fafeu
(5) eRet fog et w1 YR TW T2
6) w-fawm & s@l § waifus wed g wea 2
(7) onyfies B # A vKER YUR g ? »
(8) wWEifeRM & Yg@ 3 «aEq|
(9) TREF w1 WEH HH T 7
(10) =X fod @sd § ?
(11) #e1 & 9% SR
(12) @ fawem & SMER §aEe|
(13) ¥, s el & Nufadd & feemd SRy

2. frafafes # @ fodl @ W femfrt fafew - [10]
(1) v =FEer g sIfsla a% R
(2) <l & & fmu w1 sro)
(3) Tt 1 S=ANW UhRA | . AEH |
(4) TEYad & TERI

P.T.O.



8. fmfafes 4 ¥ f&sdl W) v & W fafeu . [20]
(1) TS9er iR Useyrer # STav §4Ru |
(2) WARAE! A&t w1 GHY A ufmm i)
(3) TR USHS ¥, YU &1 UHS FIR # dreq fafew
(4) =afrEl &1 =g [A gL OFTE 9 B Hed  SdEU|
(5) oIfad SR THSEIE & G hl TR WIfeU |
6) sdufedt & @ wrRw fafaw)

4. fTrafafes 4 @ fo<i @9 v & sw fafew . [30]
(1) "I 9™ & ® # &} &1 GeE "awy
(2 s % wgE @d e aeE €
(3) ‘‘wioifomm =R w1 ot B ®-fag wifsug
(4) 9@ H GRY™I qq FC G % afterd do sy
(5) "9t &% wed wew''-3zq fowy w ey fafew

[3601]-318 2
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Total No. of Questions—4] [Total No. of Printed Pages—4+1

[3601]-319
T.Y. B.A. EXAMINATION, 2009
PERSIAN
General Paper 111
(2004 PATTERN)
Time : Three Hours Maximum Marks : 80

Text Books :—('¥"3 Js @JG’»/({Z’ ‘(¥ Js ,.23)7;1/"‘3/(2/
N.B. :—(1) All questions are compulsory.
(2) Figures to the right indicate full marks.
1. Give answers of any ten of the following : [20]
(1) Who is the first prose writer in Persian literature ?
(2) Mention the influence of Nizami Uroozi’s prose writing on his
contemporaries.
(3) Write any two eminent Persons’ dialogue regarding for 5;/ J i3
(4) Discuss the merits of Chahar Maquala.
(56) Write the characteristics of Ornate style of writing.
(6) Define essay writing.
(7) Whatdo yoﬁ mean by 54 ?
(8) What is the meaning of ‘Rahbar-e-Nizadeh-e-Nau.
(90 Mention the literary movements in Modern Persian literature.
(10) Who is the father of Kazim Zadeh ?
(11) How many chapters are there in ‘Rahbar-e-Nizadeh Nau’ ?
(12) The modern Persian literature started from which century ?
(13) Write the title of the third chapter of Chahar Maquala.

P.T.O.



2. Reproduce in your own Persian any two of the following : [10]
Jle('?ugé‘?@)ubi»f’:/.:é (1)
ul}’/'f)»‘;u(b@qﬁ (r)
ﬂ: L}Uv u(}fc/.. & (r)

Sl S es b py s (1)

3. (A) Write a short note on any one of the following [10]
(1) Account for the popularity of Kazim Zadeh as a
prose writer.
(2)  What is Rahbar-e-Nizadeh-e-Nau ? Give its salient
features.
(B) Write a short note on any one of the following : [10]
(1) What is the main thems of Chahar Maquala ?
(2) Style of Nizami Uroozi.

4.  Explain in Persian or translate into English, Urdu or Marathi any
three from A and B : [15+15]
(A)

3N 0 Sas B IC g mlubs =B ()
|4 U?’U!;G'qfrﬁ’ﬂd)/j:u I J:?’_-;,,Lv, ,@c“/’ﬁa}l’c&kg

2 [3601]-319



f’éﬁéwrw qgtﬁ,wfuﬁj'g/v;}uﬁu“"w-»?
S il 215 DITE S s B AF S uib vz
1R Eled g0 g

ol U Tol $le 72 ol P 2 Frss PP 5
JE 5005 ity w3 ol 1 s d}/QJ(/;(L:A 972l
by wplF bl u"’/'/iuj/u{s!“)ugu/wb% Sslsfp
T L o™ s i# s Sak alP o pn 1 2
_.:/lecf‘”"’",dﬂ

FT b U S ol Uiy U Ui 0 86 Pt st
F o St s il et $odslz 2 s I aTER G50
Mt};};g.)gﬁugu..smuf,w,j?fﬂwu,&dn
19l a1, VLJlfoAf‘/'/: ool UT;/;{'T: ':«J/
ijfw’éi 6 iye sl YIS et Uas I 2
P2 e s S5 T s S st S
cart Sals S0 s s S 35§15

P.T.O. 3
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Sl R DI U RTINS TH FERN
o Pt e 213y oZ S, P0bs s P 6T pie
T2 812 s ot s G5 2142 BB Btos iy
ks (Fodbs el bl T el e (Lo g
L‘a}';uvrdul/:‘;élﬁ"ﬁd/gd’}fﬁ?‘”ﬁbtu’g)L}U’pr
SICR RIS g b g YD Y

(B)
ul’/t,;bf(’.rwmg)/, u:@;dr.:)jwb 2z by
K375 4l L5 PRI DY) &L/,g//f(.uy‘fjl,g u.‘gil."fﬂl
Mﬂuu.wiur/'fé,ﬁgu'u:jr_,;g}i:;fu:’w&?ut
K b1 UL €S Bty et 5, Jt ol
[L{‘fJ) et 0 (2, :.«/fcj&u;lgn g u""""{; ol
~(loks
& s P AL N2 SRS S 1 L s
g{)lcf'»:air: )/ub:/,{l L Sas ;;o'/)/}f/'; CL« K4 :ﬁ*ﬁﬁuzk@
:uﬂj)é(u&,: ung"U J/fg.&zﬂl}u;/;uﬂ/ﬂ/ugg
..:..:*luufiuut‘g/"qu; A

4

()

(1)

(r)
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s e bs :Q}A}’C;/J:)/. kL eyl U2 (")

sl o{(l.ﬁ,?lf»/)l, f&/ifuw,i}/yﬁ)t{iu,»/u
UWA?V(;@J)/@QUUJ?)L/J&V cj."q.l/ub é/GJ;

i S35 f G BT £ 4L
o Y&y s Ebo,guf‘utg [,z:s,CL"uT;vff: 4T3 u’/ﬁ(ogt
:af‘jd,.»tufﬁwwuuul,g .:/;mf::symf&f
»{’:f’)ffcj"ﬂnb’/'ﬁﬁufrl?U,.Atufftg LU TS
L2 as Kuls vz ;/Abjy/%,tug =247 &

-):{A@JJJ/&'?&@ZJUTJ)G)}L

(")
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[3601]-320
T.Y. B.A. EXAMINATION, 2009
SANSKRIT
General (G-III)
(2004 PATTERN)
Titles :— (i) Pratima Natakam
(ii) Nitisatakam
Time : Three Hours Maximum Marks : 80

1. Write answers in 20 words each (any ten of the following) : [20]
TEotH FHORAE ;0 WA gAR 20 T SwW fem
() How did oW describe @l ?

[ Hid" 9o w9 he 7
(2) © What things were brought for coronation of TH ?
[l AEREES! H A S et ?
(3) What is it ?
T WS wE ?
(4) What is WRaded ?
WA WU & ?
(5) How did Jd%fe® describe king 31 ?
R I TR T F RS R 2

P.T.O.



(6) How did W@ describe SR ?
T VerE W W B R 2

(7)  Whose idols were established in wimmg ?‘
WRHRER oo Yl e S den 2

(8) What are the views of HgeR regarding wealth ?
Yged™ e W fER e ?

(9)  Why does the poet say ‘amywvi sywopy' ?
‘SrEY qEoR! SR ®et w1 WU 2

(10) What are the inborn qualities of ‘Good People’ ?
AR AFH= AR yHfafegy T o 2

(11) What are the three ways of destruction of wealth ?
e f A W T a2

(12) ~What is the nature of dog according to el ?
WEl= T A @WE w9 SEd ?

(13) How does the poet describe Juify ?
Tk ool w9 @3 e 2

(14) Which suggestion was given to a king by wgsft ?

el TS B gE R e 2

[36011-320 | 2



2. [Translate any two passages from Section ‘A’ and ‘B’ each. (20]
‘' ot ‘e’ fawrmdie TS @R 9= Wi .
(A) (31) (1) =&

[3601]-320

& 3

Sag Wit Aveafearier Yo fammati—
JeRTfaehdl eI itarmoran snfsse dohed STl |
FAST P aehen: | Frdcdd @eq fee
YIS |

w3, A ml FIatda; |

Teid vl (dm Fe femm:)
(T TR e 1)

Y |

frime  yworear,. gy wem A

e sgH R weafd wed

Afufe  ardamay

TS |

T EQ GG YUH: e |

modreg i)

e fafoagamy fafme: wfiaen |
fhepa: wiaddisgd  Fremylerso i
ToEEdd: RO g veawm) faeg

QTWEHA RIS Yo 9feqny | ey
TANg—: |

T & gEAvE: |l Y AEEYE: |
B&Ahd: |
(Wed®) seama 31 wH AsAreanER: |

3 P.T.O.



(3) H: — SToufaeied| ofa fasam wfafadai |aR:|
W — o swER ity
AWME=: R U wWrEata afggeEn
aw Wifd ety TowRE g

W:‘—Wnﬁwﬁﬁm|

T — W WENSEd YRedd BAR: |
gas:  — Ak Sfterfa deq wafasa

M: — o hedME: e WERG I9:)
L IGH —  FWEEER: | (IEREd:)

(B) () (1) =S TEHmETGIE WY TG
I wemfti frieggay wEfd
wyd ayfagm iy aREgaRiEd
a4 ufa Tgfeeft ser g guateiac

2) smiifSHaAfaemferEhe
o s fod s faumn
7 @@ gusoNsfad wfegw
Ygresifduedndt wwd: |

3) wfor Toiede: wRlaER i
meefton AT IR ARgRAFgfe |
FERNAS: FEgica SreafT
qfrer Fiv Tfeafasarsantdy ;0

[3601]-320 4



Explain with reference to the context any one from Section ‘A’ and

‘B’ each. ‘ [8]
‘a’m‘a’ﬂmmmwﬁmﬁmm.
Q@ (N Q) wwrEml yim e
@) a@ed e fer: R T T
B) @) @) 7@ T wd
(2) wfe 9@ eafy A

(A) Summarise critically the contents of Act 1st of WHTEW{ [16]

VAR e siETle e Tdammars STrerel .
Or
(fwam)

Write descriptive notes on any two of the following.
TotR St R wheR A f,
(1) The character of ¥F¢ in Wi s,

i ewre dRdst afwEn
(2) Act .II of Fferr .

Ul Aewn gEA i
3 Qﬁqﬂmzl

[3601]-320 5 P.T.O.



(B) Write critical notes on any two of the following : [16]
WA S Qe e Aw fow
(1) Fdugyfa:|
(2) iggufa:
(8) Taugwfa:
(4) gETRHf:|

[3601]-320 | 6



Total No. of Questions—5] [Total No. of Printed Pages——4
13601]1-321

T.Y. B.A. EXAMINATION, 2909
SANSKRIT (S-1IT)
(2004 PATTERN)
Titles — (i)  OYIgaPigel (dw1, 9f4, &1H).
(ii)  History of Vedic Literature.
(iit) Sanskrit Composition.

Time : Three Hours Maximum Marks : 89

1. Answer any ten questions in about twenty words each from the
following : [20]
JASUR! RV EW WAl PR %! @ Tid Sw few
(1) How many Mandalas are there in the Rgveda ? How many Kandas

of the Atharvaveda ?
g et Hed smed ? wwEaHl wie fedt ?
(2) Write any four varieties of ‘WFTH’.
YT HIE AR YRR G
(3) Which is the first literature of the world ? Write any four names
of its branches.
fea.
(4) Write any six Y®IERs which are mentioned in Panini’s

rules.

wftFen gEa Seefase sivds! WEl TR foe.
PT1.0.



(5)

(6)

(7

®

9

(10)

(11

(12)

(13)

(3601]-321

Define the term ‘Pragrhya’ quoting the rule of Panini.

o G SevE e W' dw W wma

Write any two Mahavakyds of Upanisads.

bl S S e fom

Write the name of the Samhita and Brahmana of the Shukla

Yajurveda.

PEeasEeren wWiedd o semas T fom,

What is ‘It’ ? Explain with illustration.

T WU WE ? W SRR W e

How many ‘Abhy&ntaraprayatna’ are there 7 Néme any four
of them.

SRS Tl ? Tiw woRg W g,

Name the places of articulation in the mouth.

o e @ fo

What is the rule of Panini explaining Kartrkaraka ? Which is
the case allotted to that ?

FYRIE AT R g BR ? IS W il fase wiftedt
IR ?

What is Aralgyaka ? Write any two names of them.

HARTIE RIS WY ? HEE @ SRvEd g

How many types of ‘Adhara’ are there 7 Name them.

‘R’ fEd gEREn ? @t T e



2. (A) Explain any three rules of the following :

wolst aodd v 93 we w1 .

(M
(2)
(3)
(4)
(5)

(B} Dissolve the Sandhi stating relevant rules {any three) :

arnfad |9
Yiae @y |
T SE] T

Hdl WERR

A ¥ Fom W Thete! WRd 9 AR Qe

(i)
(2)
(3)
(4)
(5)
(6)

Sei
Tersorearn
wfeug,
Y WA
ECIEE

3. Write notes on any two of the following in 160 words each : (20
EetE FudE €M wlw 150 IrEmed fru fewy
(1) The contents of the Rgveda.
I oS favE.
(2) ¥YE] and its branches.

ayde sufor wrem T

(8) The characteristics of the Bré.hmax}a texts.

13601)-321

P.T.O,



4.  FExplain the nature and the contents of the Vedangas. [12]
i wEw @ fwE wR AW
Or
(fam)
Discuss in brief Vedic Literature.

dfew aremaral QIS EEl w4l

%.  Write a short essay in Sanskrit on any one of the following : [10]

TEOYHR HUER TR TEane uiya fey fem
(1) wopfa: dgatEE | |

186011-321 4



Total No. of Questions—4] [Total No. of Printed Pages—4

[3601]-322
T.Y. B.A. EXAMINATION, 2009
SANSKRIT (S-IV)
(2004 PATTERN)
Title :— () Atmanatmaviveka
ST
(ii) Tarksamgraha.
TG
Time : Three Hours Maximum Marks : 80

1. Answer any ten of the following questions (in 20 words each) : [20]
TEStH HIUEE e WA W YaH! | I=[ e
(i) What is meant by divine misery ?
sifRfaw 3@ w™ W@ ?
(ii) Write the derivations of the words TR and <%.
TR anfor Q7 A1 T o femn
(iii) Name the five vital breaths, their location and function.
JagoiE @, TR ot wd fem
(iv) How is the fauTHaRRT explained ?
foarma wRTe faaem w8 de AR ?

(v) What is the meaning of IH ?

M BN w7
P.T.O.



(vi) What is meant by Frefrafaa® ?
Frenfra wgfes =™ w2

(vii) Describe the nature of ignorance.

(viii) Mention the types of ¥
AYER YHR G

(ix) Define 39 (water).
Fq < saren q.

(x) Name the types of aad F¥a.
g SFVER WHR Ui

(%) What is meant by GUAfIHERT ?
HATGFERT RS B ?

(xii) Name the three types of Linga.
foma @ wer fe.

(xiii) Define 9%, ¥94 and faus.
wy, ey onfo fauy wos @@ ?

(xiv) Define and illustrate Suftfemm.
vaufifa’ QETE SATEN WA S WL

(3601}-322 . 2




Explain with reference to the context any one from Section ‘A’ and
one from Section ‘B’ [in 50 words] [10]
favr ‘o' anfn ‘a1’ favriE TR@ R SeviEE WEEW w0 (TR@!
50 FIsW)

Secticn ‘A’

(feroamr ‘o)
(@) w B vadifa =Aq wniew: |
() Ml W TAefsiEmgEReRfa |

Sectibn ‘B

(v ‘=)
(i) wdEERRgEH Hqfe: |
(i) Tiaewiac am@: |

Write a critical paragraph on any one from Section A and one from -
Section B (in 150 words each) :

fawr ‘o’ suftn ‘a0’ fawrmg v e faaae ik fom (wA@E 150
<)

Section ‘A’

| (fawm ‘)
(i) Subtle body [10]
g8 IR
(@) g

[3601]-322 3 - P.T.O.



@)
(ii)

4. (A

(B)

[3601]-322

Section ‘B’
(v ‘=)
;|
ST, |

Explain fully the nature of 3.
AR WEY Qg TR HT.
Or
(Feam)

Explain fully the nature of 3 (ignorance).

AN Fehed | TR &
Explain fully the concept of Jqffa=.
e L )
Or
(e

Explain fully sixfold @f-7d for direct perception.

TAGTHAEE Sefay gf=wd TR &

[10]

[15]

[15]



Total No. of Questions—4+4] [Total No. of Printed Pages—8

[3601]-323
T.Y. B.A. EXAMINATION, 2009
ARDHAMAGADHI (PRAKRIT)
General Paper III
(NEW COURSE)
Time : Three Hours Maximum Marks : 60
Texts — (i) SiwunqauisEgaq (9 18 and 19)
(i) TR (RO of M)

1. Translate any one from Group ‘A’ and two from Group ‘B’ into English

or Marathi : 120]
W‘A’nﬁﬂawmm%a?’nﬁ@aﬁwaﬁ%émﬁaﬁmw@a
IR HA

(A) (1) TER TooE gOUER FA0ISE FaUSEIRAT |
s fager eas fRag dg osg fawo® w9 dq |

SURTEVIHEIE oA S STEEE |
2 TR fa I8 TwEs wE hensd WagE R |
gfomm weEy guier ey fa A qevsEEEE |
TFFAE Oy oS U deUEg 3 ORS |
3R fa X 3 ormuuen 7 ¥ fase fafew @ |
P.T.O.



(B)

[3601]-323

(1)

(2)

(3)

dfead WU R U qsdimu |
WWW&W‘?WWQ@WI
W@giﬁ%ﬁsg@‘m‘aﬁmm’n@mgﬁl
ﬁmﬁgmm’éﬁ@ﬁmﬁmm|
Ay valgs wooond wfowr geE wogewoE |

A Wl W o SR 8 e |

THads faged @ w8 o=y Py )

w0 gfouwien fead o g fu <l

W = w5 fa eere W SNw emm )

THAAS SIS 7wy WowwEsl |
VAT Had e fag wdy )

T g3 BN gfE wmeu g

&S T W U9 T, Geweh vE

i fod v W fem dfwmm w@n |
FATGTN TR @Y g 1
FAMCIASIUY TS0 goSmIvERGRS |

T W TEg wghRe famm g
meﬁfﬁfﬁﬁﬁwalmmrmmﬁwﬁw
A | 3@ | T SR e | W wmnRR g
SR T TH FHeSAW a1 fF W waEst 2 suie fim
Wﬂ%ﬁ%@%ﬁﬁaﬁtﬁﬁqﬁaﬁﬁmﬁqwﬂ
Feoeieslifie | T SRR WU gE wfegs g W wfefagi
%ﬁﬁrqum%rgmumuswﬁ@wa:ﬁaﬁﬁqm
ﬁqﬁlsﬁﬁﬁwﬁmﬁmﬂﬁmlmm
A eid gEWEw A |

g



4) T TE wiFuEmiee e | ® guu g@m e g
H FEG TedEdd TS | e 9 faaeyg w39y
FFgel 7 WeslaeEigomyay @ feaml f& 9 o
Y Tgaeyg wed 2 o i s efelt w® g gEedi
T8 | el SHAAY HioWRwWgE el RN | sRu = gdfE
e uurg ke e 1 fysfigsl o oW mn qmEd
T |

2.  Explain with reference to the context any one from ‘A’ and

any one from ‘B’ : . [10]
‘A TG HUEE TEE 9 B OHe R gwe aed  wsiE
3| I

A O = wWEs vy w1 oH fa 9w |
(2) =a wfss Wiz g S Wz W fy oW
B 1 f& ww o g fofsfim fedy |
(2) TSTEEUR Fad e fem wdu

3. (A) Write about the life, literature and style of poet @dyRa: | [20]
Fefl wWYRa Ife, g 9 Sfe e @
Or
(fepam)

Summarise the 19th canto of JISHYESEYT.

SSAEASIgagsn 199 Given wRiw fe.
(B) Write about supernatural element in -&&al |

Johddie  sIymanasH  mfedt @
[3601]-323 3 P.T.O.



Or
(Fewam)
Explain the skills of &S in learning.
JeusTEt faRmiTaa T w3

4. Give notes on any one from ‘A’ and any one from ‘B : [10]
‘A nfle g@reR 9 ‘B’ uiie wereR g few
(A) (1) Character sketch of Ya-sH.
eSS TEvrEfe.
(2) Ketumati-Anjana.
(B) (1) Kumarpaul Pratibodh Granth.
HARTISH e ey
(2) Character sketch of THa!.

[3601]-323 4



[3601]-323
ARDHAMAGADHI (PRAKRIT)
General Paper III
(OLD COURSE)

Time : Three Hours Maximum Marks : 80

Texts :— (i) SUNuaUIsTEgaq (W4 18 and 19)
(i) Voengl (FARUDICEY of WHIHNER)

1. Translate into English or Marathi any one from ‘A’ and any two
from ‘B : [24]
N YA FOAE Q@S S B AYA v e s svea
TAEHE AR &4 ¢
A) QO g faoR e fofes wecdm |
‘sioomy R TRAW wOmEm 1
Sireifee” forgofn o = @ e v wwfen mo

7 frgafa Toweqody awiid ow  giemode |
AR RES fafoor f1 aEEIGSUR |
e s wRefers g =0 wihas wfgEs |

g afetw se@ry s gy g Sowfs |
& »g 1@ W7 fe " forssig ufes fawr™ |
fafmsg o8 suEqg o faig o8y fa =fis fw
4 uv gofs wfsas sfeql forgog oz |
T :—  fufes vgsm] s aftw fit forergs wear |
TREE” ufifsa far Y W 4ywaE 1
[3601]-323 | 5 P.T.0.



(B)

[3601]-323

(2)

(1)

(2)

a1 g fa wefrmafeaan |

gt gesfar fm seon o

TEfed  gREuRA SSitfer w8 4 ooy |
‘" W YW SwEals g @ W 99 wfE MR
W R T W[ ek ug
W SR W wogw oqw dewRt o

€ U0 Y9 U w ¥ A WeRd ey Y |
@ a9gl agd wd wfed @ wlem emfefeg’ |

T difm ‘gl gy e’ Jafe =18 g€ |
& w TEEh @ s 3 Wfmeg wues’ |

:—@wﬁﬁmu%é‘wgamaﬁﬁw@:

Wﬁrﬁmﬁmﬁ%’ﬁa@gw ¥

T T frEsgd WD W
forragedemvfae wir wodd 1)
TTEdereife Gfessid fodgeas |
Ghawmﬁﬁwﬁaﬂ‘g[d@rz‘rﬁqgﬁ?ﬁﬁf N
TS Q wfefafn Sifd mo qe
qal U TUESHES G e ||
=S T wa fa feadie eRidt soemeitasn dfgs
3 T THURY lgﬁagwﬁﬁﬁm—wuaﬁrﬂmtgﬁn
F I FHANAIES T | wed wefearafiee) RS ol ey
U R b U U G oG G G

6




2.

(3601]-323

Q fa fowmd, 5§ @ 7 A9 T | SHAAT IR g
e g faon |
Rl :— o WO wws fasd diu femm wmmed @@
maﬁfa@msaﬁﬁ%gvrﬁaﬁfaaﬁg&@ ¥
) waaﬁﬁwﬁ%@ﬁwﬁﬁ@wﬁrﬂm&ﬁﬁw@
Yl | S TS SeE aeEd fiR o sl siafas
fored offesss | fagime @ giaseETel Soe o
Tagsieafasyaiist Tooz | sl SES RO KA R Ko KD ECA R

ﬁﬁwaw%ﬁmﬂ@ﬁﬁﬁ:m?mm
@ ! e W fioug e ou

Explain with reference to the context any two from ‘A’ and

‘B’ each : [20]
A A B onyg YA Qe wued weEmm sy -

(A)

(B)

1) s s 70 weg i ‘wgHs fRow frfas uwl
2 ‘= sSugeR wmfiE' |
@) SR wafys W@ fifs o gy ves wg frfe
(4) ‘@mﬁgwﬁma@mmﬁml
(1) FEAEmHY R g9 yd T |
(2) SE YU T T wRg W Hookd Sroyend@ wes§lis) s
TIEE |
3) orumim W) fwafer fagy e |
4) < Arufman Sadfd f1 § 9w
7 P.T.O.



3. (A) Evaluate 18th canto of SISTUTYEUSHNY. [12]
JSUMUEUSET e 185 WY TWURY L.
' Or |
(feiam)
How and why did minister try to convince king RS ?
T HESASEl GES[d I d I HeEEl §aS hel ?
(B) Give the character sketch of & or THU!, [12]
Hffeaw w0 — o fear gwE.

4, Give critical notes :

faags 2 =@
(A) wefad and (oTfT) SGAH [6]
| Or
(fepam)
oS,
(B) YERAfg
Or
(fepam
Ay, [6]

[3601]-323 8



3. (A) Evaluate 18th canto of 3ISIUTUSUSEINY, [12]
HSUMUEUSEgedl 185 WY TEURY L.
Or |
(Fram)
How and why did minister try to convince king #es ?
HAM HRSUSTE GHS[ hI 9 i UOEEl WA hal 7
(B) Give the character sketch of & or THedl. [12]
At w1 — o fEwar guE.

4. Give critical notes :

faa=s dw w
(A) wefad and (emfr) agdd@lL [6]
| Or
(fehem)
LEEECE
(B) u=uAfg
Or
(Fram)
THgER. [6]

[3601]-323 8
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[3601]-326
~ T.Y. B.A. EXAMINATION, 2009
PALI
Paper G-III
(Udana, Cariyapitaka)
(NEW COURSE)
Timé : Three Hours | Maximum Marks : 60

1. (A) Translate any two of the following passages into English. [10]
GAGUH HIUER QY TS WIS FT.

(1)

(2)

Y G FEEN FHS g g smwifa— o wem W,
W, gt sreuER feafem AgFeR o™ IURME| %%,
7, ogd, 9 foer wuw aw N fawd s FAwE e’
f1 YR fo & ¥ fierg seR sd@vE TREg | Y
@ O fierg querg st i fea famean emRaRE
v fad fasen weowy

A9 B AfEd TRl e e Frerafien wafke wfafa
TAHH  SRHITHGEIEE § T afafsd Wi Rem W
wrEl auagty; Steghian wed R farwn Pfven swe
TeaE— ']8g A, wR, Wy WG g v=E, 4 T
duw feam geEm'' fal

P.T.O.



(B)

[3601]-326

3)

4)

A B 97 gHAT qFEAI A SEgEeh  SAAAA Bl ST
TR EaUed Fveqrdufeaar | 319 @ ST HRlheqyl a1 T
2earaaity  ufefrafien gevgaud Fafan uEiERE TSATE

. fyver uifafy ¥ eforfafgen suufafeen Iosrfafaen| o=

B WEl FEd Ay Tee fyvem W= A <fesfafaen
wyufafgen JgeriafEn |
A W W gEavEadd giedcer gfgdl 39 AvseHd AquEgH;

,mghwuw%amﬁﬁzﬂﬁlﬁam@mfmmfam

‘g T, e, TRy waE 9f=fE, o T @ ST
faomar’’ fa 2 Y3y, WR, e YNNG fyvsumufedRaH
HUEHI  WiETEAE AqHURdl Seig— 'Hl g @, A,
fad sfa ? @ f& fau fafm 2

Translate any two of the following into English : (10]
WAGIR! BRI WS WNIR HT

(D

(2)

T N AR W Ve W W)
THAA JuTen  Afeseal [ HH
Tt Frll woeg WEH |

e T hedl g freaft A
gon A= wafn wefgwm g

TveH SWal €6 TRAAE |

IR TYE "o ANew fafay sg)
IqEAEAt< g8l Wi

2



(8) TYied Whl AW ol SRV |
srafe | wfefd dioafd wfied
A 5 WRAn KEHAS |
gl T A SRR

(4) Yom ufFEe-afy g@gfu o
FEeEH A7 JHEIH v Ty |
Fhsifaquftearm foodt ogd |
Hiodifaapdl 7 Ysa Iww fag

2. (A) Explain the following with reference to the context (Any one): [5]
TP B wE el W W
(1) EoEdeE g5, @ 9 O S|
@2 “fg= & 3 3, IgHl, wuH ufewri-9eE w Sifaes ="

(B) Explain the following with reference to thé context (Any one) : [5]

TSR T S defafa e W
(1 A A qwsE ke T foafvo
(2) W% oTRae= fafmfi mm e

3. Answer any two of the following : [20]
ATl Bl g W fewr

(1) Explain the process of dependent origination as described in
the Udana.

EGI G o M [fete | e M LU B 8

[3601]-326 3 P.T.O.



(2)  What are the seven occassions when the earth trembled ?
el Y EER WM Y6 R 2

(3) Explain the significance of Bhaddiya’s character.
WA= FRiAcare. Hew W 6.

(4) What is the nature of the highest state of renunciation ?

THiIiioe @WEY wWR  F:.

4.  Write short notes on any two of the following : [10]
TSUE! B @R dewm dw fewr
(1) THYTHYS.
(2) TFURfEE of Sivi.
feferslt  gFaRfE.
(8) Character of Sangamaji.
wgmfsra  safarma.

[3601]-326 4



Time : Three Hours

1. (A)

[3601]-326

[3601]-326

(Udana, Cariyapitaka)
(OLD COURSE)

Maximum Marks : 80

Translate any two of the following passages into English : [12]
FSOiH HIUIE PHIY AUS WIS U

(1)

(2)

3

T A gd| T g WA efed faefa Sqen safuitese
AW | A @ 9 GHIAT T Her o wier Jfergd fafe
A Tmg YT 39 FE wfoEr T Wi st guigard |
IEW W WTE SEeE wemen e fie tmg syfsen
3 wE U FETE dfaa eve guigad | |
31 W Fifed SRR e S ferafien Tt gfafaen
FAIAY  SOCHITUEEIWN << dafafsd A fewm 3w
Aquaghy; syggficn wad TR fawn frofaen wE TogEe—
“AXAG A, W, WA TE; WG G g, d AT SN
feam gemn'' fa

9 | guam Hfeada ot smfa — ufe @, AT,
A WiEl ATIUSH; ITHg A TH T e we fawan awfe;
JEE SAg UggH 90 YRR [W — g, s,
Ffeadia wEd R fawm s&gf<; sTwE SWag oggH W
wgfoel g’ ) w9 wife — ‘goE, W, wifeada
gu aet e urfa)

5 P.T.O.



(B)

2. (A

[3601]-326

Translate any two of the following into English : [12]
TAGTH HIEE G TG AR FU
(1) YR I A gurerRfed )
gfor Redfe werifoal ST i
wE ey 4 B oenfy surEd |
™ M WERE FFES TR ||
(2) TSR W W WSS |
FP0 IRER SHUFE @ wesfy I
oo YafoRss wnfaafe a4 |
sl 7 faRfd sifiads HRom
3) dRT T URWd I TEUE H|
fead wa AW I T wEE
Ay =€ diowen Heurfagfan
T WM fom srewe wRrEs wHTeR |

Explain the following with reference to the context (Any two) : - [10]

TAOUH R qM devidli W o

(1) Eiorde s=RE, e qH S|

(2) A T fiag SU@ARA WHERRA |

(8) oW @ W wfedys gue wifeadi® giahi shm sRi
I faed |

@ f&= @ 1 %, gW, wwE wiedmi-oaE 9 sifas 9

6



(B)  Explain the following with reference to the context (Any two) : [10]
GAeYH HIER ﬁ‘q’_ﬂ#ﬂ%ﬁ TR T
() 99 7 | @ A dord
2) A9y aee Houeg wHE ki
(@) e weH Ve uha wE g
4  wWH w=N gaka @y
& fod Sfag aserd

3. Answer any two of the following : . [24]
TS A g SR fom
(1) What is the nature of the highest state of renunciation ?
THRAIN wwy w2 e 2
(2) What is the importance of Nandasutta ?
TRGAE wew™ w2

(3)  Explain the process of dependent origination (Patticca Samuppada)

as described in the Udana.
ST ST FAEEE w0 .

(4) What are the seven occassions when the earth trembled in

Vessantaracariya ?

Mgwwmmmm?

[3601]-326 7 P.T.O.



4.  Write short notes on any two of the following :

TOGUH! B eFier e A foar .

(1) wEsEf

(2) Character of Sasapandita.
Toufogae  saform.

3) wifed <.

(4) Qualities of Bhuridatta.
Reart Torafer.

[3601]-326 8



Total No. of Questions—5] ~ [Total No. of Printed Pages—4+1

[3601]-329
T.Y. B.A. EXAMINATION, 2009
ARABIC
General Paper II1
(2004 PATTERN)
Time : Three Hours _ Maximum Marks : 80

N.B. :—Attempt All questions.
1.  Translate into English or Urdu or Marathi any two of the following :
[20]

srasmllash 3 egila dd ple ggzad tlass o d 0 Sl (Lalhy
2 N w z 4 w
g J’La;a.“ 9 CJ.Q..:.H Qe P Ay Adiys r..g...'e..g.g u’bl.; (ltgjaj\
o & 2

PR LS Os& 418 f\.._,ﬁ;j\ 0J;§M:’. iy 9y dl,e V..@.A.'a.a.g uﬁ‘u\..&
a}fv\._»._z- J._{‘, olelas O g—nam—y 3.,1.)\.__.“ S L0 ols

£ w : 3

bz, 0L Aol 5 ol ol onsST e e ia ]

‘u. d .u - . L4 ”
\.,_,s) tL.o.gjf wﬁ..ﬂ‘ 325 ‘J)-‘-—” = Lo je :ng);J‘ 15_1._9

.>.=..g.5 i.l.:.,.? jgj oLs ug‘jj i.:.gja.ﬂ g.JJ:..H a.}.j e ls g r.f— Lo

P3N

P.T.O.



) w 2 2 2 14 ™ v
eyl 93Ul a Yol 4 U 30 LS e 1,085 0t 5P (0

O yhans el &6 ,1 Lo b ons SUEN 5 _aloml BLL)l
Al sl sl L g N 6, g g e o ML D
o5 oSl g g g alla D0 i L U s
U g et 5301 30l sl gyt s 01 ottt Aaltl y a i i
eS0TI e s Jgn 4206 e LTy sy sLd
J_fuijs Gyle el y ST SUE pLT sl yal )

“_ L a
P ?Gf O pondis LYy s 38 N iy SsyP”
Bana il _ et O galany sl il y 01 0,2y SESN Z1 as
A1l Edly lasl e 8 S Bl Yy molal 0 6385 82,
(ke AW 5 05 01 (b 345 suna ) Sl e s 0 838,
Sbenn ks S 8ty 0501y sal, OF 6wl
Al sl Sla JU ol Band ¢ Lozl (5 OV s

el g3 a S T 051 padasd el patl g3 4S5 010 9oty 5 o551 s Ly

@)

[3601]-329



2.  Explain with reference to the context any five of the following

couplets : [20]
Flam Gapilh pdd L, (V)
(Sl G b a3 s U

gs“rsjhfw‘s"gi”-@f) (V)
Aoy Gul s stey  (Y) .
TP PRI B3ai

sl WS Oy Sy ()
ys,ﬁiwgw <Y
s 2V Oz sl (0)

Cnly g yody SIADL & ety

JeU Ul b doedl  3YT ()
JU g psm g ot asl ) Sliae

u&;w\aij&ﬁ\l} ¥)
Sy 08, 10 2 e Eds
e NG 5520 0 515 (M)

):l&; sio i.h_»_? of . Sl

P.T.O. 3 [3601]-329



3.  Define with examples any two of the following topics : [15]

b a2 ()
Jygmadl 5 By madl ()
ggf..a.;_..MCJL.'p_,‘M 4D

e Y Jaill ()

4. Summarise any two of the following topics : [15]

Olex3Jl 3L ()

Fleall pdl ()
adll £ ,SU (8

6. Translate into Arabic any one of the following passages : [10]

(A)

“Public gardens are developed in all the parts of New Delhi.
Green grass is grown in the ground. Trees are grown and
benches are placed undemthe shadow of the trees. The
inhabitants of the city love these gardens. They enjoy the
beautiful sights and inhale its pure air. It is seen that some
boys pluck the flowers that spoils the beauty of the garden. Do
not touch the flowers of the public gardens nor walk on the

grass.”

4 [3601]-329



(B)

“Banks are very essential in every country, because they keep
money and benefit the merchants and others and undertake
conversion of money in different currencies. But some of them
are afraid of Government interference in its affairs and the

employees of the banks are a cultured people.”

5 [3601]-329




Total No. of Questions—4]

[Total No. of Printed Pages—4
[3601]-330
T.Y. B.A. EXAMINATION, 2009
ECONOMICS
General Paper III

(G-3 : Development and Environmental Economics)

(2004 PATTERN)

Time : Three Hours ‘Maximum Marks : 80

N.B.

(i)  All questions are compulsory.
(i) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

Answer the following questions in 20 words each (any ten) : [20]

(1)
(2)
(3)

(4)
(6)
(6)

(7

(8)
9)

Define Ecbnomic Development.
What is Inappropriate Technology ?

State two socio-cultural obstacles in the process of Economic
Development. |

Define the concept of Big-push.
What is surplus value ?

What is meant by Natural Law ?
State the meaning of Infrastructure.

What is Air Pollution ?

State the meaning of Labour Intensive Technique.

P.T.O.



(10)

(11)
(12)
(13)

State the two external bottlenecks in the process of Economic

Development.
Define Less Developed Countries.
What is Centralised Planning ?

Define Financial Planning.

2. Answer the following questions in 50 words each (any two) : [10]

D
(2
3)
4)

State the indicators of Economic Development.
State the concept of Vicious Circle of Poverty.
State the advantages of Capital Intensive Technique.

Explain the causes of Water Pollution.

3. Answer the following questions in 150 words each (any two) : [20]

(1)
(2)
(3)
(4)

Explain the Balanced Growth Approach.
State the advantages of Large Scale Production.
Explain the economic characteristics of Less Developed Countries.

Explain the role of Agriculture in Economic Developoment.

4. Answer the following questions in 300 words each (any two) : [30]

&)
@

3)

4)
[3601]-330

Critically examine the “Ricardian theory of Development.

Explain the socio-cultural characteristics of Less developed
countries.

What is Economic Planning ? Explain the need for Economic
Planning.

What is Pollution ? Explain the various types of Pollution.

2



¥4 : @ a TRUT T : 80

1. U WEE &S 20 3K SWfow (RIVE Tmw) [20]

(1)
(2)
(3)
4)
(6)
(6)
(7)
(8)
9
(10)
(11)
(12)
(13)

[3601]-330

afders fomrar= =ren o

I a1 fee w™ W O?

s foem wiFdde M amfve-wigds seYa |
‘Hia1 weh1 (Big-push) =& wm.

e oo BN w1 ?

fri frawm oS @@ ?

wRIYd gfawrer e @i

T YGHN RUS wE ? .

FH YUH qA=n Ad G

A fawraren yiwddie @ seY Tede Wi
Jeqfaehdid QI =R I

afa PrieR W w@ 2

fodia fesmAE =men o

3 P.T.O.



2. mmu@aﬁsomaﬁiﬁm(mﬁﬂ):
(1) onfde fawm fdae @i,
(2) <RGEren gewwEl deed T 9.
(8) Wied® WHM WA WRR AT
(4) UVt YgHUOE! HRO R @

8. Ue WA Wl 150 T<id SW R (D @)
(1) wgfea fawmra gfee w= @
(2) WIS yHTElE SERAR WER 9.
(8) oreufashdla [T snfde AT wWe W
(@) oiiie fawrE A AW R W @

4. TS WA TR 300 T SW R (FORG D) -
(1) T foemsn fogaR ferms wRen w1
(2) oufosdt el wRE-wiwnlae it we W

(10}

[20]

[30]

(3) onfde fism mv @ ? anfdE FEeME WE W w1

4) Wmﬁm‘?'m fafay gR W= w.

[3601]-830 4



Total No. of Questions—4]

[Total No. of Printed Pages—4

[3601]-331

T.Y. B.A. EXAMINATION, 2009
ECONOMICS
Special Paper III
(S-3 : International Economics)

' (2004 PATTERN)

Time : Three Hours Maximum Marks

N.B. :(— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1.  Answer the following questions in 20 words each (any ten)

(D
(2)
3)
(4)
6))
(6)
(7)
(8)
9

Define International Economics.

What is meant by Dynamic gains from trade ?
Define Favourable Balance of Trade.

What is Income Terms of Trade ?

Define Protection Trade Policy.

Define Export Policy.

Define Balance of Payments.

What is Flexible Exchange Rate ?

Give the full form of GATT.

(10) What is Euro Currency Market ?
(11) What is full convertibility of Indian Rupee ?

: 80

: [20]

(12) What do you mean by composition of Foreign Trade ?

(13)

Give any two objectives of Exchange Control.

P.T.O.



2.
(1)
(2)
(3)
(4)
3.
(1)
(2)
(3)
(4)
4.
(D
(2)
(3)
(4)

[3601]-331

Answer the following questions in 50 words each (any two) :[10]

State the factors affecting Terms of Trade.

Explain the Leontief Paradoi.

State the objectives of ‘SAARC’.

State the role of Multinational Corporations in India’s economic

development.

Answer the following questions in 150 words each (any two) : [20]

Explain the reasons for unfavourable Terms of Trade of less
developed countries.

Explain the arguments for and against Free Trade
Policy.

Explain the composition of India’s Foréigh Trade.

Discuss the measures to correct the disequilibrium in the Balance

of Payments.

Answer the following questions in 800 words each (any two) : [30]

Critically examine Hecksher-Ohlin Theory of International
Trade.

State and explain the objectives and functions of World Trade
Organisation. |

Explain in detail the India’s recent Import-Export policy.

Discuss the various methods of Exchange Control.

2



(W& wiR)
A% : dT A THIT TOT : 80
AN — () WA WA RIS TR
(ii) 3SERSIE % YUl U TEifddr.

1. 9&be WAl Td@ 20 <A SR (FURE @ ) (20]
(1) Sasey el sqre .
(2) 'SAURE TARTe @Y ANRE oy % ey d@|r 2
(3) HA{Ho ANRAGRT AR .
(4) U AWEET WS k1 ?
(5) EUA AR HROTER e
(6) frafm drom=ft =rem @
(7) HeRRdIe A o
(8) wdfush/dewa fafma R mwN w1 ?
9) ‘v’ I Ui ®U .
(10) JU =T &R WIS HF  ?
(11) wdE swarn gofa: ofedfaa =S we 2
(12) ‘faczlt =auR=R @' AOE SMUUNE & Sy B ?
(13) fafga frasom=h woE @9 3R wm

2. Tdle WAl YR 50 IR W foE (FvRd ) [10]
(1) SRR YNE UeUR Wed @i
2) fesifera fRuvym @ @
(3) ‘¥’ (SAARC) =t 3fe= @

(4) wRaren offYfe fosham wgUSE syl gyfye R @
[3601]-331 3 P.T.O.



3. Wdle WAE YIE! 150 IS SW fow (FORE @) ;0 [20]

(D)
@
3)
@

G FOR URomeN AN A faws gfwae ww @
IRaren faesfl =R @ oS @

4. TG WAl TIE 300 I=id SR fom (FoRE @) - [30]

(D
(2)
(3)
(4)

[3601]-331

AT AR TFR-3ledA g ferers wiiemr &,
Sfdeh SR GeeEt SR o eR Wi @ we @
YRA  sfehele Fere Ama-fafd d9ro afer o= w5
fafma frasmomen fafay usdi=t ==i w0




Total No. of Questions—4+4] [Total No. of Printed Pages—8+4+2
[3601]-332
T.Y. B.A. EXAMINATION, 2009 \
ECONOMICS
Special Paper IV
(History of Economic Thought)
(2004 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt All questions.
(ii) Figures to the right indicate full marks.

(iti) Draw neat diagrams wherever necessary.

1.  Answer the following questions in 20 words each (any ten) : [20]
(1) Define Physiocracy. |
(2) Explain two causes for emergence of Mercantalism.
(3) Explain the canons of capital investment.
(4) What is exchange value ?
(6) What is infant industry argument ?
(6) What is Laissez faire policy ?
(7)  What is division of labour ?
(8) What is Economic Nationalism ?
(9) Define rate of exploitation.

(10) What is consumer’s surplus ?

P.T.O.



(11)
(12)
(13)

What  is external economies ?
Define Quasi Rent.

What is marginal efficiency of capital ?

2.  Answer the following questions in 50 words each (any two) : [10]

(1)
2)
(3)
(4)

Explain the features of Mercantalism.
Explain Adam Smith’s view on capital accumulation.
Explain the Liquidity trap.

Explain Gandhi’s view on the role of cottage industries.

- 3. Answer the following questions in 150 words each (any two) : [20]

(1)
(2)
3
4)

State and éxplain Dr. Quesnay’s Tableau Economique.
Explain the Malthusian theory of population.
Explain the economic crisis in capitalism.

Explain Dr. Babasaheb Ambedkar’s economic thought.

4.  Answer the following questions in 800 words each (any two) : [30]

(1)
(2)
(3)
4)

[3601]-332

Explain fully the Frederick List’s protection policy.
State and explain the Ricardian theory of Rent.
Explain Keynesian Liquidity Preference theory of Interest.

Explain Dr. D. R. Gadgil’s view on co-operation and strategy

of development.



(R W)
@ : W aw THUT T : 80
A o— () WA WA g |
(i) SdihEls % YU USRI
(iii) oTeRd®: dY Yok FHA hel
(jv) TRHUEE o TS TR TEE.

1. O WAE YA 20 Tk SWfow (S g7 [20]
(1) ﬁaﬂmﬁwm
(2) URE SAfEEdeN I]A QW HRO WO
(3) wigH® TS HIEN T,
4) fafma g w'S w9 ?
(5) WM FRER WIS FE ?
6) frRwdu 4R wUN wE ?
(7) SHEfUROl WU wE ?
8) onfds TwAR WO FE ?
(9) FvUmrsAl S ARl G
(10) IuvieRA TSI US| wE ?
(11) <= &=9dl WS s ?
(12) 9™l EeEl e ol
(13) WieTot WWE TwET WU wE 2

[3601]-332 3 PTO.



2. THT WA TIEE 50 T SWfow (PR AW [10]
(1) URARE Y@ AR TR w1
(2) 3fen fwy I ' visaw ﬁﬁ"ﬁqﬁmqﬁaﬁqwm.
(3) ﬂ@mmm-m_? ,
4) TSR R SEmeeas yfe WS @

8. UG WA WEw! 150 i SW fow (PR g ;0 [20]
W) T RS w G e swEe e e
(2) weoHE Jwuen fagr wWe W |
3) visamTEide afdw el W= W
(4) Tl dEERE FdsH IR AfUF foer we w.

4. Wmmsoomsﬁﬁa(mﬁ): [30]
(1) Wi forst @ fdt gfem w= =
(2 T wsfawas fagm wim efn @ @
3) HHE FEE dEa i fagm e &5

(4) weshr anfy fowm=t oEEw A1 fawdt @ @ oR meiw TR
foar wWs +u.

[3601]-332 4



[3601]-332

(Quantitative Techniques)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.
(iii) Answers should be precise and to the point.

(iv) Use of calculator is allowed.

1. Answer the following in 20 words each (any ten) : [20]
(1) What is a ‘Universal Set’ ?
(2) Create a set of all even integers less than 50.

(3) Find :

2-—
1 -4
x—2 x-2

(4) Differentiate with respect to x.
Let Y = 9x3 + 8x2 + Tx + 6.

(6) Make transpose of Matrix :
a1 412 413

A=lag age ag|
31 agz agg ’

[3601]-332 5 PTO.



(6)

(7)

(8)

9)
(10)

(11)

(12)

(13)

(1)

[3601]-332

Explain the terms :

(a) Sampling. Unit.

(b) Sémpling Frame.

Define :

(@) Class Width.

() Class Frequency.

Calculate Arithmetic Mean :
Xfx = 469 N =17

Define median and mode.

Define Range and state the formula in case of ungrouped data

and frequency distribution.
Explain the term ‘Correlation’.

If a card is drawn from an ordinary pack, find the probability

if it is of hearts.

What do you mean by ‘Classification’ ?

Answer the following questions in 50 words each (any two) : [10]

Set A and B are such that A has 25 members. B has 20
members and A U B has 35 members. Draw a Venn diagram
to represent the above situation and hence find the number

of the members in the set A n B.



(2)

3)

4)

(1)

[3601]-332

Lt

x—3 x2—2x—3

x2—x—6

. Derive a solution for x.

Following is a table showing facultywise strength for 4 years.

82-83
83-84
84-85
85-86

Arts Commerce '
800 1,400
750 1,750
700 1,800
900 1,900

Science

800
1,000
1,100

1,200

Represent the data by subdivided bar diagram.

Total
3,000
3,500
3,600

4,000

Arithmetic mean of weight of 100 boys is 50 kg. and the arithmetic

mean of 50 girls is 45 kg. Calculate the arithmetic mean (AM)

of combined group of boys and girls.

Answer the following questions in 150 words each (any two) : [20]

A company has examined its cost and revenue structure and

has determined that C = Total Cost, R = total revenue and

C
R

100 + 0.015 X2

3X

X = the number of units produced are related as -

Find the product level X that will maximise profit for this

company. How much will it be ? Find also the profit when
X = 120 units.

PTO.



(Y

(2) Given :

2 1 ‘ 1 3
A=|4 3 =
and B |:2 2].
10

then prove (AB)' = B'A'
(3) Draw histogram, frequency polygon and ogives for the following
frequency distribution :

Class Frequency
0—10 4
10—20 12
20—30 18
30—40 16
40—50 . 03

(4) A group of 50 items have mean and S.D. 61 and 8 respectively.
Another group of 100 observations has mean and S.D. 70 and

9 respectively. Find mean and S.D. of combined group.

4.‘ Answer the following questions in 800 words each (any two) : [30]

(1) Revenue department is trying to estimate the monthly amount
of unpaid taxes. Suppose 4’ denotes field audit labour hours
and ‘%’ denotes unpaid taxes. Using last 10 months data, the

following summary is obtained :
Sx = 441, Sy = 272, 3x? = 19461
Sy2 = 7428, Sxy = 12,005
Determine regression line 9’ on %’. Also obtain standard error

of regression estimate.

[3601]-332 8



(@

(3)

(4)

[3601]-332

If

1 -11 1
A=[ J,B:[z ;J and (A+B)? = A%+ B2

find @’ and %’.

Calculate the S.D. and coefficient of variation for the frequency

distribution of marks of 100 candidates given below.

Marks Frequency
0—20 05
20—40 , 12
40—60 32
60—80 40
80—100 11

Consider the system of two inequalities :

6x+5y-30<0
3x-4y+12>0
x20
y=>0

Draw graphically the intersection of all half planes.

9 PTO.



(W wwi)
% : dqF q™
AN i— (i) Wd WA ACRAR IR
(i) SoErRele e ol o Rifedn.
(i) SN Gdes 9 HLge A9mE.
- (@) PGSR ARG TN AR,
(v) TeuiESt o TUST WU UEE.

T&HUT ToT

1. wWoo waEl S @ 20 7= fow (FIvdEl ')

(1) aRas W ®ON wE 7

(2) 50 Ja1 wHH WM WA WA T GAR B

(8) W
Lt 12;‘3.
x—2 X—2
(4) faxfeda U
Y = 9x3 + 82 + Tx + 6.
(5) Ufigd ®U

a1 a2 a3
A=lagy agg ag3|,

agy agg 0433

[3601]-332 10
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[20]



6) (31) HW THb 9 (d) TN Ahe g GHoudl W &1,
() (3) @ = (9) o sReRar arem = =@
8) wWEd el
Sfx = 469 N =7
(9) WETH SN WG grew TS AL

(10) STEHT (range) = = o1 fogEad FaR enfn aRaa Rod
YA oA A 9o

(11) ‘vedsy’ & TehoUdl T H.

(12) Th GAGIHRY T H¢ WA Uh O FEDl. 9 Sl O ST

Al <hlal.

(13) ‘oiffexor’ | w1y ?

2. WPe WA SW YA 50 T fow (PR @) [10]

(1) A’ MY 25 WS MR, B’ UMY 20 U SR SMUA U B
WY 35 WIW SMRA. SMFdigR WX URRerdt wWw ®U 3 A A B
79 frdt wem, sdls ¥ @i

@ Lt S—-" % I gm wm

13601]-332 11 PTO.



(8) wide TrRuiMY, Imagar fawefst wen & aw.

A
82-83 800
- 83-84 750
84—85 700
85-86 900
WY AW e

arforey

1,400
1,750
1,800

1,900

A

800
1,000
1,100

1,200

[
3,000

3,500
3,600

4,000

4) 100 HEen el el 50 fEN., 50 gPeA SwErEl wEd 45

f&l. 7o 9 g A=l THA wWEd Fel

3. wHT TEEl SW USE 150 TS fow (RIORE GF)

(20]

(1) TH FFER AN TG0 9 GAE FEE e A0 THI TR
=R, THW @ = C ofr X = SWEA WA A+ P e 5

100 + 0.015 X2

e H U TEEAE UMed el ST 120 TSl T feRd

Hfaadt
C =

R = 3X.

o o @ wEl.
2 oo

[3601]-332



(3)

(4)

Wﬁmw,%@wnaﬁ%ﬁaﬁmw@ﬁaaﬁaﬁmw
(ogivés)‘om?sl._

L] - aReRar
0—10 04
10—20 12
20—30 18
30—40 16
40—50 03

50 IR TH TR el ofr S.D. 61 9 8 M. gEA 100
T T SOE AT S.D. 70 F 9 SR WHAG w@UEd 9 S.D.

4., WO WAE W YRE 300 3K fowl (S BF) (30]

(1)

[3601]-332

WWRWW?WWWW‘
T HA. AT % ¥ OUEREUE AW U Yy WU T Rown
HTE WA AR, ATe 10 A ARt 9% Yo Mua
firasre. |

Sx = 441, Yy = 272, Ix2 = 19461

Sy2 = 7428, Ixy = 12,005
Y ae & o T I wel. REE ydemE s S o)
TEERY g% (SE) fiyesan.

13 PTO.



(2)

1 -1 a 17
A=l, 1| B=|, _{| ¥ (A+B)?=A2+B?
W ‘@ fr P <t YA wwE

(38) 100 famneatem o=l sTHSI o oMe ~E®A WeHaH TRV

3 S.D. %@L
T qratar

0—20 | 05

20—40 12

40—60 32

60—80 40

80—100 11

4 Tl G fovma o U9, Wd AYYAS ihdigR R W

6x+5y-30<0
3x—-4y+1220
x20
y20

[3601]-332 14



Total No. of Questions—4+4] [Total No. of Printed Pages—8

[3601]-333
T.Y. B.A. EXAMINATION, 2009
POLITICAL SCIENCE
(G-3 : Indian Political Thinkers)
(2004 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :—

(i) All questions are compulsory.

(i) VFigures to the right indicate full marks.

1. Answer any ten questions (in 20 words each) : [20]

(1)

(2)

(3)

4)
(5)
(6)
(7)

(8)
9

Give any two administrative reforms suggested by Raja Ram
Mohan Roy.

Why is M. G. Ranade regarded as the Champion of Indian
Liberalism ?

State any two drawbacks of Indian Society according to
M. G. Ranade.

Write the names of iwo books written by B. G. Tilak.
Why did Tilak start celebrating Ganesh Festival ?
Who started the ‘Abhinav Bharat Organisation’ ?

What are the foundations of Independence according to
M. N. Roy ?

State M. N. Roy’s two criticism on Marxism.

Why is Dr. Ambedkar called the Architect of Indian Constitution ?

(10) State Dr. Ambedkar’s concept of Social Justice.

P.T.O.
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(11) Who is Hindu according to V. D. Savarkar ?
(12) Mention any two principles of Panchsheel theory propounded
by Pt. Jawaharlal Nehru.
(13) Define the term ‘Socialism’ explained by Pt. Jawaharlal Nehru.
9. Answer any fwo questions (in 50 words each) : [10]
(1) Raja Ram Mohan Roy’s views on Freedom of Press.
(2) Tilak’s views on Nationalism.
(3) Nehru’s views on Secularism'.
(4) M. N. Roy on Organized Democracy.
3. Answer any fwo questions (in 150 words each) : [20]
(1) Raja Ram Mohan Roy’s views about Law.
(2) Tilak’s views on British Rule in India.
(3) M. N. Roys views on New Humanism.
(4) Ranade’s Economic Ideas.
Answer any two questions (in 300 words each) : [30]
(1) Discuss M. G. Ranade’s views on Social Reforms.
(2) Explain Dr. Ambedkar’s views on Parliamentary Democracy.
(3) Examine Savarkar’s views on Nationalism.
(4) Explain in detail Pandit Jawaharlal Nehru’s ‘Secularism’ and

“Democratic Socialism’.
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2. WU T WA SR fow (@S 50 i) [10]
(1) T TR VI 99 guus - WiaEaYgs  faEr.
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[3601]-333
(Optional)
(G-3 : Government and Politics of Maharashtra)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(ti) Figures to the right indicate full marks.

1. Answer any ten questions (in 20 words each) : [20]
(1) State the names of two committees on State Reorganisation.
(2)  When was the Samyukta Maharashtra Samiti formed ?

(3) State the names of two leaders in Samyukta Maharashtra

Movement.
(4) What is meant by Zero hour ?
(6) State any #fwo suggestions of Dar Commission.
(6) State any fwo qualifications of Governor.
(7)  Mention any two recommendations of Naik Committee.
(8) State any fwo powers of Chief Executive Officer of Zilla Parishad.
(9)  State any two Non-statutory Committees of Municipal Corporation.
(10) Who is the Political Head of Municipal Corporation ?
(11) State total number of members in Maharashtra Vidhan Parishad.
(12) Give two reasons of the rise of Shiva Sena in Maharashtra.

(13) State any two limitations of Panchayat Raj in Maharashtra.
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2. Answer any two questions (in 50 words each) : [10]

(1) State Reorganise Committee.
(2) Akola Pact.
(3) Executive powers of Governor.

(4) Four demerits of Panchayat Raj.

3. Answer any two questions (in 150 words each) : [20]

(1) Explain the powers and functions of Speaker of Vidhan
Sabha.

(2) Explain the structure, powers and functions of Gram Panchayat.

(38) Discuss the composition, jurisdiction and functions of High

Court.

(4) Examine the Law Making Process.

4. Answer any two questions (in 300 words each) : [30]

(1)  Critically discuss the ‘regionalism’ in politics of Maharashtra.
(2)  Describe the role of Chief Minister in Maharashtra.
(3) Discuss the role of Nationalist Party in politics of Maharashtra.

(4)  Explain the composition, powers and various problems of Municipal

Corporation.
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(1)
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(3)
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@)
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Total No. of Questions—4]

[Total No. of Printed Pages—4
[3601]-334
T.Y. B.A. EXAMINATION, 2009
POLITICS
Special Paper III .
-(India’s Foreign Policy)
(2004 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :—

(1) All questions are compulsory.

(ti) Figures to the right indicate full marks.

1. Attempt any ten questions (in 20 words each) : [20]

1
(2)
3)
(4)

(5)

-~ (6)
(7)
(8)
9
(10)

Who was the pioneer of India’s Foreign Policy ?
State any two principles of Panchsheel.
State any two demerits of Non-Alignment Movement.

State any two main principles of American Foreign Policy after
the World War II.

State name the recently concluded treaty between India and
US.A.

When was SAARC established ?

Where is the main office of SAARC ?

State any fwo objects of ‘Tashkent treaty’.

When did India-China war break-out ?

Name the Controversial Border (Line) between India and

China.

P.T.O.
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(11) When was Indo-Pak Simla‘Treaty signed and state the year ?
(12) When was Indian Parliament attacked by terrorists ?

(13) State the meaning of C.T.B.T.

Attempt any two questions (in 850 words each) : . [10]

(1) Any five objectives of India’s Foreign Policy.

(2) Belgrade Conference.

(3) Problems of SAARC.

(4) Simla Pact.

Attempt any two questions (in 150 words each) : [20]
(1) Discuss Pandit Nehru’s contribution to India’s Foreign Policy.
(2) Explain India-U.S.A relations.

(3) Examine India’é role in West Asia.

(4) Review the Indo-China relations.

~ Attempt any fwo questions (in 800 words each) : [30]

(1) Explain the basic principles of India’s Foreign Policy.
(2) Trace Indo-Pak relations with reference to Kashmir Problem.
(3) Examine the Indo-Sri Lanka relations.

(4)  Explain the effects of Globalisation on India.

[3601]-334 | 2
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Total No.

of Questions—A4] [Total No. of Printed Pages—4

| [3601]-
T.Y. B.A. EXAMINATION, 2009
POLITICS
Special Paper IV
(Public Administration)

(2004 PATTERN)

Time : Three Hours ' Maximum Marks

N.B. —

(f) All questions are compulsory.

(it) Figures to the right indicate full marks.

1. Answer any fen questions (in 20 words each) :

(D)
(2)
(3)
(4)
(5)
(6)
(7)
(8)
9)
(10)
(11)
(12)

(13)

What is meant by Public Administration ?
State any two peculiarities of Private Administration.
Define Organisation.

What is meant by ‘Span of Control ?
State the types of Line Unit.

State any fwo functions of Chief Executive.
Define Hierarchy.

What is Public Corporation ?

State the meaning of Management.
Mention any two qualities of Leadership.
State any two types of Training.

State any two types of Budget.

What is Delegated Legislation ?

335

: 80 -

[20]

P.T.O.



2. Answer any two questions (in 50 words each) : (10]

(1) Importance of Public Administration.
(2)  Unity of Command.
(3) Any five features of Department.
(4) Main functions of Civil Service.
3. Answer any two questions (in 150 words each) : [20]
(1) Explain the role and functions of Chief Executive.
(2) What is Decision Making ? Describe the process of Decision
Making.
(3) Explain the importance of “Political N eutrality” of Civil Servants.
(4)  Discuss the composition, powers and functions of Public Accounts
Committee in India.
4. Answer any two questions (in 300 words each) : {30]
(1) Explain the similarity and dissimilarity between Public
Administration and Private Administration.
(2) Discuss the various methods of recruitment of Civil Servants.
(3) Explain the Budgetary process in India.
(4) Describe the necessity of Administrative Tribunals with its
advantages and disadvantages.
[3601]-335 2
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Total No. of Questions—4] [Total No. of Printed Pages—4

[3601]-336
T.Y. B.A. EXAMINATION, 2009
HISTORY
General Paper III
(Modern India : 1765-1961)
(2004 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :—

() All questions are compulsory.

(i) Figures to the right indicate full marks.

1. Answer the following questions in 20 words each (any ten) : [20]

D
(2)
3)
(4)
(5)
(6)
(7
8)
9

(10)

Write any two social problems in 18th century.

Name any two colonies of Portuguese in India.

Explain the concept of ‘Orientalism’.

Name any two rulers who accepted the ‘Subsidiary Alliance’.
What is meant by ‘Ryotwari System’ ?

Write any tfwo principles of Brahma Samaj.

Name any two Bengali Newspapers in British period.
Write any two leaders associated with Ramoshi Uprising.

State any two political organizations prior to the establishment

of the Indian National Congress.

Who was the first President of the Indian National Congress ?

P.T.O.



(11) Explain the concept of ‘Moderates’.
(12) Define the concept of ‘T'wo Nation’s Theory’.

(13) Which princely states refused to join the Indian Union ?

2.  Answer the following questions in 50 words each (any two) : [10]
(1) Explain the policy of the Doctrine of Lapse.
(2) State the Judicial reforms of Cornwallis.
3) E#plain the role of Mahatma Phule in women’s emancipation.

(4) State the importance of ‘Abhinav Bharat’.

3.  Answer the following questions in 150 words each (any two) : [20]
(1) Explain the reasons for the decline of the Indigenous Powers.
(2) Enumerate the factors responsible for the Revolt of 1857.
(3) State the causes for the rise of Indian National Congress.

(4) Explain the role of Sardar Vallabhabhai Patel integration of
Princely States. |

4.  Answer the following quesi:ions in 300 words each (any two) : [30]
(1) Give an account of Famine policy of the British.
(2) Discuss the Education policy of the British in India.
(8) Give an account of Non-co-operation Movement.
(4) State the salient features of Constitution of India.

[3601]-336 2
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Total No. of Questions—4+4] [Total No. of Printed Pages—8
[3601]-337
T.Y. B.A. EXAMINATION, 2009
HISTORY
Speéial Paper III
(Medieval India : 1200-1765 A.D.)

| (2004 PATTERN)
Time : Three Hours - Maximum Marks : 80

NB. :— (i) All questions are compulsory.

(i) Figures to the right indicate full marks.

1.  Answer the following questions in 20 words each (any ten) : [20]
(1) State any two Persian sources of medieval history.
(2) Why is Qutbuddin Aibak called ‘Lakhbaksha’ ?
(3) Which dbctrine did Bulban adopt to consolidation the power?
(4) Explain the tefm ‘Diwan-E-Aariz’.
(6) State any two names of trading centres during the Sultanate.
(6) State any two names of Sufi saints related with Sufi movements.
(7) State the importance of first battle of Panipat.
(8) What is the name of Babﬁr’s Autobiography ?
(90 What is ‘Polaz’ ?

(10) Who was called as ‘Prince of Builders’ (Prince of Architectures) ?

P.T.O.



(11)

(12)

(13)

1)

(2)
3)
(4)

During the rule of which Emperor did the Mughal Empire

reach its territorial climax ?

What was the main subjects of painting during the Mughal
Period?

Who was the first ruler of Vijaynagar Empire ?

Answer the following questions in 50 words each (any two) : [10]

Discuss the achievements of Qutbuddin Aibak as a founder
of the Delhi Sultanate.

State the effects of Taimur’s invasion of India.
Write a note on Krishnadeoraya.

State the teachings of Bhakti Cult.

3.  Answer the following questions in 150 words each (any two) : [20]

(1)
(2)
3)
4)

State the military achievements of Alauddin Khalji.
Give an account of Architecture in the Sultanate.
What is meant by ‘Mansabdari’ ? Explain its merits and demerits ?

Give an account of Trade and Industry during the Mughal
period.

4., Answer the following questions in 800 words each (any two) : [30]

1)
(2)
3)
(4)

[3601]-337

Evaluate the achievements of Muhammed Tughlug.

State the Administrative reforms of Sher Shah Suri.
Examine the Rajput Policy of Akbar.
Discuss the Land Revenue System during the Mughal

period.
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[3601]-337

(History of China and Japan)

Time : Three Hours Maximum Marks : 80

N.B. —

(i) All questions are compulsory.

(i) Figures to the right indicate full marks.

1.  Answer the following questions in 20 words each (any ten) : [20]

(1)

(2)
(3)

4)
(5)
(6)
(7

(8)
9
(10)
(11)

(12)
(13)
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Give two provisions of the Treaty of Nanking in 22nd August
1842

Who was the leader of the Taiping rebellion ?

Who was the emperor at the time of Hundred days reforms
is China ?

Who was the founder of the ‘Tung-Ming-Hui’ ?

.Who wrote ‘My Marxist View’ ?

What do you know about the ‘Human Thesis’ ?

Where did capital of Japan transfer from Kyo-To in modernization
of Japan.

What is meant by “Zaibatsu’ ?
State two provisions of Anglo-Japanese Alliance 1902.
Who was the President of China at the time of 21 demands ?

State the name of four countries which attended Washington
Conference.

Why did Japan resign League of Nation ?
What do you know about the Rome-Berlin-Tokyo Axis ?

5 P.T.O.



2. Answer the following questions in 50 words each (any two) : [10]

(1)
(2)
3)
4)

What do you know about Open Door Policy in China ?
What were the reforms by Zaibatsu in China ?
What do you know about the Washington Conference ?

Write a note on rise of Militarianism in Japan.

3. Answer the following questions in 150 words each (any two) : [20]

1

(2)

3)

4)

What was the importance of the Taiping Rebellion in
China ?

How was Long March useful to Communist Party in

China ?

Explain Rome-Berlin-Tokyo Axis was one cause of World

War II.

Explain the role of Japan in World War II.

4. Answer the following questions in 800 words each (any two) : [30]

(D
2)
3)
4)

[3601]-337

What were the causes of Taiping Rebellion in China ?
Explain the role played by Mao-Tse-Tung in China.
Review the Anglo-Japan Treaty of 1902.

Give an account of Economic progress of Japan after World

War 1II.



(& waie)
A% : T A T&HUT TUT : 80
O — () WA WA ETE emd.
(i) SoEwSle ® WAR YU U SRifqam.

1. @l WA W TS 20 IRE[ foul (v ) [20]
(1) 22 M= 1842 = THMRT TEEA 9 WSl .
(2) dEfym Sl AW @ B ?
(8) ¥R fegmrear gurumded fo=h ot wiv @ ?
4) ‘go-fam-gd’ <t e w2
(5) ‘W wirle =g *f fose ?
6) ‘g wawm' fow smuuw wE Wfew AR ?
(7) U= SYfThieoma Fi-3 g1 TOUMl @is sgod 2
8) 'Yy WS wE ?
(9) TOS-SUA HAU (1902) =W & WISl G
(10) wurm fawer 21 wrvA Toew A% T TsgeAs @ W 2
A1) afier wfwdd el W 2w A @i |
(12) SO TSEE S & e 2
(13) T-aBH-Aldl Aenfaodt Uy g uifed o ?

2. WS WA SN FAR! 50 T fow (HORE A [10]
(1) fomdic gwgr dRonfawd sy wE Wigd sme ?
@) ‘decg’ e fod wdie gERM %@ e 2
(3) =fifed uftsefawlt sy = =fedt s 2
(4) SurAHie owREREr }F AR feu fem.
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3. Wl WAH SW YW 150 =@ fow (FURE @) [20]
1) fomedie a@fin dem @@ F™@ A ?
2 oo uge wael JWE W R BEQ A@Sl ?
(3) WW-af-JFr-31g gEA "R TH HRU B W HA
(4) TEA WRESHS SUEE YfEE TR S

4, wWAHO TAE SN YAR! 300 TR fow (FoRd dF) [30]
(1) fomiie qafin deRi &R0 %@ e« ?
2) fomdte Weli-@-gr= s @ H
(3) 1902 #Hfte TES-SUM mm%n @ =,

(4) TEA TEREHER FUMY Hoodl fde Wl gwid <.
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Total No. of Questions—4+4] [Total No. of Printed Pages—8
[3601]-338
T.Y. B.A. EXAMINATION, 2009
HISTORY

Special Paper IV

(History of Russia)

(2004 PATTERN)
Time : Three Hours | Maximum Marks : 80
N.B. |

— (i) All questions are compulsory.

(Zi) Figures to the right indicate full marks.

1. Answer the following questions in 20 words each (any ten) : [20]
(1) Which dynasty did rule over Russia from 1613 to 1917 ?
(2) Which were the countries involved in Crimean War ?
(3) Which Russian Czar was called ‘Liberator Czar’ ?
(4) Which Russian Czar was called ‘Czar of Peace’ ?
(6) What is meant by Zemstvos’ ?
(6) Name the two books written by Karl Marx.
(7) Name the Treaty signed after Russo-Japanese War (1905).
(8) What was NEP ?
(90 Who did first use the word ‘Iron Curtain’ ?

(10) Name the member countries of ‘Warsaw Pact’.

P.T.O.



(11)
(12)
(13)

(1)
(2)
3)
4)

(1)
(2)
- (3)
(4)

(1)
(2)

3)

(4)
[3601]-338

Who was Valentina Tereshkova ?
Which was the authorised hewspaper of US.S.R. ?

Which leader was responsible for the disintegration of U.S.S.R ?

Answer the following questions in 50 words each (any two) : [10]

Write a short note on ‘Bloody Sunday’.
Write the provisions of Treaty of Portsmouth.
Write a note on U-2 Episode.

Write in brief about Glasnost and Peresroieka.

Answer the following questions in 150 words each (any two) : [20]

Explain the reactionary policy of Czar Nicholas II.
Write the causes and consequences of Revolution of 1905.
Explain the progress made in Space Technology by U.S.S.R.

Explain in detail the Destalinization.

Answer the following questions in 300 words each (any two) : [30]

Explain the foreign policy of Czar Nicholas IL

Explain as how Stalin’s Foreign policy affected after the rise
of Hitler.

Explain the relation of Russia with West Asia during the period
of Krushchev.

Review the Russo-Indian relations after Sino-Indian War (1962).

2



(WH wUiw)
AF : W AW ‘ THUT T : 80
AT :— () Wd W disfau smerad IR,
(i) SSEHele ® WA gul U <eifadm.

1. UPe WAE W g 20 7<ia fow (Fvmd @@ [20]
(1)WW1613%1917WWWWW%@?
(2) FofE go@ Foepoen wsgEn wEEm gk 2
(3) wivEl WA wHR YRR @R WUE lewdl Wh s ?

(4) o Wrad wwe ‘gliddEEl ¥R (Czar of Peace) YA @@
a8 ?

(5) ‘gHEER’ WS wE 7

6) o "R fofeown S dat @ few

(7) 1905 =0 WA-S9M JEHER DIV 98 H0Fd  A@ 7
(8) ‘NEP’ &™@ B ?

9) ‘W™l Uell' W ISl eggd oo S el ?

(10) ‘ol wRIde wewm Ut T femn

(11) o3f< a&swe & & e ?

(12) wifswe WM Aftrd guusr wv@ B9 ?

(13) Wfowe W faweTen wo S FRoiE e 2

2. TP WAE W URE 50 I=id fowl (FvRd @F) [10]
(1) ‘wasta oErR' | oGewn e, |
(2) URHSY T SRl fem
(3) ‘92" ywmeR v feml
(4) ‘oA 9 'TERs e g fesn
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@W’m%ﬁsﬂiu@aﬁwo T fow (FRE /@) [20])
(D‘a‘mﬁmgﬂﬂﬁuﬁrmaﬁwmm.

(2) 1905 = wida wwo enfor R el
(3)@ﬁ@tﬁmﬁdﬁﬁamﬁﬁmwﬁiwm.

4) TioPRE IdT W W w6

wmﬂmsoommmmamm [30]
(1)wﬁaﬂwwm%wgﬁmww.
(2)Wmmmmmqﬁvmm%m
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(History of Transformation in Modern

Maharashtra : 1818-1960)

Time : Three Hours _ Maximum Marks : 80

N.B. :—

() All questions are compulsory.

(i) Figures to the right indicate full marks.

1. Answer the following questions in 20 words each (any ten) : [20]

(D
(2)
(3)
4)
(5)
(6)

(N
(8
9
(10)
(11
(12)
(13)

[3601]-338

Write the seal of Chh. Shivaji Maharaj ? State its meaning.
Who was the leader of Ramoshi’s Revolt ?

Which was the first Marathi newsletter ? Who started it?
Where and when did the first university establish in Maharashtra ?
State any two causes of Social Reform Movement in Maharashtra ?

Which leaders of Maharashtra putforth theory of economic

exploitation ?

Who was the first Chief Minister of bilingual state ?
When and where did first railway start in Maharashtra ?
Who was the pioneer of ‘Kirloskar Industries’ ?

Who was the pioneer of newsletter ‘Mooknayak’ ?

Where did the Jungle Satyagraha take place in Maharashtra ?
State any two dramas written by P. K. Atre ?

Who is called the father of Modern Poetry in Marathi ?

5 P.T.O.



2. Answer the following questioris in 50 words each (any two) : [10]
(1) Write as how did the British own Mumbai Port ?
(2) Write a short note on ‘Patri Sarkar’ of Satara.
(3) State the philosophy of revolutionaries in Maharashtra.

(4) Write the work of Godavari “Parulekar about tribal peasants.

8. Answer the following questions in 150 words each (any two) : [20]

(1) State the difference between Moderate and Extremists ideology

and ways.
(2) State the background and provisions of Nagpur Pact of 1953.
(3) Write in detail about the organization Dalit Panthers’.

(4) Discuss the problems of urbanization by stating its meaning.

4. Answer the following questions in 300 words each (any two) : [30]

(1) Discuss the background, principles and objectives of Chh. Shivaji’s

Swarajya.
(2) Discuss the early revolts against the British rule in Maharashtra.
(3) Discuss the various organs of co-operative sector of Maharashtra.

(4) Discuss the social problems depicted in the literature of Mahatma
Phule.

[3601]-338 6



(WS w®Uiw)

q@ : | oA ‘ THUT TOT : 80
gaET — (i) WA WA SETIE TR

(i) oEtwele w qu U gRifEdn.
1. Ude WEl Y&® 20 3= W few (FRE 2@ [20]

(1) © REs) meReT S fewn e s @
(2) THEM @M A@ & DA ?

(3) WEMe uigs FuuUF &M 7 T DI GE HS B 7
(4) weNREe uge fourdts w3 suf de www o ?
(5) WERIKt® UHifsh JUROT woadi™ ®iad e RO fo.
(6) WRNEte wiven S snfdd v fagia wed dW 2
(7 gwfw TR Wfed gerwst wm g 2

(8) TeRIKe Ufed l@d whewl o1 ®IS e el ?

(9) THoiwRt TR GEIUE HIU B ?

(10) ‘gEIEE’ R 9 F0 A ?
(11)%%@@@@%@%—@%&@3@%?

(12) 9. & 3 I+l fofeddt @@= s fou

(13) WEde snyfe wfoad % HUE wes SR ?
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2. W WA YAH 50 KM SW fow (IS @) [10]
(1) foemmm fad dert Ao w1 WG Fel A fon
(2) vEERE ‘Tt @R W diewn v fomn
(3) WERIRK® whidieRea doaH ol
(4) TRE] RN offkad Iae-aeEde wE - fom

3. e WA TAW 150 IR W few (FoRE gF) [20]
(1) waes onfn SEre A=n foaraof 9 #wel adte ww fom.
(2) 1953 = AFY HAT URAYHT AT weR WL w.

(3) ‘cfea ded' w1 dwewem wfaww fem.
(4) mfewm S WiE w@eE WA 9= ]

4. TS TR FAH 300 =@ IW fow (FoRd ) [30]
1) © fest TR @O ardy, o e s w= W
2) WeRREe fadn Toad=n foludte gean=a 3¢@EEt == &4
(3 TeRHe weeR e fafi s wriwm =@ @

(4) T HEEA e SHERTdl WIS wEAl == %
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Total No. of Questions—4] [Total No. of Printed Pages—4
[3601]-339

T.Y. B.A. EXAMINATION, 2009
ANTHROPOLOGY
(G-3 : Maharashtra : A Cultural Region)
(2004 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.

1. Answer any ten of the following in maximum 20 words each : [20]
(1) What is Maharashtra Dharma ?
(2) State the meaning' of Nomadic tribe.
(8) Give long form of O.B.C.
(4) What is Religious Fast ?
(5) What is Irrigation ?
(6) State the types of Chaturthi.
(7) What is Co-operative Movement ?
(8) State the names of Gods of Maharashtra.
(9) What is Leni ?
(10) Who was the founder of Shetkari Sangathana ?
(11) Who was the founder of Dalit Panther ?

(12) What are the types of forts ?

(13) What is the idea of Maharashtra Day ?
P.T.O.
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(1)
(2)
(3)
4)

3.
(1)
(@)
(3)
)
4, |

[y

0
@
3)
@
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Write notes on any two of the following in maximum 50 words each : [10]

Ek Gaon—Ek Panavatha.
Kokan—A geographical region of Maharashtra.
Balutedari System.

Ethnic plurality.

Answer any two of the following in maximum 150 words each : [20]

Explain the characteristics of Scheduled Caste.
State the cultural history of Maharashtra.

Discuss the traditional arts of Maharashtra with reference to

Kirtan, Tamasha and Lavani.

Describe the Protest movement in Maharashtra.

Answer any two of the following in maximum 300 words each : [30]

Discuss the social reform movement led by Mahatma Jyotiba
Phule and Dr. B.R. Ambedkar.

Describe the nature of spread of Education movement of Maharshi

Karve and Karmaveer Bhaurao Patil.

Discuss the role of Lokmanya Tilak and G.G. Agarkar in Political

movement of Maharashtra.

Explain the role of Saint Dnyaneshwar and Warkari cult in social
life of Maharashtra.

S



(TS TUIW)
@ : i aw : TeHUT TUT : 80
AT — (i) Wd W IS 3.
(ii) IoEiFSte Hdh WA YU IO SFifodr.
(i) TV @ St Wi wer.

1. UOoUh RV gEd Tde S SR 20 Iseiedd WO feRt : [20]
(1) ¥R 99 BN ®E ?
(2) wWeHRN S Aren Y Wi
(3) O.B.C. -1 fawga =1 @
(4) urfHe Iya™ RS wE ?
(5) T "IN wE ?
(6) =gdiR YR WA
(7) UEHR J90 WUS & ?
(8) WENIie Jd=l e EHm.
© 0 WS HE ?
(10) IR WIS FEGH H0 ?
(11) sfeq da= weams w0 ?
(12) foceai= YR @A eTed ?

(13) wERreg f=t &ea & SR
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9. wPTm! FUAE EF FAE! 50 Tiwdd W few [10]
(1) Ush TME—Tsh YIOEC. '
(2) HHu—HERegEl diifes  faam.
(3) wPRH Ysd.
(4) g fafawa.

3. TORE FUEE TR TR S SRA 150 Frsiqdd SWfeRr ¢ (20]
(1) Sgfad wweEl oy TR FW.
(2 TERSEl Wiwhfen gfiEe .
3) Fda, qaEn e eEvien deuly TeRgde IR werd w9 HT.
4) TENRHT URER e U H.

4, COAE PR AR TG S S 300 wigdd W few ¢ [30)

(1) v sEifen | oo el it AR, TSH oA FHSYHR Feeei=l
== &

(2) uﬁféﬁwﬁmwmw:ﬁaﬁmmm
w|ey W FH.

3) S foeh M ST S STREHT A HERTL=A TSThid Hadodid o
qffiepi=t ==l .

@) T IR i AR UG WerTgre Wi Sfieie e
e HA
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Total No. of Questions—4+4] [Total No. of Printed Pages—8

[3601]-340
T.Y. B.A. EXAMINATION, 2009
GEOGRAPHY (G-3)
(Gg-310 : Geography of Tourism)
(2004 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(i) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map-stencils is allowed.

1.  Answer the following questions in about 20 words each (any ten) : [20]

(1)
(2)

@3

4)
(5)
(6)
(7)
(8)
9
(10)

(11)

Define a tourist.

Mention any two components of tourism.

Name any two places of India known for their historical monuments.
Name any two cultural factors that attract the tourists.
What are the advantages of the group tourism ?

Name any two. lakes of India that attract the tourists.
What are the main attractions of the tourist place Kaziranga’?
What are the main functions of the M.T.D.C. ?

What are the main attractions of the tourist place ‘Bhandardara’?

State any two effects of foreign tourists on the indigenous culture:

What do you mean by the economic multiplier effect of tourism ?

P.T.O.
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(12) Name any two medias through which the tourist place can be
advertlsed effectively.
‘(13) In which districts of Maharashtra the tourist places
‘Mahabaleshwar’ and ‘Pandharpur’ are located ?
2. Write notes in about 50 words each (any two) : [10]
(1)  Sports Centres of India.
(2) Advantages of Motor transport.
(38) Impact of tourism on government revenues.
(4) Tourism and employment generation.
3. Answer the following questions in about 150 words each (any two) : [20]
(1) Write a note on the domestic tourists and foreign tourists.
(2) Explain the various factors affecting the choice of the mode of
transport.
(3) Discuss the tourism planning that is carried at national level.
(4)  Explain the effect of tourism on the various eco-systems.
4. Answer the following questions in about 300 words each (any two) : [30]
(1) Explain the role of geography in tourism.
(2) Explain the role of Air-transport in tourism.
(8) Describe the social and cultural impacts of tourism.,
(4)  Give a geographical account of the tourist place, ‘Ganpatipule’,

2
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2. uﬁﬁwﬁsomﬁmm(aﬁ“ﬁéﬁw): [10]
(1) 9Rddfte wier 33
(2) TR TRqEN R
(8) e W WegwEie yum.
(4 v 9 s Fafif.

3. mmmwmwwm(mm: [20]
(1) aﬂmamﬁmwmr@.
2) memwﬁaﬁmv&wmmwﬁﬁﬁumwm.

4. WWWW%OWWW(WW): [30]
D) et werde i wse . |
@ T e v i e g
(®) T Wt @ Wk wRom a
4 ‘wq?ﬁgé'muﬁammﬂﬂﬂﬂfeﬁﬁqahm
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GEOGRAPHY (G-3)

(Gg-310 : Resources and Environment)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map-stencils is allowed.

1. Answer the following questions in about 20 words each (any ten) : [20]

(D
(2)
3)
4)
(5)
(6)
(7
(8)
9
(10)
(11)

[3601]-340

Write any two components of resources.

Whaf is meant by biotic resources ?

Mention any two examples of exhaustible energy resources.
Name any four species of trees from coniferous forest.
Write any two factors affecting the sex ratio.

Write any fwo names of mineral oil-fields in India.

Define the cultural environment.

Write any two names of secondary consumers.

Mention any fwo marine eco-systems.

Mention any two preventive measures of air pollution.

Define noise pollution.

5 P.T.O.
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(12) What is Environmental Impact Assessment ?
(13) Write any two effects of Global Warming.
2. 'Write notes in about 50 words each (any two) : [10]
(1)  Significance of biotic resources,
(2) Population as a resource.
(3) Depletion of ozone layer.
(4)  Effects of noise pollution.
3.  Answer the following questions in about 150 words each (any two) : [20]
(1) Describe the environmental significance of energy resources.
(2)  Define the eco-system. Explain in detail the mountain eco-system.
(3)  “Environmental Impact Assessment is a need of time.” Explain.
(4) Describe the causes and effects of acid rain.
4.  Answer the following questions in about 800 words each (any two) : [30]
(1)  Classify the resources and give an account of non-renewable
resources.
(2)  Explain the causes of deforestation and write the measures to
- conserve forest resources.
(3) Classify the eco-systems and describe any one type in detail.
(4) Explain the causes and effects of water pollution.

6
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(D
(2)
3
4)
(5)
(6)
(7
(8)
9
(10)
(11)
(12)
(13)
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2. TR AR 50 Ieaid oW fewl (MU @F) [10]
1) Sfgw aFERY T
(2) ODHEE TH WETHE
3 oWEN W .
@) @ g R,

8. WOI® WAl Y gAR 150 TE SW fom (RRE @) [20]
1) S§ weTERY wiaeity Tee o .
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Total No. of Questions—4+4] [Total No. of Printed Pages—S8

[3601]-341

T.Y. B.A. EXAMINATION, 2009
GEOGRAPHY (S-3)
(Gg-320 : Geography of India)

(2004 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams and sketches wherever necessary.

(fv) Use of map stencils is allowed.

1. Answer the following questions in about 20 words each (any

ten) :

(D
(2)
(3)
(4)
(5)
(6)
(7)
(8)
9
(10)
(11)
(12)
(13)

| [20]
Write the relative location of India.

Write the names of the sub-ranges of the Himalayas.

Give the names of major west flowing rivers of India.
Define Monsoon.

Give major black cotton soil regions in India.

Write any four types of forest in India.

Give the types of coal.

What are the institutional factors of Indian agriculture ?
Give the ecological importance of Green Revolution.

Write any four locational factors of Iron and Steel Industries.
What is Urbanisation ?

Name four important international airports in India.

Give major oil producing regions of India.

P.T.O.



2.  Write notes on the following in about 50 words each (any
two) : ' [10]
(1)  Geographical location of India.
(2)  Floods in India.
| (3) Atomic power projects in India.

(4) Problems of Urbanisation.

3. Answer the following questions in about 150 words each (any
two) : . [20]
(1)  Describe the Krishna river system. |
(2)  Write the causes and effects of deforestation in India.
(3) Expl‘ain the developments in communication and its impact on
| Indian economy.

(4)  Explain the significance of dry farming in India.

4, Answer thg following questions in about 300 words each (any
two) [30]
(1)  Mention the major physiographic divisions of India and describe
the coastal regions and Islands.
(2) State the types of soil and describe their distribution in
India.
(3)  Describe the development and distribution of sugar industries in
India.

(4) Give an account of agricultural regionalization in India.

[3601]-341 2
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1, WWWWNWWW(WW): [20]
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(4) W ST .
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2. WS AR 50 i few fow (FvRE @F) [10]
(1) YRa= d9rifes @M.
(2) YRante R
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3, woe WA YOw gER 150 TS W foR (FUEE gH) ;o [20]
(1) Foom F&t yome FoiH &
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(4) YNAde wREarR I e fwe w3
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(Gg-320 : Fundamentals of Geographical)

Information System (GIS)

Time : Three Hours

N.B. :— (i) All questions arc compulsory.

(1)

Maximum Marks : 80

Figures to the right indicate full marks.

(izi) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map stencils is allowed. -

1. Answer the following questions in about 20 words each (any

ten)
(1)
(2)
(3)
(4)
(5)
(6)
(7)
(8)
9)
(10)
(11)
(12)
(13)

[3601]-341

What is projection ?

Define the term ‘topology’.
What is layer based approach ?
Give the full form of LIDAR.
Define supervised classification.
What is buffering ?

Define swath.

Define the term ‘photogrammetry’.
Give the types of queries.
Define polar orbit.

What is DN value ?

What is meant by passive sensors ?

Give any two names of GIS software.

5

[20]
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2,
(1)
(2)
(3)
(4)
3.
two)
(1)
(2)
- (3)
(4)
4.
two)
(1)

(2)

(3)

(4)

[3601]-341

Write short notes in about 50 words each (any two) : [10]

Primary and secondary data.-
Active sensors.

Radar.

Topology.

Answer the following questions in about 150 words each (any

[20]
Explain the spatial ahd non-spatial data.
Give the properties of raster and vector data models.
Write information about Landsat Satellite Programme.

What do you mean by sensors and platforms ? Give its

types.

~ Answer the following questions in about 300 words each (any

[30]
What is image rectification ? Explain different techniques of image
rectification.
Discuss the elements of visual interpretation of aerial
photographs.
Explain in detail the process of supervised classification in image
processing.

What is overlay ? Explain types of overlays in GIS.

6



(WS wUia)

A% : d9 am ‘ TeRUT TUT : 80
T — () Wd WA WETaF omd.

i) IvEIDEls ofF qof o g3ifaam.
(iii)zﬁww%mvﬁwmawﬂm.
(iv) RN RFFT IWUEE WaT e,

1.. WWWWZOWWW(WW): [20]

(1)
(2)
(3)
(4)
(5)
(6)
(7)
(8)
9

Y WU w7

‘TfaRA’ (Topology) W3t =amem .
W MYRIG gl o &1 2
LIDAR = gof &9 €.

wafe@ afferomsht = .

& YIT TR 0 WU w7

9 (Swath)—sarean =

‘Sifqatdt’ W E@3= = .

Y9 (Queries) fafgy w&r =,

(10) Yoila yAu w&=f =rem @

(11) /M FH% §od (DN Value) =S F ?

(12) sifearfte d9gs =uS #9 2

(13) @ @ . o wE. G (Software) T AL

2. WIH AR 50 i@ A fow (FUEE @) [10]

(1)
(2)
(3)
(4)

wYfie, 3 gEm wieE.
TER (Radar).
WHfaT (Topology).
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3, wFe WA g guR 150 e SW fow (e W) :o (20
(1) SoFTe 9 AR A B HE 7
) sk e (Raster data) 3 G FETR (Vector data) 413 e
.
(3) ovede (Landsat) SUUE SUsmATH Hifedt fo.
(4) TIF (Sensors) d @HH (Platform) ol ®E ? @ fafay g

7.

4 @FE WEEE Y@ AR 300 T SWfoR (HURE &) (30]

(1) 9 gamon (Image rectification) TS &1 7 gi GURUTEE! Ao
s fafay a3 T &3

(9) o oA g5 auH-areAre (Visual interpretation) fafaw PECaL|
== H.

(3) whmn WiwIde (Image processing) Tdafe afiumel (Superwised
classification) T&d Ffo&R TR &

(4) SERY (Overlay) TS @ 7 S 7. TE. Wefte SR fafqy

YHaR W il

[3601]-341 8



Total No. of Questions—7] {Total No. of Printed Pages—2

' [3601]-342
T.Y. B.A. EXAMINATION, 2009
MUSIC (General-8)
e e
~ (OLD & NEW COURSE)
% : 1 T 30 TR THOT T ;20

TEW — () 10 WA A o
@) @fEd v e e dfew sdtT ww oweet s de
S W WR WA Qe

1 O st R Tt At B g T e shaes s
wifeulag . (5]

2, Wﬁmﬁmaﬁﬁﬁw@wmﬁt@mmmﬁaﬁam,
aﬁﬂg,wgmag%a | (5]

3. ff wiide qren staden P we qeet W fom o
. | [5]

4. AW W (W dW) 5]
(1) wiae sfeEg = woR
2) gs-sre-fax ww
3 falam-sifaulg .
4) T sl

5  dewEm wfed fou (wm @) [5]
(1) wiflaren ot fawt spemfis PR

P.T.O.



(2) WM, I, WHE
(2 AEFHTAS H"i!ﬁ
(4) DG ugdET uglar

6. OERIE] FVERE U@ FOHRE Giffes wd fae wq (5]
(1) 4. sfimgq S
(2) sl SwaE S
(3 3 fafom =i

7.  @delEm Had gar favaer framn few 5]
(1) a9 snyfre duiter Iyl
(2) g : ts IERE T
(3) i enfor e,
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[3601]-343
T.Y. B.A. EXAMINATION, 2009
MUSIC (@) foriw
S-3 : wWE EA
(OLD & NEW COURSE)
d% : 1 9w 30 fafe WHUT T : 20

N :— (1) 1@ W AtEE e |
(i) el WA HAE WE SAfuE JEUd Wel WSl SIvRE e
I THY |AR WA e

1. AR fear med wdwl weraEl wwr e foofaa afey/ae v
wfoqieg & [5]

2, TEN wrel frar yien atel e et et "yel gmeta mfed

wfawr fos. | [5]
3, wdolEl BUeTd wE Ao e w0 5

(1) HE—HSH Sl

(2) Sa—YsIe

(8) FUIO—Y&AS
(4) e (JE0) —E .

4, duw AW (THU @) (5]
(1) A
2) A&

(8) dfuyefEa I
(4) gfa-wr fauem.

P.T.O.



derm wiedt fogr (o )
(1) wEfRTEE a3t

@ e e

3) fosfaa-mw-ga =4

(4) AT

OOt HIUEE UaT HoOmNE stea-aid foar

(1) TRt s

(2) TEE T
(8) o TR

TSeth! HIUER e o fowwm few
(1) ke Wil

(2) TERo wia g ggd

(8) HSHIHI-HITERR.
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[3601]-344
T.Y. B.A. EXAMINATION, 2009
MUSIC (@ifte) foriw
S-4 : TR TEA
(OLD & NEW COURSE)
A : 1 T 30 M, | . qEgun YO o: 20

AT — () 190 WA AFEE TR |
(i) StEE WA wuie 1 s A TEl WANS! HIUaE @ WE
Y THY AR WA Tedn

1. feiRa fear ood aiwl v war aTeEt faofsa sfeae s
wfodtag & [5]

2, uefagm feRaT TIeREATTl AT HIUCITE! WeRt FM=T |YUl e Afedt enfi
faer fow. ' [5]

3, UOOUE! SR Q@ dosieEl qedl A [5]
(1) FAO—IMSHAS
(2) TUwndo—IAde.

4, U W (U P¥) : [5]
(1) S e
2) ks weds a@
(3) wild TR
(4) Wi Yaredidl STFHL

5, dew@ i fow (TRw g9 | [5]
(1) wia enfor wifed
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(2 Gita wHigy
(38) Ui WRAERA
(4) Gia fyode waE

6. TOGIH WMl wiaue wiifte wE fmre ww

(1) 49 T&ING HEE
(2) 3mn HHS

@) d wmsE @

(4) TSR fEEE SERwT.

7. w@otH g fasaeR fawmm few
(1) wia onfn sygumErn g,
(2) wiaa R few ygdw @@
(8) Wiwd &9 ®UE i fawam @

[3601]-344 .2
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[3601]-345
T.Y. BA. EXAMINATION, 2009
PUBLIC ADMINISTRATION
General Paper III
(Local Self-Government in India)

(2004 PATTERN)

Time : Three Hours _ Maximum Marks : 80

N.B. —

(i) All questions are compulsory.

(z1) Figures to the right indicate full marks.

1. Answer any ten questions (in 20 words each) : [20]

(1)
(2)
3)
(4)

(5)
(6)
(7)
(8
9
(10)
(11)
(12)
(13)

What is Local Self-Government ?
State any two features of Local Government.
State the two demerits of Local Self-Government.
When did Panchayat Raj come into existence in
Maharashtra ?
Write four functions of Gram Panchayat.
Who is the Chief Executive of Municipal Corporation ?
Who is the President of Cantonment Board ?
tate the importance of Gram Sabha.
State two probiems of Urbanisation.
State the sources of revenue of Panchayat Samiti.
Who was the pioneer of Local Self-Government System ?
State the importance of 73rd Amendment.
What is Gram Sabha ?
P.T.O.



2. Answer any two questions (in 50 words each) : [10]
(1) Role of Sarpanch.
(2) Importance of Local Self-Government.
(3) Power of Collector.

(4) Composition of Panchayat Samiti.

3. Answer any two questions (in 150 words each) : (20]
(1) Discuss the functions of Local Self-Government.
(2) Discuss the problem of Local Self-Government.
(3) State the nature of Gram Vikas Development.
(4) Explain the role of Mayor in Municipal Corporation.

4. Answer any two questions (in 300 words each) : | [30]
(1) Discuss the composition, powers and functions of Zilla
Parishad.
(2) Explain the role and functions of Local Self-Government.
(3) Discuss the problems of Metropolitan cities.

(4) Explain the composition, powers and functions of Cantonment

Board.
(W T IR) |
4@ : W AW THOT T : 80
o :— () W4 WA defan smewaw I
(i) IoEwEle S QU YU <zifodm.
1.  HIUERE qH TAR IW UAR 20 <@ fow [20]

(1) e @TET BN ®™ ?
[3601]-345 2
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(2) e wRTEEEl #wvRE am At g
(8) e WA HvAe @9 Y |
(4)Wmﬁmqawmm&ﬁaa@?
(5) UMYEERE WR M fom.

(6) WRMRUfGH=I FEAFESHR HIU FEAl ?
(7) V& fEufeher Ay v A ?
(8) UMM HEA G

9) RISl AN WHE 9.

(10) voEEafT=l SOl Wem .

(11) e WEIETYSHE SFE B A ?
(12) 739 W gE&IY He WL

(13) TwHEW WOS ®E 7

2, HUER G WA N UAH! 50 <@ TR [10]
(1) =t i
(2) wafH® RIEAN HES.
(3) wHHRW IAHER.
(4) UeRd Sl

3, 'ﬁwémwvﬁsﬁimwommz [20]
D Wifeh RTEATe wEE wE= %
(2) wWfe @I gREE 99 H
(3) Uiy fawm fawrma @&y Gim.
(4) WRMRUfeha AEMNREN iR T @
[3601]-345 | 3 P.T.O.



4, DUERE AN W SR YR 300 T fomr

(1)
(2)
(3)
4)

[3601]-345

face uRwed) @, MR 9 @ A ==l w0
ol TR SHEEl | &3
Fore el A, AfER 9 wH TR w9
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[3601]-346
T.Y. B.A. EXAMINATION, 2009
PUBLIC ADMINISTRATION
Special Paper III
(Development Administration)

(2004 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :—

(i) All questions are compulsory.

(it) Figures to the right indicate full marks.

1. Answer any ten questions (in 20 words each) : [20]
(1) What is Development Administration ?
(2) Define Bureaucracy.
(3) Structure of National Development Council.
(4) Two functions of Voluntary Organisation.
(6) Who is administrative head of the development at State
level ?
(6) Name any two development schemes implemented by Manmohan
| Singh Go‘;rernment.
(7) Two problems of Indian Agriculture.
(8) Two objectives of Planning Commission.
9 Namé the two voluntary agencies.

(10) What is District Planning ?

P.T.0O.
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(11) The role of Education in development.
(12) Meaning of Community Development.
(13) Two features of Agricultufal development.
2. Answer any two questions (in 50 words each) : [10]
(1) The forms of Bureaucracy.
(2) Organization of Human Resources Development.
(3) Functions of Voluntary Organization.
(4) Role of Co-operative Credit Societies.
8. Answer any two questions (in 150 words each) : [20]
(1) Discuss the Development Policy in Community Development.
(2) Explain the Machinery of Development.
(3) Explain the organisational infrastructure to achieve development
in the field of education.
(4) Discuss the problems of agricultural administration in India.
4. Answer any two questions (in 500 words each) : [30]
(1) What are the essential elements of the administration for
Development ? |
(2) What is the role of Community Development in the context
of National development ?
(3) Discuss the role of Non-official and Voluntary Organization in
the field of development administration.
(4) Discuss the changing role of Bureaucracy in development

administration.



(W wiav)

@ : d aw : ‘ THUT T : 80
g — (i) W4 WA Oefan sewEs TR
(i) IwEe i qul U <ifadm.

1. SRS T WA Wed (FAS 20 TK|) [20]
(1) ‘fIEm wWE' wmIS s ?
(2) THQUEE @red . |
3) U< fawm 9Re wEv.
(4) wWIQEt GHeAEt A FM.
(5) TR UGk fam™ FEHIH 78 WHE H0 R ?
(6) WA WEHRA TEfASedl HUAE g fawm demE g
ez
(7)  9RdE = A owEEL
8) fricA deaEl dF 3fiR W=+
9) & WIS "Rl M.
(10) foem A =S %@ ?
(11) fogor=t fowmde i
(12) unfdles fammmmen d s .
(13) wfy fowmet g AR wm.

2, HUAE A WA digal (VAW 50 IEE) [10]
(1) HRER YHR.
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(2) TFYT TEANTH HAOdrEl g
(3) WAdEl eyl &M
(4) TEHR qaugrEl  YfHenl

3, ®UNE aF WA Hed (YEE 150 TRE) [20]
1) wdE fawmde faem drorsi W= R
(2) fowm IFon W 6
@) def S faem qrd wwaEd e Seoed TEd WeeT
fag=a &
4) vRadle S e g w9 %]

4, IR @ WA Weal (WAl 500 =) [30]
1) fowm WIETED TEYE d@ o ?
_(2)@%%@%%%%%%?
3) fR W dA § wEdd geen e faw Wi e
o= &
@) fopE e AeQE aqed | qfHes wwl w5
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[3601]-347
T.Y. B.A. EXAMINATION, 2009
PUBLIC ADMINISTRATION
Special Paper IV
(Administrative Thinkers)

(2004 PATTERN)

Time : Three Hours : Maximum Marks : 80

N.B. :—

(i)  All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any ften questions (20 words each) : [20]
(1)  Name the writings of Kautilya.
(2) Name the writings of Frederick Taylor.
(3) Who wrote the book ‘A Theory of Administration in State’ ?
(4)  Who originated the term ‘Bureaucracy’ ?
(5) What is ‘Socialism’ according to Pandit Nehru ?
(6) Who wrote the book ‘Administrative Behaviour ?
(7)  What is hierarchy ?
(8) What is ‘Organisation’ according to Chester Barnard ?
(9)  Who wrote the book ‘Dynamic Management’.

(10) State the meaning of Communication.

P.T.O.



(11) What is ‘Scientific Management’ according to Frederick Taylor ?
(12) What is Communication ?

(13) What is Planning ?

2. Answer any two questions (50 words each) : | [10]
(1) Explain Kautilya’s views on Administration.
(2) Explain Nehru’s idea of Planning.
(3) Max Weber's views on Authority.

(4) Discuss Herbert Simon’s Model of Decision-Making.

3. Answer any fwo questions (150 words each) : [20]
(1) Explain Kautilya’s views on State.
(2) Explain ‘Prismatic Society’ of Fred Riggs.
(3) Mary Parker Follet’s views on ‘Dynamic Management’.

(4) Discuss Abraham Maslow contribution to the development of

Administrative Thought.

4. - Answer any two questions (300 words each) : [30]
(1) Examine Frederick Taylor’s views on Scientific Management.
(2) Explain Nehru’s views on Administration and Civil Services.
(3) Explain Herbert Simon’s views on Process of Communrication.

(4) Describe Kautilya’s views on State and Administration.

[3601]-347 2
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(1)
@
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@
)
6)
(7)
®)
€)
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(11)
(12)
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Afecr a=n o T W

weller 2o ai=a dureh A9 @i

‘A et oM SfefifRIE T W @ Uy @i fofkar ?
‘MHQTE A Feheur=l I HIO 2

Hfed TeE AeN WA ‘OuSEOR’ WUN w2
‘mEhE wdq’ w9 won fofser 2
AYFRERRW "N FE ?

T TS WO ‘Uued’ WUN %™ ?

il e’ w1 dg won fofsm 2
e e |

wele ot W ‘T aRTR! WU wE 2
Y WS w7

(REIEEERAUEEE I
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2. HUGE gF WAl W WAl 50 T fowr [10]
1) e WREfaE giedd wWe w1
(2) "eew frem gedt foer o= &
3) T AW AR AfumEsEHt 7
@) T gmwren fofa wfwden geue ==l &

3. wUE g WA W TS 150 =@ R [20]
(1) WWWWW
2) e fos 9@ ‘guUREl AN WR &
(3) W T wle dw ‘Miwfle sgewadR’ gadt wa.
(4) wHsE faaren fTemde sEEd AR A=A ANEEEl 99 w1

4, HURE DT ARG W TR 300 IS @ o [30]
1) T e el Befw YR den W whew ww.
(2) U "gEdl WIEH 9 SEEodeH! gd W .
@) i W Sge R m e
@) T et e ®feeard W aui %
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[3601]-348
T.Y. B.AA. EXAMINATION, 2009
PSYCHOLOGY
General Paper III
(Applied Psychology)
(2004 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 20 words each (any ten) : [20]
(1) What is Counselling ?
(2) Define Applied Psychology.
(3) Define Stress.
(4) What is Community Mental Health ?
(5) What is Brainwashing Technique ?
(6) Define the concept of Forensic Psychology.
(7) What is Marital Adjustment ?
(8) Who is the father of T.A. ?
(9) Enlist the causes of Stress.
(10) What is Political Socialization ?
(11) What is Loneliness ?

P.T.O.
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(12) Enlist the problems in educational fields.
(13) What is Sports Psychology ?.
2. Answer in 50 words each (any fwo) : [10]
(1) Write a note on effective parenting.
(2) Write on the role of organization psychologists.
(3) Explain the relationship between Personality and Sport.
(4) Write on Voting behaviour.
3. Answer in 150 words each (any two) : , [20]
(1) Describe various behavioural modification techniques.
(2) Discuss the role of emotion and motivation in sport.
(3) Explain the psychological dimensions in women’s life.
(4) Explain the types and problems of Physically Handicapped.
4. Answer in 800 words each (any two) : - [30] |
(1) Explain the importance of rumour, space travel problems and
adjustment in military living.
(2) State the purpose and goals of Counselling. Discuss the various
techniques of Counselling.
(3) Explain the concept of Gerentology. Discuss various physical,
cognitive and personality changes in old age.
(4) Explain the nature, scope and development of Health

Psychology.



(WS Fi)
s : 4 T . THT TOT : 80
o :— () Wd WA RIS e
(i) SoetESle sw o o Sifedr.
(i) Hewiwdt Y@ WS WUl GEl.

1. @muﬂﬁuﬁﬁzowsﬁﬁa(mm): [20]
(1) WA WS wE ?
(2) SUAfSd AFERTSIE e .
(3) dUTEt ST 6.
(4) TefygE AFfas sE "oe &Y ?
(5) ufass yaed 9 ®"ON wE ?
(6) —IHOTF HHWNEA Hheqddl A& l €l
(7) Qafews WIRENHA WIS ®E 7
(8) onfwa fewowan (few) fuame o oM ?
(9) <M= HRUNE ARE .
(10) Teifepa wEfSRiol RS &E ?
(11) THUWM WS &A ?
(12) Dafors dowe o=t A @
(13) BPY AT BN HE 7

2. wPe WAEl YA 50 I W fow (FRE €F) [10]
(1) g diowa der fou fo
(2) €HeA AARTEERE e qeR ot
(3) N 9 Wos AMte WaAY TR HA
(4) ‘wagE wd’ AR fes
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3.  wde v Y@ 150 | Swfew (FoRd @) [20]

(1)
(2)
(3)
(4)

fadty ‘adaguR @R’ Ao B

Yedle wem 9 don g e A wE o w7
Sharen Stearie arEmeE TR TR w3
Ml ST YR AU TS T

4 GO A YSE 800 IEE S fem (FOnE ) [30]

(1)

(2)
(3)

(4)
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(Industrial and Organizaﬁonal Psychology)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 20 words each (any ten) : [20]

(1)

Define organizational behaviour.

(2) Define intellectual ability.
(3) Define values.
(4) Define emotions.
(5) State five basic dimensions that underlie personality [Big five
model].
(6) State any two theories of motivation.
(7)  What is leadership style ?
(8) Define conflict.
(9) What are the uses of performance evaluation ?
(10) What is paired comparison method ?
(11) What is motor ability test ?
(12) . Define attitudes.
(13) Define stress.
2. Answer in 50 words each (any two) : [10]
(1) Explain the key elements in organizational behaviour.
(2) Explain various physical abilities.
[3601]-348 5 P.T.O.



(3) Explain various types of values.

(4) Explain GAS model of stress.

8. Answer in 150 words each (any two) : [20]
(1) Explain Maslow’s theory of motivation.
(2) Describe the effects of stress.
(8) Discuss Path-goal Theory of Leadership.
(4) Explain the relationship between Emotional Intelligence (EI)

and Job Performance.

4, Answer in 300 words each (any two) : [30]
(1) Describe the functions of a manager.
(2) Explain the effects of job satisfaction on performance.
(3) Discuss non-rating evaluation methods.

(4) Explain special training needs.

(TS wiw)
q% : W AW THOT T : 80
AN :— () Wd WA a3
(i) Sofowele &® O 0 Rifedm.
(i) TG U@ TSt WU e

1. Ttk HUAR @ WA W TdH! 20 =@ TR [20]
(1) UEeARHE aEl SR &l
(2) <ifge smast =rEm w1
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(3) Youl = A

(4) vE-El A H.

(5) IRl el soeew arer geyd aifadt @im (Jequeees
UEY).

(6) WO wdl A fasl@ @

(7) WE & "™ wE ?

(8) Wudi=t =Rl HAL

(9) FEdT=1 R WM @ ?

(10) gE-goTl Ugdl WIS A ?

(11) SHR&H-FA FEU BUS ®E 7

(12) el =mew @

(13) dqomT= T FJ.

4  COOYH FBUEE G WA SR TR 50 T fow [10]
(1) UHRAeE WHMT TEER Yeh R %
(2) fafay wRdw swa w= @
(3) TR fafay yeR wWe ww
(4) WA WS GOHU WEY (GAS Model) ¥R .

3. W 150 IRW IW fow (dRd @) [20]
(1) wSn Won fagia e @
(2) wumR ofum e wq
(3) Agwren eg-wr (Path-goal) fygrst ==f .
(4) vt gfgam sufr & fddarie g6y ws w5
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4. TH® WA YAS 300 IRM SN fow (FvRE dW) [30]
(1)Wamﬁavhm_
(2) SEEMYAR HRMAEdEER AUR IO e &
(3) oI-uefwadn qodihd dgdidt <€ .
(4) T giigo WS wWR w5

[3601]-348 8



Total No. of Questions—4] [Total No. of Printed Pages—4
[3601]-349
T.Y.B.A. EXAMINATION, 2009
PSYCHOLOGY
(S-3 : Research Methodology and Psychological Testing)

(2004 PATTERN)

Time : Three Hours Maximum Marks : 80
N.B. — (i) All question's are compulsory.

(zi) Figures to the right indicate full marks.

1. Answer the following in about 20 words each (any ten) : [20]
(1) Write any two criteria of Science.
(2) What is null hypothesis ?
(3) Define probability.
(4) Define psychological test.
(56) State the types of variance.
(6) What is Research Proposal ?
(7) Who proposed the concept ‘Mental Level or Mental Age’ ?
(8) Write the full form of TAM.
(9) State the factors of social intelligence.
(10) Who published draw a man test for Indian children ?
(11) Write any two characteristics of extrovert.
(12) What is adjustment ? |
(13) Rewrite the following book reference in standard format :
Essentials of Psychological Testing, Harper and Row, 1970, New

York, Cronbatch L.dJ.
P.T.O.



2. Answer the following in about 50 words each (any two) : [10]
(1) Explain the purposes of research design.
(2) Explain the style of writing research report.
(3) State the recent trends of intelligence.

(4) Explain Rotter’s Locus of control test.

3. Answer the following in about 150 words each (any two) : [20]
(1) Describe the quasi-experimental design.
(2) Explain the steps in research report writing.

(3) What is emotional intelligence ? Discuss the competencies involved

in emotional intelligence.

(4) Describe the dimensions of attitude.

4. Answer the following in about 800 words each (any two) : [30]
(1) What is problem statement ? Explain the criteria of scientific
problem formulation and sources of stating a problem.
(2) Discuss the various types of probability sampling.
| (8) Define Aptitude. Describe General Aptitude Test Battery (GATB)

(4) Describe the projective techniques of personality assessment.

L (S w0
¥4 : f W | THOT T : 80
O :— () W& WA defm srmas o
| (i) IEwST sim o U i
(i) WRWHE W@ IUSt WAufR gere.

1. EO® WARE Y@ 9ERY 20 e SWfes (FHRE @) [20]
(1) &R FvRd aF fEy fom
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(2) AN IYTH BN FH ?
(3) WAt SAEA <.
(4) TAWTSE =it R &l .
(5) WERUIE WHR AT
(6) TEHA U WUS ®HE ?
(1) “'wefes ued/aAfes 9@’ @ decewT wOR miEdt 2
8 IAM = Y ®v fomn
9) wmifsis g TWeF 9.
(10) ATAFA T WRAT AORES B YERE DA ?
A1) sfefent wodd 9w v (oww) fow.
(12) WRENSH WIS ®E ?
(13) e J9 e ymmmgd Efdfed w0
Essentials of Psychological Testing, Harper and Row, 1970, New
York, Cronbatch, L.J.

2. T WA TEE! WERY 50 I SWfee (FORE @R : [10)
(1) wlEd swerie ¥ wWe &
(2) Wiw R/AS FeA-IS W F.
(3) Hgifawas suyfw Tewhed @i
@) IR == A &5 =m0

3. @aﬁ—@mﬁﬁuﬁaﬁmm 150 715 S fomr (FoRE @9) : [20]
(1) d9a wrEifes smavie 9o .
[3601]-349 3 P.T.O.



(2) T STREE® PTG T WS .

8) wat® gl ®US wE ? WEtR qEiq Sadd S wemast =l
F.

(4) fexten ufifidia oo @

4. TS WA T WHURY 300 T=id SR fow (FORG @) : [30]

(1) woen fourm =N @ ? TERG 9N weve few e
free=l s TR w5

(2) dueEa gW wgqren fafay EEQRE I i I

(3) sAfwemdsl sarem fom. WM sifwemar =it §=R (GATB) el
.

(4) Afoad "N YRU @S qUH @
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Total No. of Questions—4] [Total No. of Printed Pages—4

[3601]-350
T.Y. B.A. EXAMINATION, 2009
GANDHIAN THOUGHT
General Paper III
(Textual Study)
(2004 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1.  Answer in one or two sentences or in 20 words each (any ten): [20]

(1)
2)
3

4)
(56)
(6)
(7
(8)
(9
(10)
(11)

(12)
(13)

Explain the meaning of the term ‘Samajwada’.

What is meant by ‘Wardha Yojana’ ?

State any two reasons for which Ambedkar criticized traditional

Hindu culture. _

What is meant by Capitalism ?

What is meant by self-sufficient village ?

List any two objectives of education according to Gandhiji.
Define Pragmatism. ‘

Define Sarvodaya.

State Gandhiji’s principle of Swadeshi.

What is meant by Anasakti according to Vincba ?

State any two reasons for which Gandhiji ecriticized
industrialization.

State the basic theme of Marxism for social change.

How does Gandhiji insist manual aspect of education ?

P.T.O.



2.
(1)
(2)
3)
(4)
3.
(1)
(2)
(3)
(4)
4,

D)

(2)

3)

4)

[3601]-350

Answer in 5 or 6 sentences or in 50 words each (any two) : [10]

Explain Gandhiji’s pragmatic views regarding education.
Write a note on Vinoba’s idea of Narishakti.

Explain Dada Dharmadhikari’s views on Man-Women
Relationship.

Bring out the attributes of Tagore’s thought on cducation.

Answer in 25 to 80 sentences or in 200 words each (any two) : [20]

Explain and evaluate the spiritual basis of Gandhiji’s philosophy
of education. |

Discuss the relevance of Bhoodan Movement in present

- context.

Explain Dr. Ambedkar’s views on ‘Anihilation of untouchability’.

Explain and examine Javadekar’s views on Socialism.

Answer in 60 to 70 sentence or in 500 words each (any two) : [30]

Explain and bring out the significance of Gandhiji’s idea of
craft-centred education.

Explain why and how does Dada Dharmadhikari want to establish
Sarvodayi Samajwada.

Explain the controvercy between Gandhi and Ambedkar over
the idea of social reconstruction.

“Mother-tongue is only the effective medium of education:. Explain

fully this view advocated by Gandhiji.

2



A% : WiF T TEHT IUT : 80
I — () W WA SeR¥E smed.

(ii) SoEiEEle % qU o <Fifaar.

(i) ERWEIE T TUSH WUfhl verEl.

1. Goe WA Y& T R 9 o fea 20 3@ s® forr (FoRd
<@ [20]
(1) ‘ousER’ @ gaa g wWR w9
(2) aul A WO wg ?

(3) feg wmifsw vgdial STadsit ®dea Aedl | FWO T
(4) WESTRTE WU & ?

(5) wWEAPER WIS %E ?

(6) e wayHm freomsl wivdE g s

(7) hod YHIvERTE Sl 9.

(8) walcAEl WA W

(9) wWdS Wy T @

(10) fole=m m TR "N ®E 2

(11) weisiR ofeifieuer Sden d9m=l @\ FRU 9.
(12) weRfaRET aSaREdfasi=t  gfrwr gm.

(13) feom=a ToaeuEeTs Weue gqds metst $9 e ?

2. TP WA Tdw 5 fear 6 e fRer 50 TSm W ol (FURE
) . [10]
(1) st fogonfasei=n woymmaaE! oelEn T #1.
(2) fader=n ‘e @ wewder v fewm
(3) WH-Ie8 HeUEEd SRI YRR gele WR H.
(4) <ren foeufases faasl AfitRl w= w5
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3. wEe WAt y@wt 25 @ 30 IrFE feen 200 =W W fow (FoEE
) [20]
(1) Tﬁ%ﬂﬁwﬁwwﬁmmfaﬁmﬁwmwmmm
H.

2) waferfen sMTR sER wedden SugmRGEd =i w,
@)  orepFw fervEEd e sieewtel gRieN W @
(4)  ESHTE ASERESH g W we @l jeE

4.  TOC Wi T 60 ¥ 70 aREE TR 500 T SR foE (R
) : | [30]
1) wEemERst fraveee MR aistew e Tee ww w1,
(2) WWWWWWGHEWWM?
@) wmis gHEAwee MH-siveeR e Tadeives WEem 4.
@) g ¥ e gt mem 3 - ageeoTass gl
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Total No. of Questions—A4] [Total No. of Printed Pages—3
[3601]-351
T.Y. BA. EXAMINATION, 2009 |
YOGAVIDYA (G-3)
(Vyavaharik Yog)
(2004 PATTERN)
Time : Two Hours » Maximum Marks : 40
N.B. :— (i) All questions are compulsory.

(i) Figures to the right indicate full marks. .

1.  Attempt any five questions in fwo sentences each :A [10]
(1) Which health get disturbs by frustration ?
(2) Which Yogasadhana is used to control the Klesh ?
(3) State the definition of Asana according to Yogadarshan.
(4)  Which term in used for Exhalation in Pranayama ?
(5) In which book is Sadhanpad introduced ?
(6) What is final objective of Hathayoga ?
(7) State the two names of Shuddhikriya.

2. Attempt any one question in five or six sentences : (5]
(1) State the relation between Play and Yoga.
(2) State Niyama.

3. Attempt any one question in fwenty to twenty-five sentences : [10]
(1) Discuss how to protect the health by Yoga.
(2) State the application of Yoga to higher level persons.
P.T.O.



4.  Attempt any one question in detail : [15]

(1)  Discuss the concept of physical health. Discuss, how Yoga helps

to develop physical health.

(2) Explain the Yoga and social problems.

(WS ')
% : 4 aW TWEHTT TOT : 40
LGl — () wd W gefm omEs o
(ii) SSERElS o TU TEifFan.

1. Tools FUEE a9 TOS TE aEE SR [10]
(1) #re fawedqe &iv wWreg fagey 2
(2) R frEv JgvarEdl wiudt A wet 2
@ IRiIgER srerl e i
(4) 99 Wew @ fRde UnTEHE % wvEE 2
(5) WYAURHEl Seow IV AN UUWE  M@eedr  ?
6) T siftm s BoR 2
(7) €= yfesa=n T@ @

2. UTPPIH! HUER TR U 9 w§ sidm s om . [5]
(1) ®e 9 A7 Irar g8y 9L

2 fr=m g
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3. weelH T wwd d 3 dedE i e @ [10]
1) W.HO. 8 R =aren | AmgR i dadd s At
@ ? == w
(2) S=wH Afysmram AR dvmer IwER Wi

4. TN FUEE THE GEER SR [15]
(1) WW@WWWWWWW
Ued BId, Wl .

(2) A onfor W wmer W w9
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Total No. of Questions—4] [Total No. of Printed Pages—4
[3601]-352

~ T.Y. B.A. EXAMINATION, 2009
HISTORY OF CIVILIZATION (1815-1945)
General Paper III
(2004 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(11) Figures to the right indicate full marks.
1. Answer the following questions in 20 words each (any ten) :
[20]
(1) State any two problems of the Vienna Congress.
(2) Explain the term ‘Era of Metternich’. |
(3) Write any two discoveries in the field of textile during the
Industrial Revolution.
(4)  Who is the author of the book ‘Poverty of Philosophy’ ?
(6) What is Nationalism ?
(6) Name any two British Colonies in India.
(7)  Explain the term ‘Imperialism’.
(8) State any two effects of the Russian Revolution of 1917.
(9)  When and where the League of Nations was founded ?
(10) State any two principles of Nazism.
(11) Name any two African countries fought against the British for
the Independence.
(12) Who was the leader of the Revolution of 1911 in China ?
(13) State any two discoveries in the field of medicine in modern
period.

2. Answer the following questions in 50 words each (any two) :

[10]
(1) Write in brief the importance of the ‘Revolution of 1830’ in
France. ‘

P.T.O.



(2) Write a short note on Adam Smith’s ‘Wealth of Natiors’
(3) State the main causes of the Great Depression of 1929.
(4) Explain the importance of the Quit India Movement.

3. Answer the following questions in 150 words each (any two) :
[20]
(1) Explain the ‘Scientific Socialism’ of Karl Marx.
(2) Examine Lincoln’s role in the American Civil War.
(3)  Describe the social condition of Italy and Germany in inter-
war period (1919-1939) Europe.
(4) Discuss the progress in the field of Atomic Research and write

its demerits.

4, Answer the following questions in 300 words each (any two) :
[30]

(1) Discuss the work of the concert of Europe and write the causes
for its fall.

(2) What was the Industrial Revolution ? Why was it started in
England first ?

(3) Describe the causes of the Russian Revolution of 1917.

(4) Discuss the causes for the failure of the League of

Nations.

(WH wia)
% : qH A THUT T : 80
AN — () WE WA SIS IR
(i) SSetwEle fw qul YU Fifed.
1. e WAl IW YIS 20 IeRid fow (ROE /@) [20]
(1) e wOT=a KvErE 89 998 g
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2 ‘deffe g @ WW W= W

(3) oieifier widmdte wUer=n 89T Fivkg &\ Iy foml

(4) ‘uiedl e frofEiwl’ @ TU=n SwE WO ?

(5) TSR RS HME ?

6) WRate wuaE |m fafen gumdi=t A= @

(7) ‘uwrEeR’ @ OHdl W %

(8) 1917 =u I THHHE U = gRom  grm.

(9) USCHETE! TYOAT wheRl ST HIS S ?

(10) ol FvdE @9 a9 9.

(11)Wmﬁﬁwmwéwaﬁvmaﬂ?wmﬁ@mmé
dl.

(12) =1 |&d 1911 =N Hid=n dl & Bd ?

(13) onyfieh wre@ilo JEd AMIG HIUGE | I |

2. WMo WAEl YW 50 I IW fowl (FUAE qF) [10]
(1) wragdie ‘1830 =N widd Hew dewd  fowl
(2) ofen fogen ‘ey o | W Tger diga fowr fea
(3) 1929 =n oMf¥e TSN YHE HRU A
(4) D& YRd TBdsd U W H

3. wde WA WS 150 [ SW fow (Fvnd dF) [20]
(1) 0 ged=w ‘Imeid ganER’ R &
2) omfeen aed gede fomtdt yffed 9080 &
(3) WEgGl TWAM=A (1919-1939), JUuNle gerst afn st grfsen
gfifeadi= aol[ &
(4) TSN e WEl S w0 o @ die fomn
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4 @de WA w300 = sw foe (oW q) [30]
(1) Wmmﬁmquﬁ%ﬁmfw
(2) delfrE Wil T @@ 2 @ YeW FoeHel k1 gE wol 7
(3) 1917 =n ®EA TSEwHEE HRO G HT

(4) mewwﬁww
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Total No. of Questions—4] [Total No. of Printed Pages—3

[3601]-353

T.Y. B.A. EXAMINATION, 2009
HOME ECONOMICS
General Paper III

(G-3 : Dynamics and Challenges of Indian Society)

(2004 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 20 words each (any ten) :

(1) Concept of social change.

(2) Define society.

(8) Concept of social conformity.
(4) Meaning of social deviation.
(5) Define modern society.

(6) Define modernisation.

(7)  Define Dowry.

(8) Concept of Divorce.

(9) Define Inter-marriage.

(10) What is Adoption ?

(11) Meaning of Women Education.
(12) What is social change process ?
(13) Define social value conflict.

2. Answer the following questions in 50 words each

(1) State the disturbance of social change.
(2) State the importance of adoption system.
(3) Explain the causes of Intermarriage.

(4) Explain the causes of Divorce.

[20]

P.T.O.

[



3. Answer the following questions in 150 words each (any two) :
. (20
(1)- Explain the role of education and technology in social change.

(2) Explain the causes of social deviation.

(3) Explain the principles of Indian family.

(4) .Explain the causes and effects of Dowry system.

4. Answer the following questions in 300 words each (any fwo) :
[30]
(1) Explain the characteristics of Modern Society.
(2) Explain the factors influencing on social change process.
(3) Explain the causes and effects of social value conflict in Indian
society.

(4) “The status of women is changing in Indian society.” Explain.

(TS T UI®)
9@ : W aH THUT TOT : 80
gaT — (i) "E T Gl Seas s
(ii) Sodleld FF o IO eFied.

1. @ WAE Yo 20 T=[ IW R (FOAE g@n o [20]

(1) wmfs dRedrr  Hehed.

(2) TS SR

(3) wmEifoh A aoAE Heheu.

(4) gmfes fageTen 4.

(5) oygfTe FHNTE STE.

(6)  smyfTeRThTOT=l  SATEA.

(7) TSurEl e

(8) HITRREN Hehedl.
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(9) oTR-foamwrt =me.

(10) TxHh WIS HE ?

(11) @it fremomen  a1ef.

(12) wmfsier 9fieds wiwar woe &1 2
(13) drifsies Hed  wedi=i e

2. WG YA YA 50 =M I TRl (RS @) [10]
(1) dmifses aftedrdie seus |
(2) <N Ugdid He 9L
(3) oNa-foamert +RO W= w0
(4) TRERRI FRO TR R

3. wWEe wAE WAl 150 I SWofesl (FRE @) :- [20]
(1) wrfss 9Redardte framr safn dommmt gfter @w &
(2) HHISE f9geT &R0 o< &
(3) WRdY AR @ TR F
(4) gergdEl &R enf uftm T .

4. O wWAE F&R 800 I=id I fow (FRE |m) [30]
(1) enyfe gomT 9fme W @,
(2) gHifSeh 9iEas gfedeR gfRom om uee o &
(3)'WWWQW@WWWWW
FI.
@) M9rdE oo forn oS seed oR.! W &
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Total No. of Questions—4+4+4] [Total No. of Printed Pages—8+4

[3601]-356
T.Y. B.AA. EXAMINATION, 2009
DEFENCE AND STRATEGIC STUDIES
D.S. G-3 (A) : India’s National Security
(2004 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. —

(i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 20 words each (any ten) : [20]

(1)
(2)
(3)
(4)
(5)
(6)
(7)
(8
9
(10)
(11)
(12)
(13)

What do you understand by National Security ?

According to George Modelski what is foreign policy ?
How many members are there of National Security Council ?
Give any two functions of Intelligence.

When and where is India conducted her first Nuclear Test?
In which year did Kashmir join to India ?

State any fwo roles of SAARC.

In which year‘ was India-China conflict fought ?

Write the long form of C.T.B.T.

Which treaty was signed in 1971 with Soviet Russia.
Between whom the Panchasheel Agreement was signed ?
Where is Diego-Garcia ?

Define civil defence.

P.T.O.



(2)
3
4)

[3601]-356

2. Answer in 50 words each (any two) : [10]
(1) State the aims and objectives of SAARC.
(2) Explaiﬁ the concept of National Security.
(83) What is Terrorism ?
(4) Explain the ‘Border security force’.
3. Answer in 150 words each (any two) : [20]
(1)  Explain in brief India-USA relations with special reférence to
Terrorism.
(2) Describe the strategic importance of Indian Ocean.
(3) Evaluate the Tibet Problem.
(4)  Explain in brief India-Pakistan relations with special reference
to Cross-Border Terrorism.
4. Answer in 300 words each (any two) : [30]
(1) Explain in detail the Nuclear Policy of India.

Evaluate the Defence Policy of India.
Describe the linkage between foreign and defence policy.

Explain in detail the Internal Security Challenges.



(W& wieR)
4@ : M A QRUT TUT : 80
QT :— () wd W Qe s s
(i) 3Eihels 3w WA g o g
(i) WA gz et et veet.

1. W& 20 7@ W forl (FoRd @) [20]
(1) wda Wi smuig s wfed s 2
(2) SIS wieewhl AN HOMER TN ORY WU @ 2
8) U e uRoky e frdt sma
4) offovas FAEl FEE @ wE @m 2
(6) WNRAM U srvawd WO HS aufn dem Yk 2
(6) FRHR YRAW Hew fadH TS ?
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o wAE 50 7= SW e (PR M) [10]

(1)
(2)
(3)
(4)

A ¥ enfur 3feR @i
TWAAR WS A 7
s forgldl wE W= &4

3. YIH 150 = IW TRl (RUEE @) e [20]

(1)
(2)
(3)
4)

TwIEEl Oy 3% YRA-IAfE Hew AR W H

i TRETNE gEiE Wed R &

fooe u@e Yoauad &

didwsie TEoEE oY I WRA-UIHEN oy Ao e
F.

4. TIF 300 <@ SN fow (PURE @) [30]

(1
(2)
3)
(4)
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D.S. G-3 (B) : India—Wars since Independence

Time : Three Hours Maximum Marks : 80

N.B. :—

(i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 20 words each (any ten) : [20]
(1) State any two political lessons of 1962 war.
(2) Between whom was the 1999 war fought ?
(3) Who is Dalai Lama ?
(4) When did the battle of Shankargarh fought ?
(5) Who was the chief of Indian Army in Bangladesh War ?
(6) When did the Khemkaran battle fought ? |
(7)  When did the 1965 war begin ?
(8) Who was ruling over Kashmir before 1947 ?
(90 When did China attack on India ?
(10) What are the principles of Panchsheel ?
(11) Which treaty was signed after 1971 war ?
(12) Which Indian state having contiguity with MacMahon line ?
(13) Where was the treaty of Tashkent signed ?

[3601]-356
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2. Answer in 50 words each (any two) : [10]

(1) What are the causes of Bangladesh war ?
(2) Why did India lose the war of 1962 ?
(3) State the implications of Kargil operation.
(4) Write a note on ‘Jojila Operation’.
3. Answer in 150 words each (any two) : [20]
(1) State the causes of 1965 war.
(2) Suggest possible solution of Kashmir problem.
(3) Write a note on “Operation Vijay”.
(4) Explain the background and causes of Kutch Operation.
4. Answer in 300 words each (any two) - [30]
(1) Describe the border problem between India-China.
(2) State the role of Airforce in Kashmir Operation.
(3) Describe the battle of Khemkaran.
(4) Explain the role of Navy in 1971 war.
(O Wi
@ : W T TFHUT T : 80

AT — (i) Wd WA FETIE R

(i) SSElhSl® Fh WA YU O Sifoar.

1. Y& 20 3sgia S fod (Huad /) [20]

(D
(2)
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(3) TOE oMW &IV MRA ?

4) U veE der @A 7

(6) WERT IE WRdE W ygE B D 2
(6) TR TEE hew WA ?

(7) 19659 q5 wegl & oS ?

8) 19475 Yol wERHRER HUE T AW 2
(9) A 9RAR T dew dA ?

(10) w=rfiest @ ®or ?

(11) 1977=1 JEHMR BRI HW TS 2

(12) HAlgd W ARA=A HRA TERT o o,
(13) RS W HS T ?

2. WSl 50 =W SW fow (FRE @) | [10]
(1) e 3 et wRO WoRh 2
(2) 19629 g WRAN WAWE HT A ?
(8) woile Wi uftomm @i,
4) ‘Sifger wEaE’ weR foaw femn

8. YIH 150 TRKid SW e (FVRE BF) [20]
(1)  1965=a1 Jgret wRA .
(2) FEHR AR Ag U gl
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(4) H© FEARE URDPR 9 HRO TR FH.

4. YIH 300 I SW feR (FORd ) 301
1) 9RE-91 Fede @ eHEs aud T
@) wwHER wEaEde waEdTe gfien @i
(3) VWU Telkd T FH.
@) 1971s e el i TR w0
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D.S. G-3 (C) : Industrial Security

Time : Three Hours ‘ Maximum Marks : 80

N.B. —

@)
(1)

All questions are compulsory.

Figures to the right indicate full marks.

1. Answer in 20 words each (any ten) : [20]
(1) Define Industrial Security.
(2) What is the power of arrest ?
(3) What is Bailable crimes ?
(4) What is illegal trespassing ?
(5)‘ What are the types of evidence ?
(6) What is Roping ?
(7)  State the meaning of security lighting.
(8) What is control room ?
(9) State any two sub-divisions of security department.
(10) What is fire ?
(11) What are the types of fire ?
(12) State any two types of First Aid.
(13) What is Water pollution ?

[3601]-356
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2. Answer in B0 words each (any two) : [10]
(1) Write a note én “Indian Penal Code.”
(2) What are the basic principles of security ?
(3) Write a note on “main gate”.

(4) Write a note on “First-aid box”.

3. Answer in 150 words ea(;h (any two) : [20]
(1) Describe in brief criminal crimes and preventive measures of
it.
(2) Describe in brief Terrorism.
(8) State the causes and preventive measures of fire.

(4) State the duties of security inspector.

4. Answer in 300 words each (any two) : (30]
(1) State the role of security department near main gate.
(2) Describe the causes and solution of sound pollution.
(8) Describe in brief various types of first-aid.

(4) Describe in brief | fundamental rights.

[3601}-356 10
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[3601]-356 12



Total i\Io. of Questions—4+4+4] [Total No. of Printed Pages—8+4
[3601]-357
T.Y. B.A. EXAMINATION, 2009
DEFENCE AND STRATEGIC STUDIES
D. S. : S-3 (A) Defence Production in India
(2004 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.

1. Answer in 20 words each (any ten) : [20]
(1) State any two problems of arms production in the third world.

(2) How many ordnance factories were there in India at the time
of partition ?

(83) In which year did India declare her first five year Defence
Plan ?

(4) Where is Bharat Earth Movers Ltd. situated ?

(5) What was the defence budget during the financial year-
2008-2009 ?

(6) Where is the Headquarters of B.E.L. located ?

(7) What is L.D.C. ? |

(8) Write the full form of D.R.D.O.

(9) When was Mishra Dhatu Nigam Ltd. established ?

(10) What is Development ?

(11) Where is the National Aerospace Laboratory being located ?
(12) Write the full form of D.P.S.U.

(13) When was Mazagaon Dockyard Ltd. established ?

P.T.O.
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Answer in 50 words each (any two) : 10

Explain the concept of Defence.
State the objectives of Praga Tools Lid.
What are the vehicles to economic chénge ?

State the electronic requirements of Defence forces ?

3. Answer in 150 words each (any two) [20]

(1) Contrast between Defence and Development. |

(2) Staté the Industrial Policy of the Indian Government in 1948.

(3) State the contribution of private sector in Defence Production
in India.

(4) Evaluate the contribution of Mazagaon Dockyard Ltd. to the
Indian Navy.

Answer in 300 words each (any two) : [30]

State the problems of the foreign collaboration in defence

production ?
Explain the development of weapons and ordnance in India.
Explain the growth in Defence Industry after 1962 in India.

Explain the role of Defence Research and Development

Organisation in Defence Production.
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9. wdWl 50 I=iA SW fow (FURE dF) ' [10]
(1) GO GHeddl e &I
(2) mng«%a’fsﬁ;@m.
(3) onfde sordt WEd i ?
@) ToRfEw fode e e TS 9.
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D. S. : S-3 (B)—Defence Economics

Time : Three Hours ‘ Maximum Marks : 80

(i) All questions are compulsory.

(it) Figures to the right indicate full marks,

1. Answer in 20- words each (any ten) : [20]
(1) What was defeﬁce budget of India during the financial year
~2008-2009 ? |
(2) What is war potential ?
(8) State any two names of strategic minerals.
(4) Write any two kinds of loans.
(5) State the financial year of India.
(6) When is the defence budget presented in the Parliament ?
(7)  What is Development ?
- (8) Define Economic Warfare.
9) | In which year was first five year defence plan implemented ?
(10)v What is price control ?
(11) What is real cost of War ?
(12) Which economic system adopted by India ?
(13) What is War Finance ? |
[3601]-357 5 PTO.



2. Answer in 50 wdrds each (any two) : | ~[10]
(1) State the importance of strategic minerals.
(2) State the importance of Def'ence.
(3) Write a note on “Defence Budget”.

(4) State the objectives of economic warfare.

3. Answer in 150 words each (any two) : [20]

@ Explain the importance of price control and rationing in

wartime.
(2) Describe the effects of war on economic structure.
(3) Explain the problems of measuring the real cost of war,

(4) Discuss the sources of war finance.

4. Answer in 300 words each (any fwo) : [30]

(1) Discuss “Defence and development are co-related to each

other”.

(2) Analyse the defence expenditure of India from 1947 to
update.

(3) Explain the problems of wartime economy.

(4) Describe the determinants of war potential.

[3601]-357 6
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D. S. : S-3 (C)—Research Methodology—I

Time : Three Hours Maximum Marks : 80

N.B. :—

(i3  All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer in 20 words each (any ten) : [20]

(D
(2)
(3)
(4)
(5)
(6)
(7)
(8)
9)
(10)
(11)
(12)

(13)

[3601]-357

Why is Hypothesis necessary ?

Define ‘Primary Data’.

Write the long form of I.C.H.R.-

What do you mean by Bibliography ?

Write the steps in research.

What do you understand by Social Research ?
What is Social Investigation ?

Define “Hypothesis”.

Where is the main office of U.G.C. situated ?
What do y;)u mean by Interpretation of Data ?
State the meaning of Pure Research.

Write the meaning of Research.

Define “Secondary Data”.



2. Answer in 50 words each (any two) ‘ ‘ [10]
(1) Write any two example of foot notes.
(2) Explain in brief “Funding é.gencies of research” in India.
(8) Write a few lines on “Scientific Research”.
(4) Explain the necessity of Research Design.

3. Answer in 150 words each (any two) : [20]
(1)  Explain the significance of “Field Trip” in the process of Research.
(2)  Evaluate the significance of Research for social well being and

National Development.

(3) State the types of Hypothesis and explain any one of them.
(4) Distinguish between Research and Invention.

4., Answer in 300 words each (any two) : [30]

(1)

(2)
(3)
4)

[3601]-357

State the meaning of chapterization and prepare the chapterization
on the topic “Turmoil in Afghanistan and Its Relevance to Asian

Security”.

Explain in detail various stages of Research Report Writing.

Write a note on “Primary Sources”.

Highlight on the significance of observation in the Process of

Research.

10
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Total No.

of Questions—4+4+4] [Total No. of Printed Péges—8+4
| [3601]-358
T.Y. B.A. EXAMINATION, 2009
DEFENCE AND STRATEGIC STUDIES
D.S. S-4 (A) : Defence Organisation in India
(2004 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :—

() Al questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 20 words each (any ten) : [20]

&Y
@
&)
@
5)
®)
)
®)
)
(10)
(11)
(12)
(13)

Give the names of principles of Defence Organisation.
What is the rank of chief of Naval Staff ?

Give any four names of Bomber Air Crafts of Indian Air force.

- Write the long form of M.I.

Where is the Naval H.Q. being located ?

Who is the Chief of Defence Ministry ?

What do you mean by Intelligence ?

At present who is the Chief of Armed Forces ?
State any four names of Destroyers.

How many commands are there in Indian Air Force ?
When did N.C.C. come into existence ?

What is the rank of the Deputy Chief of Naval Staff ?
What is the role of A.S.C. ?

P.T.O.
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2. Answer in 50 words each (any two) : [10]
(1) State the limitations of Infantry.
(2) Write a note on Aircraft Carrier.
(3) What are the functions of A.O.C. in peace time.
(4) Write a note on ‘Chiefs of Staff Committee.’

3. Answer in 150 words each (any tw.o) : [20]
(1) Explain the Higher Defence Organisation in India.
(2) Trace the growth of Indian Air Force since 1947.
(3) Explain the characteristics, role and limitations of Artillery.
(4) Describe the importance and role of Intelligence.

4. Answer in 800 words each (any two) : [30]
(1) Explain the characteristics, role and limitations of Engineers.
(2) Describe the relation between Parliament and Armed Forces.
(3) Explain in detail the role of various Agencies of Intelligence

Organisation.

(4) }Ex'plain with the help of chart the Organisation of Army H.Q.



(GG oG]

A% : W A TeRUT TOT : 80
@ o — (@) wd W G s o

() Sudwde sim o T gl

Gii) GeuiEd @ Ut wEuiie uer.

1. W& 20 T SN R (FNE @) [20]
(1) o= Huer= awadl e g
(2) ko Y@ g v ?
(8) YR IOdte dfed faumn w@ @i
(4) W Iy (ML) 9 fowrld v fos
(5) o™ Y= wEied Wi AR ?
(6) U HAGAE Y@ U SN ?
(7) Ioffoses weifasal smuone ®19 Wifed s ?
(8) W WA Tord YHE HIU Ied 7
@ fegrdst e AR A @
(10) ¥ ga <om fhdl FHWey oRd  ?
(1) T 4. 4 = wWuw = ge ?
(12) Rore SHd dke ygEEr g@ w2
(18) & uqg. 9. % @@ ?

[3601]-358

3 PTO.



2.  WAE 50 =W W fow (FRd dM) [10]
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D.S. S-4 (B) : India and Her Neighbours

Time : Three Hours | Maximum Marks : 80

N.B. :—

(i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer in 20 words each (any ten) : [20]
(1) Define National Power.
(2) Which treaty was signed after 1971 war ?
(3) When did the 1965 war begin ?
(4) What is Geostrategy ?
(5) When did Bangladesh become indepeﬁdence ?
(6) State any fwo names of natural resources.
(7)  In which year was Panchsheel Treaty signéd ?
(8) Write the full form of SAARC ?
(90 When did India grant Asylum to Dalai Lama ?
(10) State the location of Afghanistan.
(11) Which Indian state belongs to MacMahon Line ?
(12) State the location of Bhutan ?
(13) In which yea}* was Indo-Nepal Friendship treaty signed ?

[3601]-358
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2. Answer in 50 words each (any two) : [10]
(1) What are the problems of SAARC ?
(2) Write a vnote on ‘MacMahon Line’.
(3) State the significance of Bhutah.

(4) What are the causes of Kargil Operation ?

3. Answer in 150 words each (any two) : [20]
(1) State the Tibet problem.
(2) Explain the ethnic problem in Sri Lanka.
(3) Explain India’s role in SAARC.

(4) Explain the issues in Indo-Bangladesh Relations.

4. Answer in 300 words each (any two) : (30]

(1) Evaluate the Indo-Pakistan relations with special reference to

“Kashmir Issue”.
(2) Describe the elements of Indian National Power.
(3) Explain the historical relations between India and Myanmar.

(4) Describe the India-Afghanistan relations since 1990.

[3601]-358 6
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2. W 50 @ S TRt (HUAd ﬁ) : [10]
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(2) W@ﬂwmmﬁaﬂhm
(S)memﬁamﬁmﬁaww‘
4) 1990 TR WRA-STHMORH  Herd quiH &

[3601}-358 8



[3601]-358

D.S. 8-4 (C) : Role of Science and Technology in

National Security

Time : Three Hours Maximum Marks : 80

N.B. :—

(1)  All questions are compulsory.

(zi)  Figures to the right indicate full marks.

1. Answer in 20 words each (any fen) : [20]

(1)
(2)
(3)
(4)
(5)
(6)
(7)
(8)
9)
(10)
(11)
(12)

(13)

[3601]-358

Define “National Security”.

What do you mean by “Mﬂitary Technology”.

Who led the foundation of India’s Nuclear Programme.
When and where did the Industrial Revolution take place ?
Define “Bio-technology”.

State the meaning of “Duel Technology”.

Define “Material Science”.

What do you mean by Mass Production ?

State any fwo names of Indian Satellite.

What do you understand by Information Technology ?
Where is the H.Q. of ISRO situated ?

What do you mean by Blitz Kriege Technique ?

Define “Tactics”.

9 PTO.
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2. Answer in 50 words each (any two) : [10]
(1) What do you understand by INSAT ?
(2) Write few lines on India’s First Nuclear Test.
(3) What do you mean by “RMA” ?
(4) Explain in brief “Artificial Intelligence”.
3. Answer in 150 words each (any two) : [20]
D What were the socio-economic implications of Industrial Revolution
on contemporary society ?
(2) Write the effects of Military Technology on Naval Warfare during
World War I
(3) Explain the India’s achievements in Space Programme.
(4) How would you like to establish the relationship between
Transportation and Security.
4. Answer in 300 words each (any two) : [30]
(1) Describe the role of Communication and Information Technology
in Modern Warfare.
(2) Explain the various uses of Bio-technology with special reference
to the security.
(3) Explain the contribution of Science and Technology in National
Development.
(4) Highlight on the problems of “Transfer of Technology.”

10
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Total No. of Questions—4]

Time : Three Hours

| [Total; ‘No. of Printed Pagesé—4
[3601]-359
T.Y. B.A. EXAMINATION, 2009
SOCIAL WORK (G-8)
(@) Introduction to Youth Welfare
(@ii) Introduction to Rural and Urban Welfare
" (2004 PATTERN)
Maximum Marks : 80

N.B. :— (i) All questions are compulsory. .

(ii) Figures to the right indicate full marks.

Answer any ten questions in 20 words each : [20]
(1) Give the definition of youth.

(2) Explain needs of youth.

(3) Explain any two problems of tribal youth.

(4) Explain the concept of rural welfare.

(6) Explain the basic needs of rural communities.

(6) Explain the meaning of sex education.

(7) Explain the challenges before the youth.

(8) Explain the problems of urban slums. |

(90 Explain the meaning of welfare.

(10) Explain the problems of unmarried youth.

(11) Explain the problems of mentally handicapped youth.
(12) Give the definition of adolescence.

(13) Explain the importance of vocational traihing.

P.T.O.



2. Answer any two qﬁestions in 50 words each : - [10]

(1)
(2)
(3)
(4)

Discuss the problems of single youth.
State the problems of tribal communities.
Explain the social problems of youth.

Discuss various bad habits among the youth.

3. Answer any two questions in 150 words each : [20]

1 -

Write an essay on “Importance of Sex Education to Youth”.

(2) Write an eséay on “Urban Welfare”. |

(3) Discuss various ‘programmes implemented by Mahila Mandals
in Maharashtra.

(4) Explain the role of youth in protection of environment.

4.  Answer any ‘two quesfions in. 8300 words each : ‘ [30]

(1) Discuss “Importance ‘of pre-marital guidance to youth”.

(2) Explain the provisions made by the Government for the welfare
- of handicapped youth.

(3) Write an essay on “Problems of Backward class youth and

_ the Government Schemes for their welfare”.

(4) Discuss “various ‘functions of Youth Clubs”.

(WS wiew)
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(5) UMY WA o d e ferle @

(6) oMe fraw g w1 fage =+

(7) g1 Ydlo e foe &

(8) Rl wysuzdew wmen fwmwe .

(9) FA A =N A W F

(10) foamEld gawien wmEn faw w5

(11) wAfghgsear 97 Jahi=a THEN foRE &
(12) UrTeTeRen A=l =ared 9.

(13) =Ml gRigome med farg 6.

2.  FUAE T WA TS 50 =@ IR fodl [10]
(1) UTHMHI WO JFH=A (single youth) wHE=l == &
- (2)  orfcawlt weEiem wHEn fmR w9
(3) gowr=m uwifas guEn fore &
(4) gaem=w e fafay arfte woet s=f w5

3. FUEmE @9 WA uEe 150 =R SR fow | [20]
(1) FowEd Sies fregome wee AR ey fom.

(2) I8 e’ qeR frEy e

8) "'wWenrie Afeer deart wefadie fafay wEEn—w=i wq.
(4) TESOTE W FOAEE gahi e fae @
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4. WUEE P WA TEHR! 300 =M W fow [30]
(1) gawEd fooeygd Arfes W A ¥+ HT
(@) o g FETEE AT @dwn wad fem @
(3) ‘‘TTTOETa FqeRTeAl WHE MU ATl FHEAONEES A IEHE
RIGE B C R EC IRt
(4) w&u Hew fafay @ R == &
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[3601]-361
T.Y. B.AA. EXAMINATION, 2009
- COMMERCE (General)
(Business Management)
(2004 PATTERN)
Time : Three Hours ' Maximum Marks : 80

N.B. — (i) All questions are compulsory.

(i) Figures to the right indicate full marks.

1. Answer the following questions in 20 words each (any ten) : [20]
(1) Define the term ‘Business’.
(2) What is Science ?
(8) Define the term ‘Management’.
(4) What is Planning ?
(5) What is Decision ?
(6) Define the term ‘Communication’.
(7)  What is Control ?
(8) What is ‘Free rein leadership’ ?
(9) What is ‘Budgetary Control’ ?
(10) What is Organisation ?
(11) State the meaning of Co-operation.
(12) What is ‘Trade’ ?
(13) Define the term ‘Commerce’.

P.T.O.



2. Answer the following questions in 50 words each (any two) : [10]
(@) State the characteristics of Line Organisation.
(b) Explain the importance of Direction.
(¢) Explain the need of Co-ordination.

(d) Explain the importance of Communication.

3. Answer the following questions in 150 words each (any two) : [20]
(@) Explain the types of Delegation.
(b) Discuss Management as a Science.
(¢) Explain McGregor's X Theory.
(d) Explain the steps in .Controlling.
(ey) Explain the Situational Theory (Leadership).

4. Answer the following questions in 800 words each (any two) : [30]
(1) Total Quality Management. Discuss.
(2) Distinguish between Co-operation and Co-ordination.
(3) Explain the advantages and disadvantages of Autocratic Leader-
ship.
(4) Explain the types of decisions.
(5) Explain the steps in Planning.

(WS w0

¥@ : W A TFHIT T : 80
qaw i— () W WA Wl AR 3.
Gi) soEReie oiw g U e

1. @mmﬁzomuﬁﬁm(aﬁmﬁéw): [20]
(1) ‘=EeE’ m_zq'%%ﬁ e |l
(2) ‘T’ "o wE 7

[3601]-361 2



(3) ‘'oHoUA’ W GIE! TSN W
(4) ‘fEsA wmUS wE 2

(5) ‘fola’ woS wE ?

(6) 'wxEE’ W WIS = @
(7) ‘fEEw’ wvS wE ?

(8) '¥R W' W wE ?
(9) ‘SR A wuS @ ?
(10) ‘¥WEE’ wUS HE ?

(11) ‘weswR' wa=r 4 @i,

(12) ‘UR’ WS %™ ?

(13) ‘anfore’ RUNCEL I

2. GHo WA TAR 50 TRE SW fow (FORE D) [10]
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(%) ‘"dEiEn’ ‘w' fagra wWw W
() frEumen swERem W w9
(3) uiftadis= Aq@ fagm W =
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(2) WeHR Mol WHEE ANIG B TR HA
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Total No. of Questions—4+4] [Total No. of Printed Pages—8

[3601]-362
T.Y. BA. EXAMINATION, 2009
EDUCATION (G-3)
(Educational Psychology)
(NEW COURSE)

Time : Three Hours Maximum Marks : 80

N.B. —

)
(i7)

All questions are compulsory.

Figures to the right indicate full marks.

1.  Answer the following questions in 20 words each (any ten) : [20]

(1
(2)
(3)
(4)
(5)
(6)
(7
(8)
9
(10)
(11)
(12)

(13)

What
What
Write
What
What

Write:

Write
What
Write
What
What
What

Write

is Globalisation ?

are the three aspects of discipline ?
the meaning of indiscipline.

is Individual Differences ?

is Perception ?

the meaning of creative imagination.
the meaning of educational guidance.
do you mean by demonstration method ?
the two examples of natural disaster.
do you mean by mental conflicts ?
is concept ?

is autonomy of the Universities ?

the meaning of social discipline.

P.T.O.



2. Answer the following questions in 50 words each (any two) : [10]

(D)
(2)
(3)
4)

Explain - the challenges in front of Higher Education.
Write the educational importance of Image.
Write the ways for Good Mental Health.

Explain the causes of Riots.

3.  Answer the following questions in 150 words each (any two) : [20]

(1)

(2)

3)

(4)

. What is the coneept of Personality ? Explain the factors influencing

on development of personality.

What is Action research ? Explain the importance of Action
research.

Explain the nature, educational importance and limitations of
project method.

What is Perception ? Explain the educational importance of
perception.

4. Answer the following questions in 800 words each (any two) : [30]

(1)

(2)

3)

4)

[3601]-362

What is imagination ? What are the types of imagination ?

Explain the educational importance of imagination.

What is Counselling ? Explain educational importance of
counselling.

What do you mean by Guidance ? Explain the need and importance
of Guidance.

Explain in detail the nature, merits and limitations of Discussion
method.



(WS wqiT)
¥ : W AW TROT 7T : 80
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3. UPSlH U@ @ WA W TAE 150 IS fow e [20]
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[3601]-362
EDUCATION (G-3)
(OLD COURSE)

Time : Three Hours Maximum Marks : 80

N.B. :—

@
(i1)

All questions are compulsory.

Figures to the right indicate full marks.

1.  Answer the following questions in 20 words each (any ten) : [20]

(1)
(2)
3)
4)
(6)
(6)
(7
(8)
9
(10)
(11)
(12)

(13)

[3601]-362

What
Write
What
Write
Write
What
What
What
What
Write
What
What

Write

is Educational Psychology ?

the meaning of ‘Environment.
do you mean by Development ?
the meaning of Social Heredity.‘
two types of Intelligence Test.
is Imagination ?

is Introspection method ?

is insight method of learning ?
is fatigue ?

the meaning of Perception.

is mental conflicts ?

do you mean by forgetting ?

the meaning of Recall.

5 P.T.O.



2. Answer any two of the following questions in 50 words each

(any two) : {10]
(1) Explain Thorndike’s laws 6f Learning.

(2) Explain the characteristics of Personality.

(3) Write the characteristics of process of learning.

(4) Write the educational importance of Heredity and Environment.

8. Answer the following questions in 150 words each (any two) : [20]

(1

3)

(4)

What is observation method ? Write the merits and limitations

of observation method.
What is Learning ? Explain the factors affecting Learning.

Explain the physical, mental and social characteristics of later
childhood.

What do you mean by Psychology ? Explain its nature and
scope. ‘

4. Answer the following questions in 300 words each (any two) : [30]

(1
(2)

(3)

(4)

[3601]-362

Explain the nature, merits and limitations of experimental method.

- What is defence mechanism ? Explain in detail the types of

defence mechanism.

What is intelligence ? What are the types of Intelligence test ?

Write the merits and limitations of Intelligence. test.

Write the concept and causes of forgetting. Suggest the ways

to minimise forgetting.
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(11)
(12)

(13)
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Total No. of Questions—?5] * [Total No. of Printed Pages—4+1

[3601]-363
T.Y. B.A. EXAMINATICN, 2009
MATHEMATICS
FMG-3 : Computational Mathematics
(2004 PATPEﬁN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.
1. Attempt each of the following : [16]
(i) Which of the following are invalid identifiers ? Explain :
@ 123 |
(b) _name
(ii) »Explain the meaning of th;e following declaration :
int ged(int a, int b);

(iit) Write a ‘for loop’ to calculate the sum 2 + 5 + 8 +..... for all
values of i; that are less than 100.

(iv) Determine which of the following are valid character constants :
(@) ¥
b “n’

P.T.O.



()

(vi)

(vii)

Explain the meaning of the following declaration :
int *pal10].

Explain the meaning of the following statement :
FILE *fp;

How does array differ from structure ?

(viiz) Describe array that is defined in the following statement :

2. (A
(B)
3. (A

[3601]-363

float c[8] = {2., 5., 3., —4.,};

Attempt any one of the following : [6]
() Write a short note on getchar and putchar functions.
(ii) Write a program to exchange values of two variables.
Attempt any two of the following : [10]

() Write a program to find sum of n numbers. Do not use

array.
(iz) Explain different constants used in ‘C’ language.
(Zii) Write a short note on scanf function.
Attempt any one of the following : (8]
(1) Write a note on Arithmetic operators.
(i) Write a program to reverse the digits of an integer.

(iii) Write a note on “for.loop’.

2



(B)

4. (A

| (B)

5. A
[3601]-363

Attempt any two of the follqwing : (8]
(i) Write a program to interchange two rows of a matrix.
(ii) Write a short note on pointer.

(iii) Write a short note on static variables.

Attempt any one of the following : [6]

() Write a program to add two numbers by using command

line arguments.

(ii) Write a program to multiply two complex numbers using

structures.
Attempt‘ any two of the fqllowing : [10]
() Write a short nofe on fopen and fclose functions.
(i) Writé a program to display text file.
(iii) Write a note on storage classes.
Attempt any one of the following : (6]
(i) Write a program to read a text file.

(ii) Write a note on pointer arithmetic.

3 P.T.O.



(B)
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Attempt any two of the following : [10]
(i) Write a function to multiply two matrices of order 3 x 3.
(ii) Describe the output generated by the following program :

# include < stdio.h >

# define ROWS 3

# define COLUMNS 4

int Z{ROWS] [COLUMNS] = {1, 2, 3, 4, 5, 6, 7, 8, 9, 10, 11, 12};

main( )

int a, b, ¢ = 999;

for (a = 0; a < ROWS; ++a)

for (b = 0; b < COLUMNS; + +b)
if (Z[a] [b] < ¢) ¢ = Z[a] [b];

printf (“%d”, c);



(iii) Describe the output generated by the following program :
# include < stdio.h>
int functl (int count),

main( )

int a, count;

for(count = 1; count <= 5; ++ count)

a = functl (count);

printf (“%d”, a);

}

funct 1 (int x)

int y = 0
y += X%
return (y);

[3601}-363 5
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[3601]-364
T.Y. B.A. EXAMINATION, 2009
MATHEMATICAL STATISTICS
General Paper 1
(Statistical Inference)

(2004 PATTERN)

Time : Three Howurs Maximum Marks : 80

N.B. —

() All questions are compulsory.
(ii) Figures to the right indicate full marks.
(lit) Use of calculator and statistical table is allowed.

(iv) Symbols and abbreviations have their usual meanings.

1. Attempt any ten of the following : [2 each]
(@) Prove or disprove : If the statistic T is an unbiased estimator
of parameter 0, then T + 0 is an unbiased estimator of 26.
(b) Prove or disprove : If T{ and Ty are two independent estimators
. . : Ty + Ty
of parameter 0 with variances 3 and 4 respectively, then g
is less efficient than T;.
(¢) Give an example of a biased estimator which is also consistent
estimator.
(d) State the Pitman-Koopman form for existence of sufficient statistic.
() Define the term ‘Likelihoed function’ with an illustration.

P.T.O.
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(f) Define Pivotal quantity with an illustration.

() Comment on ‘The sum of probabilities of two kinds of error
is one’.

(h) Define :
()  Level of significance (lo.s.);
(i) Power of a test.

(i) Define the term ‘most powerful level and test’ of simple null
hypothesis against simple alternative hypothesis.

()9 Define M.V.B.U.E.

(k) What is sequential test ? In what respect does it differ from
the conventional fixed sample size test ?

(I)  State any two advantages of non-parametric test over parametric
test.

(m) Define Run and length of run.

2.  Attempt any two of the following : [5 each]

(@) If Xq, Xy X, be a random sample drawn from N (n, o2)
distribution, o2 known, then obtain MVBUE of p.

() Describe briefly the method of moments to obtain estimators

of parameters. Obtain moment estimator of parameter © for

exponential distribution with mean 6.



() A coin with probability of getting head as P is tossed 9 times
 to test the hypothesis Hy : P = 0.5 against H; : P = 0.75.
Reject Hy if the number of heads is more than 6. Compute
the probabilities of type I and type II error.
(d) Construct 100(1 — a)% confidence interval for difference of
two population proportions based on large samples.

3. Attempt any two of the following : [10 each]
(a) State and prove Cramer-Rao inequality. [10]
®) () Let X;, Xgoeourenenee. X,, be a random sample of size n

drawn from U(6, 6 + 1) distribution. Show that sample
mean (X) is an unbiased as well as consistent estimator
of 0+ % ’ [5]
(@) Construct SPRT of strength (a, B) for testing
Hy : m = my against Hy:m=m, (my{>mgy) where m
| is the mean of Poisson distribution. [5]
() () Describe sign test for two sample problem. [5]
@) I Xy, Xgeeeene, X, be a random sample drawn from
a distribution having p.m.f. :
Px) =6 1 -e0l-*; x =0, 1.
0<06<1
=0 ; otherwise
n
then show that ng Xi s sufficient statistic for
i=
parameter 0. [5]
[3601]-364 3 PTO.



@ @)
(i)

Describe Mann-Whitney test based on two samples. ‘[5]

Consider a random sainple of size 10 drawn from
N (p, 09) distribution. To test Hy : X — N (0, 1) against
H; : X > N(1, 9), obtain the form of Best Critical Region. [5]

4, Attémpt any two of the following : [156 each]

@ @

(i)

® @

(@)

[3601]-364

IfX - G(%, x), » known, find E (X2). Hence obtain unbiased

estimator (T) of 62. Show that V (T) is greater than Cramer-

Rao lower bound. [8]

Let X —» P(m), in order to test Hy : m = 10 against
H; : m = 9, how large should be the value of sample
size n to guarantee that a = 0.1 and power of the test

equal to 0.9 ? Use normal approximation. [7]

Find the Fisher Information function I(02) for N (n, 02)

distribution, when p is known. (5]

If X4, Xgoeevrerenenns X, be a random sample of size n drawn

from a distribution with p.d.f.

flx; 8 = &3 0<x<8
0 ; OW.

then obtain m.l.e. of parameter 6 of the distribution. [5]



(@)

(d)

[3601]-364

(Ziv)

)

(i1)

@)

A random sample of size 12 is drawn from N (0, 62)
distribution. Determine UMP level o test for testing

Hy 02 = 4 against H; : 0% < 4, [5]

1
Let X4 and X, be a random sample of size 2 from G(gs 1)

X;+X 4
distribution. If Ty = =1 5 2 and T, =

= (X1X;)", then
T

show that T, and Ty are both unbiased estimators
of parameter 6. Also find the relative efficiency of

Ty wrt. Ty [8]

If X{, Xgooovinneee. X, is a random sample of size n drawn

1
from G (5, 1J distribution, then show that :

n

2 _

I %’i - x,?zn, where %n = Z Xi;
i=1

(II)  Obtain 100 (1 — )% confidence interval for 6 using

equal tail criterion. (7]

The following is the observed arrangement of 8 dry (D)
and 12 rainy (R) days, during 20 consecutive days of

a rainy season in a certain city :

RRRDDDDRRRRDRDRRDDRR

At 5% level of significance, test the hypothesis that the

rainfall is random. ' [5]

5 PTO.
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(ji) With usual notations, prove that MVBUE of parameter

0 satisfies the relation :

0

5 logL = n1®) (T-0). [5]

(ii1) Show that an estimator is consistent if its bias and variance

both tends to zero as sample size n — oo [5]



Total No. of Questions—4] [Total No. of Printed Pages—2
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T.Y. B.A. EXAMINATION, 2009
ENGLISH
General Paper III
(G-3 : Poetry and Fiction)
(2004 PATTERN)
Time : Three Hours Maximum Marks : 80

Text Books :— (i)  Nineteenth and Twentieth Century Verse Ed. Chris Woodhead.
(iv) Lucky Jim—Kingsley Amis.
(v) Train to Pakistan—Khushwant Singh.

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any ten of the following in not more than 20 words
each : . [20]
(i) State any two features of Victorian poetry.

(ii) State any two features of War Poetry.
(iii) Mention any two features of an Ode.

(jv) State any two features of a Picaresque novel.
(v) What is a Stream of consciousness novel ?
(vi) What is a Simile ?

(vii) What is a hyperbole ?

(viii) What is an irony ?

(ix) What is an anti climax ?

(x) State different types of a rhyme.

(xi) What is an image ?

(xii) Explain the term ‘theme’.

(xiii) Explain the term ‘characterization’.

2.  Write short notes on any two of the following in not more than
50 words each : [10]
(i) The Blanket Burning Episode

P.T.O.



(i1)

(i1i)

(tit)
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The Weekend Party arranged by the Welches

The element of farce in ‘Lucky Jim’

(iv) Bertrand Welch.
3. Answer any two of the following in 150 words each : (20]
(i) Explain how Tennyson portrays the character of Ulysses to
f explore his own emotional situation.
(i) Explain T.S. Eliot’s attitude towards the city life as suggested
in ‘Preludes’.
(iii) How does Owen express the wastefulness of war and the moral
corruption in his poem ‘Strange Meeting’ ?
(iv) Compare ‘Ulysses’ and ‘My Last Duchess’ as successful dramatic
monologues.
4. Answer any two of the following in 300 words each :  [30]
(i) Discuss ‘Train to Pakistan’ as.a reflection of tragic partition
of India. |
(i) Evaluate ‘Train to Pakistan’ as a novel of intellectual and emotional

excitement.
Consider ‘Train to Pakistan’ as a realistic Modern Indian
novel.

Attempt a character sketch of Hukum Chand.



Total No. of Questions—4] [Total No. of Printed Pages—4

[3601]-366

T.Y. B.A. EXAMINATION, 2009
ENGLISH
(Special Paper III)
(S-3 : Functional English)
(2004 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. (A) Do as directed (any three) : [6]
(i)  Give form labels for each underlined word in the following
phrases :

(@) The worst journey ever

(b) The professional driver.

(@) Give function labels for each underlined word in the following

phrases :

(a) a conference on wild life

(b) very tall indeed.
(iii) Draw a labelled tree diagram for the following sentence :

Empty vessels make the most sound.

P.T.O.



(B)
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(iv) Identify the clause structure of the following sentence
in terms of SPOCA :.
The police caught the thief re.d—handed.

Do as directed (any four) : (8]

(i) The patient was given penicillin, and began to recover
immediately.
(Identify the register of the utterance and mention its
markers)

(ii) Athletes, on your mark, set go!
(Identify the style of the utterance as Formal/Informal
and mention its markers)

(iii) Why don’t you go ?
(Identify the style of the utterance as Formal/Informal
and mention its markers)

(ijv) How often do you go to the theatre ?
(Identify the utterance as an instance of British English,
American English or General Indian English and mention
its markers)

(v) My wife is always asking for money.

(Identify the utterance as an instance of British English,
American English or General Indian English and mention

its markers).



(C) Do as directed (any three) : (6]
(i) Transcribe any two of the following words :
beneath, idea, captain, ambition
(i1) Give two instances of minimal pair/n/-/m/
(iii) Mention the number of syllables in the word ‘reactor’
and mark the accent on an appropriate syllable.

(iv) Define with suitable examples the term ‘allophone’.

2.  Write short notes on any two of the following in not more than
50 words each : [10]
(i) Word Accent
(ii) Pure vowels in English
(iit) Weak forms in English

(iv) Intonation.

8. Write short notes on any two of the following in not more than
150 words each : [20]
(i) The Adjective Phrase and the Adverb Phrase.
(ii) Elements of the clause.
(iii) The closed classes of words.

(iv) Types of nouns.
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4. (A

(B)
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Attempt any one of the following in not more than 300
words | | ‘ [15]
(i) Explain the locutionary, the illocutionary and the perlocutionary
acts.

(i) Discuss the four basic skills of language.

Attempt any one of the following in not more than 300 words : [15]
(i) Describe the classes of phrase with suitable examples.
(it) How does the study of .grammar help in effective com-

munication ?



Total No. of Questions—4] [Total No. of Printed Pages—7

| [36011-367
T.Y. B.A. EXAMINATION, 2009 |
ENGLISH
Special Paper IV
(S-4 : Introduction to Literary Criticism and
Critical Appreciation)

(2004 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :—

(i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1.  Attempt any ten of the following in not more than 20 words each : [20]

(D
(2)
3)
(4)
(5)
(6)
(7)
(8)
9
(10)

How do you define ‘Metaphor’ ?

Explain' the terms ‘Sympathy’ and ‘Empathy’.
What is ‘Setting’ ? |

Define the term ‘Allusion’.

What is ‘Irony’ ?

What do you mean by the term °‘Allegory’ ?
What is meant by the term ‘Genre’ ?

How do you define the term ‘Conceit’ ?

Define the term ‘Intentional Fallacy’.

What do you understand by the term ‘Poetic Justice’ ?

P.T.O.



(11) Define the term ‘Interior Monologue’.
(12) What is ‘Paradox’ ?

(13) How do you explain the term ‘Satire’ ?

Answer any two of the following in not more than 50 words each: [10]

(1) Why is poetry given the highest status in the gradation of

fine arts ?

(2) How do you distinguish between poetic truth and historical
truth ?

(3) Discuss briefly the functions of literary criticism.

(4) Explain the term ‘Imitation’.

Attempt any two of the following : [20]
Read the following poems and answer the questions that follow:
(@) The trees are coming into leaf

Like something being almost said,

The recent buds relax and spread,

Their greenness is a kind of grief.

Is it that they are born again
And we grow old ? No, they die too.
Their yearly trick of looking new

Is written down in the rings of grain.

[3601]-367 ' 2



(b)
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Yet still the unresting castles thresh

In fullgrown thickness every May.

Last year is dead, they seem to say,

Begin afresh, afresh, afresh.

Questions :

(1) What figure of speech is used in the second line of the
poem ?

(2) What is the secret of the greenness of trees ?

(3) What do trees seem to say ? "

(4) What is the rhyming pattern of the poem ?

(6) Suggest a suitable title to the poem.

I shall some day leave, leave the cocoon

You built around me with morning tea,

Love-words flung from doorways and of course

Your tired lust. I shall some day take

Wings, fly around, as often petals

Do when free in air. And you dear one

Just the sad remnant of the root, must

Lie behind, sans pride, on double-beds

And grieve. But, I shall some day return, losing

3 - P.T.0.



Nearly all, hurt by wind, sun and rain,

Too hurt by fierce happihess to want

A further jaunt or a further spell

Of freedom, and I shall some day see

My world, de-flashed, de-veined, de-blooded,

Just a skeleton thing, then shut my

Eyes and take refuge, if nowhere else,

Here in your nest of familiar scorn...

Questions :

(1) What is the poem about ?

(2) What does the poet mean by leaving ‘the cocoon’ ?
(3) How does the poet express her urge for freedom ?

(4) What do the words, ‘nest of familiar scorn’ suggest in

the last line ?

‘ (6) Suggest a suitable title to the poem.

(c)

[3601]-367

His old skin
is like the ground
on which he sleeps,

so also his rags.



He cannot

stand ﬁpright

or walk without pain,
does odd jobs

for the ten families

Of The Retreat, collects
a few coins every day,

uses them for tea and smoking.

Given food, he eats,
otherwise, he goes without,

Quite a cheerful chap, really.

Nobody minds his presence

as he stumbles around the place.
He’s lucky, in a way,

isn’t out in the streets, begging
we look after him

and he makes himself useful.

That’s all the truth about Dhanya.
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(d)
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Questions :

(1) What figure of speech is used in the second line of the

poem ?
(2) What is the theme of the poem ?
(3) What image of Dhanya does emerge from the poem ?

(4) What is the significance of the line, ‘Nobody minds his

presence’ ?

(56) Suggest a suitable title to the poem.

We are the hollow men

We are the stuffed men

Leaning together

Headpiece filled with straw. Alas !
Our dried voices, when

We whisper together

Are quite and meaningless

As wind in dry grass

Or rats’ feet over broken glass

In our dry cellar

Shape without form, shade without color

paralyzed force, gesture without motion



Those who have crossed

With direct eyes, to death’s  other kingdom

Remember us — if at all — not as lost

- Violent souls, but only

As the hollow men

The stuffed men

Questions :

(1) What is the theme of the poem ?

(2) What are the voices of the hollow men compared to ?

(3) How do you interpret the line. ‘Shape without form, shade
without color’ ?

(4) How do those who have crossed to death’s other kingdom
remember the hollow men ?

- (5) Suggest a suitable title to the poem.

Answer any two of the following in not more than 300 words each : [30]

(1)- Examine the psychological approach to literature in the light

of Freud’s theory of the relationship between art and the

unconscious mind.

(2) Write a detailed note on Eliot’s concept of tradition.

(3) Discuss Johnson’s defense of Shakespeare’s violation of the unities.

4) Exp'lain in detail the usefulness of the biographical approach

to literature.
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T.Y. B.A. EXAMINATION, 2009
PHYSICAL EDUCATION

(2004 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

1. Answer the following in 20 words each (any teﬁ) : [20]
(1) Give basic skills required in the game of Basketball.
(2) Give basic skills required in the game of Football.
(8) Give motto of Olympic games.
(4) Give various types of Asanas.
(56) Give different events in Athletics.
(6) Give basic skills required in the game of Kho-kho.
(7) Give different strategies used in the wrestling.
(8) Which Indian players won the Bronze medals in 2008
Olympics ?
(9) Give measurements of Hockey .ground.
(10) Give basic skills required in the game of Hockey.
(11) Who is the union sports minister ?
(12) Who is regarded as the magician of Indian vHockey ?

(183) Give basic skills required in wrestling.

P.T.O.
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2. Answer the following in 50 words each (any two) : [10]
(1) Explain importance of recreation in the sports and games.
(2) Explain importance of various clubs and their role during British
period. |
(3) Write importance of physical education for college
students.
(4) “International unity is achieved through Olympics.” Explain.
3. Answer the following in 150 words each (any two) : [20]
(1) Explain the importance of Akhadas and Talims in India.
(2) Draw diagram of Basketball ground and explain rules and basic
skills of the game.
(3) Explain the importance of individual and team events.
(4) Give information about various games played during Olympics.
4, Answer the following in 800 words each (any two) : [30]
(1) Draw neat diagram of ground for Kabaddi and explain rules
and basic skills required 1n the game.
(2) Draw diagram of Badminton Court and describe rules, regulations
| and basic skills required in the game.
(3) Draw neat diagram of ground for volleyball and explain rules
and basic skills required in the game.
(4) Draw diagram of Handball ground and describe rules and basic

skills required in the game.
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T.Y. B.A. EXAMINATION, 2009
MATHEMATICS
M.G-3 : Algebra
(2004 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(it) Figures to the right indicate full marks.

1. Attempt each of the following : [16]

(@)
(i)
(iii)
(iv)
(v)

(vi)

(vii)

Give an example of a binary operation * defined on the set

of integers Z which is commutative but not associative.
Find the cyclic subgroup < p1 > of Sg where p1 = (1, 2, 3) cycle.
Show that the groups (Z, +) and (Q, +) are not isomorphic.

If A, is the alternating group and S,, is the group of permutations

on n-symbols for n > 2, then show that A, is normal in S,

Give an example of a ring with unity 1 that has a subring with

unity 1" # 1.

An element a of a ring R is idempotent if a2 = 4. Show that

an integral domain D has exactly two idempotent elements.

Describe the field F of quotient of the integral domain
Z[i) = {a+ibla, be Z}.

P.T.O.



e

(viit) Let

2. A
(B)
3. A

[3601]-369

s

I:{[g g)ld,beR}.
Show that I is a right ideal but not left ideal of My(R).
Attempt any one of the following : [6]
(j) State and prove Lagrange’s theorem.
(i) Prove that a subgroup of a cyclic group is cyclic.
Attempt any two of the following : [10]

(i) Prove that any cyclic group is abelian. Is the converse true ?

Justify.

(i1) Sho.w‘by means of an example that it is possible for the
quadratic equation x2 = e to have more than two solutions

in some group G with identity e.

(iii) Prove that any infinite cyclic group G is isomorphic to the

<Z, +>.
Attempt any one of the following : (8]

(i) Let Hl and H‘2 b‘e. normal subgroups of a group G. Prove
that H1 N Hz is a subgroup of G. Also show that H; n Hy
is normél in G. Show by giving one example that union of
two subgroups need not be a subgroup of a group.

9 -



(B)

4. (A)

(B)
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(ii) Let ¢ :G; — Go be a group homomorphism. Define kernel
of ¢ and show that it is a normal subgroup of G. Moreover

show that if ker ¢ = {e}, then ¢ is one-one.
Attempt any two of the following : [8]

G) If R is a ring with unity 1, then prove that 1 is the only

multiplicative identity.

(ii) Show that if U is the collection of all units in a ring

(R, +, .) with unity, then show that (U, .) is a group.

(ii) Let (R, +) be an abelian group. Show that (R, +, .) is a

ring if we define ¢ . b = 0 for all a,beR.
Attempt any one of the following : [6]
(i) Prove that every finite integral domain is a field.

Gi) If R is a ring with unity and N is an ideal of R containing
a unit, then prove that N = R. Moreover prove that a field

contains no proper non-trivial ideal.
Attempt any two of the following : [10]

(i) An element ‘@’ of a ring R is a nilpotent if a” = 0 for some
n e 7t . Show that the set of all nilpotents of a commutative

ring R is an ideal of R.

3 P.T.O.



. (i) Prove that every maximal ideal in a commutative ring with

~unity is a prime ideal.

(i) Prove that an element a€F is a zero of f(x)e Flx] if

and only if (x — a) is factor of fix) in Flx].
6. (A) Attempt any one of the following : (6]
(i) State and prove Einstein’s criterion for irreducibility.
(ii) Prove that every Euclidean domain is a PID.
(B) Attempt any two of the following : [10]

(1) If D is an integral domain with a multiplicative norm N

)

then prove that N(1) = 1 and N(u) = 1 for every unit u € D.

(ii) Consider a=7+2 and B=3-4i in Z[i]. Find § and p

in Z[i] such that :
a=p3+p with N(p)<N@P).

(iii) Show that the cyclotoinic polynomial :

is irreducible over Q for any prime P.
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| [3601]-370
T.Y; B.A. EXAMINATION, 2009
MATHEMATICS
(MS-3 : Metric Spaces and Complex Analysis)
(2004 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.
1. Attempt each of the following : [16]

(i) State whether the following statement is True or False with

justification. The sequence :

- is convergent in R .
(#i) Let :
A={<x,y>eR2|x+y=1}

13
Show that the point <§, g> is not a limit point of A.

P.T.O.



(iii) Using the definition of totally bounded sets, show that :
A = {1, 2, 3}
is a totally bounded subset of R'.
(iv) Show that :
M = (5, 10]
is not a compact metric space with absolute value metric.
(v) Show that :
f(2) = exp(2)
is an entire function.

(vi) State whether the following statement is True or False with
justification.

If x is a real number, then cos (ix) is also a real number.

(vii) Find real and imaginary components of log (—ei).

(viii) Evaluate :

I 5 sz dz.
z°-52+6
lzj=1

2. (A) Attempt any one of the following : [6]

(i) Let My and Mg be any two metric spaces. Prove that a
function f : My — My is continuous at a e M; if and only "
if whenever {x,};_4 is a sequence of points in My converging
to d, then the sequence {f(x, ). of points in Mg converges

to fla).
[3601]-370 2



(B)

3. A
(B)
[3601]-370

(ii) If the metric space M has the Heine-Borel property, then

prove that M is compact.

Attempt any two of the following : [10]

() If E is any subset of a metric space M, then prove that

E is a closed subset of M.

(i) Let g and f be continuous real valued functions of the metric
space M. If :

A ={x e M| f(x) < gx)},
prove that A is open in M.

(tir) If A is a connected subset of a metric space M, prove that

A is connected.
Attempt any two of the following : (8]

(1) If A is a totally bounded subset of a metric space M, then
prove that A is bounded.

(i1) Prove that the interval (0, 1) with the absolute value metric

is not a complete metric space. Also prove that (0, 1) with

the metric of R; is a complete metric space.

(iit) Prove that if A is an infinite set and x € A, then A and

A - {x] are equivalent.

Attempt any two of the following : (8]

- () Show that :

f(z) = sinx coshy + i cosx . sinhy

is an entire function.
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(ii) Find all values of z such that :
eZ = 2.
(iii) Use definitions of sinz and cosz to show that :
2 sin(z; + 29) sin(z; — 2g) = €08 229 — COs 22.
4. (A) Attempt any one of the following : [6]
(i) Let the function :
f(2) = ulx, y) + iv(x, y)

be defined throughout some ¢ neighbourhood of a point
20 = %o + iyo. If the first order partial derivatives of the
functions z and v with respect to x and y exist everywhere
in that neighbourhood and they are continuous at (xq, yg);

and if those partial derivatives satisfy C.R. equations :
U, = U, and Uy = —Vy at (xg, ¥o)
then prove -that f'(zp) exists.
(ii) Prove that a function :
f(2) = ulx, y) + iv(x, ¥)
is analytic in a domain D if and only if v is a harmonic

conjugate of u.
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(B) Attempt any tws of the follpwing : 190]
(i) Find all roots of the equaiion :
sinz = cosh4.
(it) Let Cg denote the upper half of the circle |z} = RR > 2),

taken in the counterclockwise direction. Show that :

——————d2z| <
R 2T +522+4 ! (R? - 13 (R? - 4)°

f 222 - 1 < MR(ZR? + 1)
C

(iti) Let C be the unit circle z = ¢®(-n < 9 < 7). First show that,

for any real constant ¢ :

eaz
_[ € dz = omi.
C A

Then write the integral in terms of g to derive the integration

formula
T e )
J e%5% cos(a sin8)dO = n.
0

6. (A) Atstempt any one of the following : (6]
() State and prove Liouville’s Theorem.

(1i) State and prove Taylor’s Theorem.
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{R) Attempt any two of the following : [10]

(i} Give two Laurent series expansions in powers of z for the

function :

. 1
=202

and specify the regions in which those expansions are valid.

(ii) Find the value of the integral :

J‘ 323 + 2
C (z-DE*+9
taken counterclockwise around the circle |z - 2| = 2.

(iii) Find the linear fractional transformation that maps the points
21 = 1, 29 = 0, z3 = -1 onto the points wy = i, wy = =,

w3=1.
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T.Y. B.A. EXAMINATION, 2009
MATHEMATICS
MS-4 : Dynamics and Differential Equations
(2004 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
@@i) VFigures to the right indicate full marks.
1. Attempt each of the following : [16]

() If a particle moves in a straight line such that the distance

s from a fixed point on the line at time ¢ is :
s=1t3+ 2?2 +3t+1 meters,
find its velocity and acceleration at ¢ = 2 sec.
(ii) State Newton’s first law of motion.
(iti) Show that the force :
f=yzi+xzj+xyk
is conservative.
(iv) Define simple harmonic motion.
(v) Find the direction cosines of the tangent at the point (x, y, 2)
to the conic :

ax2+by2+cz2=1, x+y+z=1,

P.T.O.



(vi)

(vii)

Show that the equation :
ydx + xdy + 22dz = 0
is integrable.
Verify that :
z=ax+by+a+b-ab
is a complete integral of the partial differential equation :
z2=px+qy+p+q-pq,

where @ and b are arbitrary constants.

(viit) Find the complete integral of the equation :

2. A

(B)

[3601]-371

z = pq.
Attempt any one of the following : (6]

(1) Obtain tangential and normal components of velocity and

acceleration of a moving particle.

(ii) Prove that for a particle acted on by conservative forces,
the sum of kinetic energy and potential energy remains

constant for all time.
Attempt any two of the following : [10]

(i) A particle of mass m is projected up the smooth inclined
plane with an initial velocity u. Discuss the motion and prove
that the particle will come to rest for an instant

_u
g sino’

when



(ii) A particle is thrown over a triangle from one end of a
horizontal base to the other. If o, B are base angle and

0 is the angle of projection, show that :
tan0 = tana + tanf.

(iii) A point is executing S.H.M. while moving from one extreme
position to the other. Its distance from the middle point
of its path, at three successive seconds are observed to be

%1, X9 and xg. Show that the time of a complete oscillation

is 2n
0
-1l x; + X
where 0 = cos (——lz—x—z——i)
3. (A) Attempt any two of the following : (8]

(i) A stone dropped into an empty pit of depth A is heard
to strike the bottom after ¢ seconds. Prove that :

2h(1 + %) = gt*

v

when v, the velocity of sound, is so large in magnitude as
h 2
compared with A that (;) can be neglected.

(i) For the particle describing a central orbit, derive the

equation :
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(iii) A particle describes a cardioid :
r = a(l + cos0)

under the action of a central force directed towards the

- pole. Show that magnitude of the force is proportional to
1

r4.

(B) Attempt any two of the following : (8]

(i) Find the integral curves of the equations :

dx dy dz

xz-y yz-x 1-22
(ii) Solve :
y2(y + 2)dx + x2(x + 2)dy + xy(x + y)dz = 0.

(iii) Explain the method of solving the partial differential

equation :

f(P’ Q) =0.

4, (A) Attempt.any one of the following : (6]

(i) Show that a necessary and sufficient condition that there
exists between two functions u(x, y) and v(x, y) a relation

F(u, v) = 0 not involving x or y explicitly is that :

au, v)
? = O
ox, y)
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(i) Explain Natani’s method to solve the differential equation :
Pdx + Qdy + Rdz = 0.
(B) Attempt any two of the following : (10]
(i) Verify that the differential equation :
(y2 + yz)dx + (xz + 22)dy + (y2 - xy)dz = 0.
is integrable and find its primitive.

(ii) Show that the orthogonal trajectories on the hyperboloid
x2 + y2 — 22 = 1 of conics in which it is cut by the system
of planes x + y = ¢ are its curves of intersection with the

surface :
(x —y)z=k,
where k is a parameter.

(iii) Find the surface which intersects the surfaces of the system
2x + y)=cBz+ 1) orthogonally and which passes through

the circle x2 +y2=1, z=1.
5. (A) Attempt any one of the following : [6]

(i) Show that the general solution of the linear partial differential
equation Pp + Qg = R is F(u, v) = 0, where F is an arbitrary
function and u(x, y, z) = ¢; and v(x, ¥ z) = ¢g form a
solution of the equations :

dx _dy _dz
P Q@ R

[3601]-371 5 P.T.O.



(B)
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(it) Explain Jacobi’s method for solving a partial differential

equation :
F(x, y, 2z, p, @) = 0.
Attempt any two of the following : [10]

() Find the general integral of the linear partial differential
equation :
(y + 2x)p - (x + y2)q = x2 - y2.
(z7) If the equations z = px + gy and 2xy(p2 +q?) = z(yp + xq)

are compatible, then find their solution.

(iii) Find the complete integral of the equation :

(p2 + q2)y = qa.
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T.Y. B.A. EXAMINATION, 2009
LOGIC AND METHODOLOGY OF SCIENCE

(G-III : Indian Logic and Methodology of Natural

and Social Sciences)

(2004 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(id) Figures to the right indicate full marks.

1. Answer any ten questions in ome or two sentences each
(20 words) [20]

1)
(2)
3)
(4)
(5)
(6)
7
(8)
9)
(10)
(11)
(12)
(13)

What is Natural Science ?

List the four causes of Aristotle.

Define Observation.

What is meant by the term ‘Inductive leap’ ?

List any two social sciences.

What is meant by the term value-neutrality ?

State any fwo types of Explanation.

List any two major- issues in the philosophy of Science.
Distinguish between event and action.

What is meant by the term Unity of Method ?

State any two limitations to experimentation in the Social Sciences.
Name the two types of observation.

Define Philosophy of Science.

P.T.O.
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each
(1)
(2)
(3)
(4)

each :

1)
2)
3)
4)

(500

(1)

(2)
(3)

(4)
[3601]-373

Answer any two questions in five or six sentences (50 words)

(10]
Discuss Hume’s view of causation.
Write a note on the probabilistic model of explanation.
Write a note on the intersubjectivity in the social sciences.
Write a note on the need for participant observation in social

science.

Answer any two questions in twenty five to thirty lines (200 words)

[20]
Explain fully the nature of scientific theory.

Write a note on the need for questionnaire in social science.
Discuss fully the mechanistic perspective in Science.

Distinguish between event and action.

Answer any two of the following questions in fifty to sixty sentences

words) each : [30]
Explain the difference between common-sense knowledge and
science.

Discuss the limits of scientific rationality.

Explain the distinctive nature of Social Science in term of
its subject matter, methods, goals.

Can social sciences be value-free ? Discuss.
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T.Y. B.AA. EXAMINATION, 2009
SOCIOLOGY
(Group A : G-3 : Industrial Sociology)
Or
(Group B : G-3 Crime and Society)
(2004 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(ti) Figures to the right indicate full marks.

(Zit) Attempt Group A or Group B.
Group A : Industrial Sociology

1.  Answer any ten of the following in maximum 20 words each : [20]
(1) Define Industrial Labour.
(2) Define Trade Union.
(3) Define Industrial Relation.
(4) State the meaning of workers’ participation in Management.
(6) What is Arbitration ?
(6) Define Collective Bargaining.
(7)  What is the function of Labour Court ?
(8) What is Line Organization ?

(9) Define Formal Organization.
P.T.O.



(10)
(11)
(12)
(13)

Write any two limitations of Trade Union.

What is the role of Labour Welfare Officer ?

State any two problems of Industrial Organization.

What is sociological approach to Industrial Relation ?

2. Write notes on any two of the following in maximum 50 words

each :

(1)
(2)
3)
(4)

[10]

Principles of Industrial Organization.

Staff Organization.

Conciliation.

Role of Industrial Worker.

3. Answer any two of the following in maximum 150 words each :

1)
(2)

3)
4)

]

~ [20]
What is Automation ? Explain the characteristics of Automation.
Discuss the impact of industrial development on marriage and
family.
Explain the objectives of Industrial relations.

What are the characteristics of Collective Bargaining ?

4. Answer any two of the following in maximum 300 words each : [30]

(D
(2)
3)

4)
[3601]-374

Describe in detail the Industrial Policy in India since 1991.
Explain the characteristics of Industrial Society.

What is Industrial Sociology ? Explain the subject matter and
scope of Industrial Sociology.

Explain the functions of Trade Union.
2



Or

Group B : Crime and Society

Time : Three Hours Maximum Marks : 80

1. Answer any ten of the following in maximum 20 words each : [20]

(1)
(2)
3)
)
(5)
(6)
(7N
(8)
(9)
(10)
(11)
(12)

(13)

Give legal definition of Crime.

State any two characteristics of Crime.
What is eve teasing ?

What is retributive justice ?

Define rehabilitation of prisoners.

What is Probation ?

Define Parole.

What is sociological explanation of Crime ?
What is deterrent punishment ?

What is prevention of Crime ?

State old concept of Crime.

State any two examples of Criminal Violence against Indian
Women.

Suggest any fwo measures to control wife beating.

2. Write notes on any two of the following in maximum 50 words

each :

(1)
(2)
3)
(4)
[3601]-374

[10]
Any two features of cyber crime.

Any two features of open prison. )

Meaning of Labelling of Crime.

Any two features of Organic Deficiency Theory of Crime.

3 P.T.O.



3. Answer any two of the following in maximum 150 words each : [20]

1)
(2)
(3)
4)

Discuss the Classical/Free Will theory of Crime.

Elaborate the main features of four major theories of Punishment.
Discuss the types of crime with suitable examples.

What is correction ? State the importance of correction of

criminals.

4. Answer any two of the following in maximum 300 words each : [30]

(1) What is anomie ? Discuss Merton’s Anomie theory of crime.
(2) What is Juvenile Delinquency ? What are the measures to
control Juvenile Delinquency in India ?
(8) Define terrorism. Write an essay on terrorism in India.
(4) Discuss the nature and development of Victimological perspective.
What is the role of victim in crime ?
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T.Y. B.A. EXAMINATION, 2009

SOCIOLOGY
(S-8 : Social Research Methods)

(2004 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. — () Al Questions are compulsory.
(ii) Figures to the right indicate full marks.

1. Answer any ten of the following questions in maximum 20 words
each : [20]

(1) Stém the meaning of hypothesis.

(2) What is survey method ?

(83) What is research ?

(4) State the meaning of concept.

(6) Define case study method.

6) What is Positivism ?

(7) State any two merits of sampling.
(8) What is Schedule ?

) vState any two demerits of interview.
(10) What is Median ? |

(11) What is Coding ?

(12) State any two uses of report writing.
(13) Write any two obstacles to objectivity.

P.T.O.



2. Write notes on any two of the following in maximum 50 words
each ‘ (101
(1) Types of research.
(2) Nature of concept.
(3) Content analysis.

(4) Use of computer in data analysis.

3. Answer any two of the following in maximum 150 words
each : ' [20]
(1) Briefly explain the stages of scientific method.
(2) Discuss the characteristics of good hypothesis.
(3) State the characteristics of good report writing.

(4) What is Frequency distribution ? How is it presented ?

4. Answer any two of the following in maximum 300 words
each : [30]
(1) What is observation method ? Explain types of observation.
(2) What is social research ? Describe various stages of social
research.
(3) What is questionnaire ? Explain the merits and demerits of
questionnaire.

(4) Explain the types of research design.

[3601}-375 2
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T.Y. B.A. EXAMINATION, 2009 |

| SOCIOLOGY
(S-4 : Indian Society : Structure and Change)

(2004 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer any ten of the following in maximum 20 words each : [20]

(1)
(2)
3)
(4)
(5)
(6)
(7)
(8)
9
(10)
(11)
(12)
(13)

What is structural-functional approach ?

Define Kinship.

Give any two features of marriage institution.

Define Town.

Write any two features of Caste.

Define Gender.

State any two impacts of British period on Indian Society.
Define Democracy.

Name any fwo legislatives associated with family institution.
Define Modernization.

Give any two impacts of urbanization on Indian Society.
Define Industrialization.

Give the meaning of sub-national movement.

P.T.O.



each

(1)

(2)

(3)

(4)

(1)

(2)

(3)

(4)

(1)

(2)
(3)

(4)
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Write notes on any two of the following in maximum 50 words

[10]
Features of Indological approach.
Characteristics of family.
Sanskritization.

Pluralism.

Answer any two of the following in maximum 150 words each : [20]

Explain the contribution of A.R. Desai to the Marxist
approach.

Discuss the features of village life in India.

Discuss the impact of secularization on Indian society.

Explain the characteristics of backward class movement.

Answer any two of the following in maximum 300 words each : [30]

Take a brief review of Indian History' from Mohenjo Daro and
Harappa Civilization to Mughal period.

Examine the Women’s movement in India.

Describe the factors bringing about changes in the caste
system.

Explain the impact of modernization and westernization on Indian

Society.
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T.Y. B.A. EXAMINATION, 2009

ANCIENT INDIAN HISTORY, CULTURE AND ARCHAEOLOGY

General Paper III

(Outline of Ancient Indian Religion and Philosophy)

(2004 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 20 words each (any ten) : [20]

(1)
(2)
3)
(4)
(5)
(6)
(7
(8)
(9)
(10)
(11)

(12)
(13)

State the period of the composition of Rigveda.

Write the two divisions of Atharvaveda.

Name any two types of a sacrifice.

Explain the term Arar;yaka.

State any fwo Shaiva Cults.

How many Sholakas are there in Mahabharata ?

Explain the term ‘Puranas’.

What is the opinion of Charvaka about rebirth ?

Explain the concept ‘Tirthankars’.

State any two features of the Digambara sect of Jainism.

Name the place; where Bhagwan Buddha delivered his first

sermon.
Write any two causes for the spread of Buddhism.

State any two features of Heterodox sects.

P.T.O.



2.
(1)
(2)
3)
(4)
3.
(1)
(2)
(3)
(4)
4,

(1)

(2)

(3)

(4)
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Answer the following questions in 50 words each (any two) : [10]

Write a short note on Yajurveda.
What do you know about the composition of Ramayana ?
Explain the ‘Pancha-Anuvratas’ in Jainism.

What was a ‘Pachittiya’ ?

Answer the following questions in 150 words each (any two) : [20]

Write a note on Atharvaveda.
Explain the philosophy of the Aranyakas.
Describe the main principles of Charvaka.

Write the life of Bhagwan Mahavira.

Answer the following questions in 300 words each (any two) : [30]

State the composition of Rigveda and describe the philosophical
thoughts in it.

Discuss the historical development of Vaishnavism.

Write an essay on the philosophy of Buddhism.

Describe the various Heterodox sects and their philosophy.

2
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T.Y. B.A. EXAMINATION, 2009
MATHEMATICS
(Mathematical Prerequisites)

(2004 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.

(iii) Use of electronic calculator is allowed.
(iv) Graph paper will be supplied on demand.

1. Attempt any ten of the following :
(1) Find A - 3B, where

aea delo

Write the given system of equations in Matrix form :

[20]

(2)
xX + 2y =6
2 — y = 12.

(8) Define : Linear programming problem.

(4) Find determinant of A by Laplace expansion :

A=[8 3].
6 4
(5) Find
(A + BY)
where
-1
A=[123],B=|0}|
3

" P.TO.



(6)’ Find eigen values of A = [3 _53].

(7) Draw the graph of the following inequalities :
x +y > 2
x + y < 5, x,

(8)  Test functional dependence of the following by Jacobian :
yp = 4x% + 3x5 + 9

yo =162 + 24x2 xy + 9x5 + 12,

9 Is A= (284 175) invertible ? Justify.

(10) Show that. the following matrix is invertible :

where A:(2 3),
6

9
(11) Define : Adjoint of a matrix.
(12) Find AB,
o
)
A=[3987],B= 5|
1

L

(13) Write the advantages of dual of L.P.P.

2. Attempt any two of the following : [10]
(1) Given :
2 5 1
A=|3 2 4
1 4 2

Verify det (A) = det (AY.

[3601]-378 2



(2)

Write a dual of the following L.P.P. :
Max. :

z =3x; + 4%y + 5xg — x4
Subject to the constraints :

10x; — 4x9 + 9%, <6

2xq; —6x9 + 8xg + x4 <9, x? 2 0.

(3) Convert the inequality constraints in. the following data into
equations by slack and surplus variables and express the equation
in matrix form :

Max. :
z = 24x, + 8x,
Subject to the constraints :
2x; + bxy, < 40
10x; + 5x, < 60
4x, + x5, < 20, x;, %9 > 0.
3. Attempt any two of the following : [20]
(1) Use the Simplex algorithm to solve the following :
Min. :
T = 4x; + 2x,
Subject to the constraints :
de, + x9 > 20
2¢c; + x9 > 14
x; + 6x, > 18, X, x9 > 0.

(2) Optimize the following function using Cramer’s rule for the
first order condition :
y= 3x12 - 8% — X% + 6x§ ~4x9 + 2x9x3 + 4x§ + 2x3 — 3x7x3.

[3601]-378 3 PTO.



(3) Find the inverse of A by adjoint method, if exist :-

11 -1 -1
where A=|-1 6 -2|
-1 -2 7
4, Attempt any two of the following : [30]

(1) Solve the system of Linear equation by Gaussian elimination
method. Is this solution trivial ? Justify :
2¢ + 4y - 3z = 12
3x — 5y + 22 = 13
- x + 3y + 2z = 17.
(2) Explain Marshallian Demand Function.
(3) Determine the total demand for industries 1, 2 and 3 given
the matrix of technical coefficient A and final demand vector
B below :
Output Industry

02 03 021 _ 150
Input
A=(04 0.1 03|2 B =1]200|.
Industry
0.3 0.5 0.2]3 210

[3601]-378 4
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T.Y. B.A. EXAMINATION, 2009
STATISTICS |
Paper III (General)

(Operations Research and Design of Experiments)

(2004 PATTERN)

Time : Three Hours _ Maximum Marks : 80

N.B. —

(i) All questions arev compulsory.
(i) Figures to the right indicate full marks.
(iii) Use of calculator and statistical table is allowed.

(fv) Notations and symbols have thejr usual meanings.

1. Attempt any ten of the following : [2 each]:
(@) Define a L.P.P. (Linear Programming Problem).
(b) State standard form of a L.P.P.
(¢) Define a basic feasible solution of a L.P.P.
(d) Explain the term ‘“treatment’ with an illustration.
(e) Explain the principle of randomisation in design of experiments.
()  State linear mathematical model of g randomised block design

(R.B.D.) by explaining the various notations involved in it.

(& When is a trénsportion problem said to be unbalanced

transportation problem ?

P.T.O.



(h)  Explain the difference between a transportation problem and
assignment problem.

(i) If E denotes relative efficiency of a design D, with respect
to design Dy, give its interpretation.

()  State the assumptions in dealing with 5 Sequencing problem.

(k)  Explain the concept of a concomittant variable with an illustration.

(I) State a linear mathematical model for analysis of covariance
in completely randomised design (C.R.D.) by explaining various
notations involved in it

(m) Describe Yate's procedure for obtaining interaction effects for
22 factorial experiment,

2.  Attempt any two of the following : [5 each]
(@) The contents of Vitamihs, starch and protein of two foods as

well as the minimum daily requirements of each ingredient

are given below :

Units per Units per Minimum

gm of A gm of B Requirement

Vitamin 1 3 50
Starch 5 1 ) 600
Protein 3 2 120
Cost (Rs.) 4 2

[3601]-379

Formulate this as L.PP.

2




(b) State the model and also state the estimate of parameters

for analysis of covariance in R.B.D.

(¢) Find a sequence that minimizes the total elapsed time “I° for

processing five jobs on three machines A, B and C in the

order ABC.
Jobs 1 2 3 4 5
Machines
A 8 18 16 12 10
B 10 12 4 6 8
C 16 20 12 14 22
Also compute T and idle time for each machine.
(d) Describe layout and model for a split plot design.
3. Attempt any two of the following : [10 each]

(@) Obtain IBFS by Vogel’s Approximation Method (VAM) and check
its optimality for the following T.P.

Factory Warehouses Supply
W, W, Wg L W;
Fy 10 55 50 15 35 4
Fy 5 20 35 10 5 8
| 15 45 20 40 60 9
Demand 3 3 4 5 21
[3601]-379 3 P.T.O.



(b)

(c)
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(i) Describe mathematical model and hypotheses to be tested
in ANOVA of L.S.D. Also state estimate of parameters. [6]
(ii) A machine tool company decides to make four sub-assemblies
through four contractors. The cost of each sub-assembly
determined by the bids submitted by each contractor are
given below :
Contractors
Sub-assemblies 1 2 3 4
1 15 13 14 17
II 11 12 15 13
II1 13 12 10 11
|\Y 15 17 14 16
Assign the different subassemblies to different contractors
so as to minimize the total cost. (4]
(i) Obtain an expression for efficiency of L.S.D. over R.B.D.
if rows are used as blocks. Also state your assumptions. [6]
(i) Solve the following L.P.P. graphically :

Maximize : Z = 3b6xy + 10xg
Subject to :
3xqy + 3xg = 300
- 2x¢9 < 110
2¢q + x2 < 180

x120 x9g 2 0 (4]



(d) @) Identify the confounded effects in each of the replication
of an experiment given below. Also state ANOVA table
for this experiment. [6]
Replicate 1 )
Block 1 (p) (1) (npk) (nk)
Block 2 (pk) (n) (np) (k)
Replicate II
Block 1 (n) (pk) (npk) (1)
Block 2 (p) (k) (np) (nk)
(ii) Describe the procedure for testing the equality of two

Attempt any two of the following :

@) @
i)
® @
(i)

[36011-379

specified treatment effects in L.S.D. (4]

[15 each]
Solve the following L.P.P. by simplex method :
Maximize : Z = 500x; + 600xy + 1200 xg

Subject to :

iA

160
120

2xq + 4xg + 6x3
3xq + 2xg + 4x3 <
X1, X9, X3 2 0. [10]
Write a note on ‘Local Control’ in design of experiments. [5]

When and why is analysis of covariance technique
recommended ? Also describe in brief the technique of
ANACOVA in RB.D. [10]

Describe a method for solving a sequencing problem of

n jobs on three machines. (5]

5 -P.T.O.



) @

(i7)

@ @

Define main effects and interaction effects in factorial
experiment. Obtain their mathematical expression in 23
factorial experiment for a main effect, a two factor

interaction and a three factor interaction. [(10]
Write the dual of the following L.P.P.
Maximize : Z = 3x; + 2x9 + 3xg
Subject to the constraints :
2¢1 + x9 + x93 < 2
3x1 + 4xg9 + 2xg > 8
X1, X9, x3 2 0. [5]

State the hypotheses to be tested in L.S.D. Obtain the

expected value of error mean sum of squares in it. [10]

(i) Find IBFS to the following T.P. having cost matrix given
below using North-West Corner and Matrix Minima
Method. -~ [5]
. Market
Warehouses Supply
I I1 111 v
A 5 2 4 3 22
B 4 8 1 6 15
C 4 6 7 8
Requirement 7 12 17 9
[3601]-379 6
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- [3601]-380
T.Y. B.A. EXAMINATION, 2009
STATISTICS (Special)
Paper III
(Distribution Theory)
(2004 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.
(iii) Use of calculator and statistical table is allowed.
(lv) Notations and symbols have their usual meanings.
1. Attempt any ten of the following : [2 each]

(a) Define multinomial distribution.

®) If
X > W (a, B)
state p.df. of X if a = B = 1.
) If
X —» U1, 1)
find F(x).
d If
X - N (y, o2,

then state the distribution of log X.

P.T.O.



(e) If
X ->C(@01,
then state its mean.

(f) State the relationship between Weibull and Gamma

distribution.

@ If

1
50, —
X > B ( 2)

then using CLT find P(X < 25).
(h) State real life situation where order statistics can be used.
()  State conditional distribution of X given
Y=yifX,Y) > BN (0, 0, 1, )1, 0.25).
() Define truncated binomial distribution at X = 0.
(B) If

X - 10, 1),
. 4. ) 1
then state distribution of X

(I)  State additive property of Cauchy’s distribution.

(m) State Chebyshev’s theorem for discrete random variable.

[3601]-380 2



2. Attempt any two of the following : [5 each]

(@) If g(x) is a non-negative function of a r.v. X and if ElgX)] < ©

and if K is a positive real number, then show that :

P[g(X)zK]sE[%(X—)J.
(b) Let
X, Y) > BN (4, 25, 32, 42, 0.4),
find
PY < 83X = 2).
() Let
X - U(-q, a)

find its mean and variance.
(d) Define Cauchy’s distribution. If
| X->Cq, 1),
then find the distribution of Y = X2,
8. Attempt any two of the following : [10 each]

(@) State and prove central limit theorem (C.L.T.) for i.i.d. r.vs. based

on moment generating function (m.g.f).

[3601]-380 3 P.T.O.



(b}

If

A>0

then find mean and variance of X.

(¢c) Let
12
X, Y) - BN (1, 2, 42, 52, E)
find :
() PX < 3)and
Gi) PX < 3/Y = 3).
(d) Define order statistics and obtain joint distribution of (X;), X(]-))
with usual notations.
4. Attempt any two of the following : [15 each]
@ @ If

[3601]-380

X - U@, 1) and Y —» U, 1)
are two independent random variables then find the
distribution of X - Y. (8]
@) If
X - LN (q, , o2,
find rth raw moment about ‘@’ and hence find its

mean. ' [7]



(¢)

[3601]-380

(i1)

)

Let

1 < X@2) < Xg) < .. < X

be the ordered statistics corresponding to a random
sample of size 8 drawn from a population with p.d.f.

given by

f(x)=%{e_§]; x>0

= 0; otherwise
find P[X(2) > 0.1]. [8]
Let
X > C (y, A).

Obtain the distribution function of X and also find its upper

quartile (Qg). (7]
If
(X1, X, «cc... Xg) > Mp (n; py, pg, ..., Pg)
_ then find its joint m.g.f. of X1, X9, e Xk) and hence
find marginal p.mf. of X;. [8]
5 P.T.O.




()
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(i1)

@)

(i7)

State and prove Chebyshev’s inequality for continuous
random variable X and use it to find lower bound for

P[|X - 3] < 6] if EX) = 3 EX?) = 13. (7]
If

3\
X 5 L{p=221=2)
- (“ 2)

then find
P[|X| < 5] and P[X > 4]. (8]
Let

(X, Y) - BN (O, 0, 0%, 03, p),

- X
derive the distribution of U = 3 and identify it. [7]
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[3601]-381
T.Y. BA. EXAMINATION, 2009 |
APPLIED MATHEMATICS
(AMG-3 : Real Analysis)
(2004 PATTERN)
Time : Three Hours Maximum Marks : 80

NB. — () Al questioné are compulsory.

(ti) Figures to the right indicate full marks.

1. Attempt each of the following : [16]
(1) Let
flx) = 32, V x € [0 1]

Let

6 ={0’ l’ g’ §" 1}
4 4 4

be a partition of [0 1]. Compute L[ ol.

(ii) Give an example of sequences
{8}, -1 and {t}_,
such that

lim inf(s, +¢,)# lim infs, + lim inf¢,
n-— oo n — oo n— oo :

P.T.O.



(iii) Discuss the convergence of :

(iv) State the Leibnitz test.

(v) Show that

i —— 13X €R,

n=1 n +nx

is uniformly convergent.
(i) Define the n-th Bernstein polynomial.

(vii) Discuss the convergence of
1

(viii) State the integral test for series.

1+x

2.  (a) Attempt any one of the following :
@ If

{5 :-:1

is a sequence of real numbers such that :

lim s, =L, L # 0,

n— e
then prove that :
lim 1. l
n-—yee §,

[3601]-381 - 2
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b)
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(it) Prove that :

S
n=0

is convergent iff 0 < r < 1.

Attempt any two of the following :

(¥) Find N € I such that :

4

+—_5 <l
n+5Jn 77

for all n > N.

(it) Show that :

is convergent.

(fit) Test the convergence of
Y G,
n=1

where

a, = 3 — e B -2 3 - 13

-------

(10}



3. (@) Attempt any two of the following : [8]
@ If
flx) = 5x2 + 3, V x € [0, 1.

Find
j f(x)dx.

(ii) Show that if f € Rla, b] then |f| € Rla, bl. Is the

converse true ? Justify.

(zit) Prove that :

n
2 2 2
2n” [ 2x _Am”
9 n Sinx 9
6
(b) Attempt any two of the following : (8]
@ If
b
j' f(x) dx
a

converges. Is the converse true ?

[3601]-381 4



4. (a)

(b)

[3601]-381

(iz) Show that :

Jl. (xp + x‘p)xlogg + x) "
0

is convergent if 0 < p < 1.

(111) Show that :

Attempt any one of the following : [6]
@ If {fn}::1 i1s a sequence of functions in Rie, b] and

{fn ::] converges uniformly to f on [a, b], then prove

that f € Rla, b] and

n— e

b
lim [ f,(x)dx=[ f(x)dx.

a
(ii) State and prove M, -test for uniform convergence of a

sequence of functions.

Attempt any two of the following : [10]

(i) Show that {f, (x)}::1 is uniformly convergent on R,

where :

5 P.T.O.



5. (a)
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Gy If {fn}::1 and {gn}::1 converges uniformly on a set

E, then prove that {fn + gn}::1 converges uniformly on

E, where E < R.

(iii) Show that the series :

i e 52
n=1

converges uniformly for all x € [0, 10].

*

Attempt any one of the following : [6]

G)  Ifuq), ug), ug(x), .oen. are continuous real valued functions

on a metric space M and :

converges uniformly to flx) on M, then prove that flx)

is continous on M. Hence show that :
Y x(1-x)
n=90

is not uniformly convergent on [0, 1].

6



b)

[3601]-381

(ii) Prove that :

Attempt any one of the following :

(1) Show that the improper integral :

sin x

Q8
xR

is convergent but not absolutely convergent.

"(it) Prove that :

[10]
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T.Y. B.A. EXAMINATION, 2009
APPLIED STATISTICS (General-3)

(Applications of Statistics)

(2004 PATTERN)

Time : Three Hours Maximum Marks
N.B. :— (i) All questions are compulsory.
| (ii) Figures to the right indicate full marks.
(iii) Use of calculator and statistical table is allowed.
(iv) No_tations and symbols have their usual meanings.

1. Attempt any ten of the following :

(@) Define continuous type of random variable.

: 80

[2 each]

(b) State any two properties of distribution function of a continuous

random variable.

(¢) State the formula of Age Specific Fertility Rate (ASFR).

(d) State the test statistic for testing H,:o0% =63 against

H, :o% > o%.

(e) State the break up of total sum of squares in case of ANOVA

(One-way classification).

P.T.O.
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() Explain the term ‘evel of significance’.
(g) Explain the term ‘Chance céuses of variation’.
(h)  Define normal distribution.
()  State any two criterion for judging lack of control for control
charts.
(/)  State the interpretation of low spots on p-chart.
(k)  Define Net Reproduction Rate (NRR).
(I)  Give any two points of distinction between parametric and non-
parametric problem.
(m) Ekplain the concept of standard error of a statistic.
2.  Attempt any two of the following : [5 each]
| (@) Let X follows normal distribution with mean 12 and standard
deviation 4. Find 3
@) PX > 20)
(i) Find the values of @ and b if P(X < b) = 0.30 and
P(X > a) = 0.10.
(6)  Describe the procedure of construction of C chart when standards

are not given.



(¢) Complete the following ANOVA table :

Source of d.f. Sum of Mean F

variation squares sum of calculated
squares

Treatment 3 — 16.7 —

Error — _ _

Total 19 258

(d) Twenty five individuals were asked whether they liked or disliked

a particular product. The following is the sequence of their

survey :
YYNNNYYYNYNNYNNNNNYYYYNN
where Y : liked the product and N : disliked the product.

Use run test to test at 5% level of significance whether the

responses are at random.
3. Attempt any two of the following :

@ @) IfX,Y and Z are independent N(1, 4), N(2, 16) and
N(3, 25) random variables, then calculate
PX - Y + 2Z > 5). [5]

[3601]-382 3 P.T.O.



(i1) Explain the following terms :
(I)  Critical region
(II) Hypothesis. ‘ [5]

()  Given below are the values of sample mean ¥ and sample range

(R) for 10 samples of size 5 each :

Sample No. Range Mean
1 5 43
2 6 42
3 5 37
4. 7 43
5 7 44
6 4 38
7 8 42
8 6 39
9 4 43
10 6 41

Set up X and R charts, examine the state of control of the process.

Comment on your result. [10]

() (@) Explain the large sample test procedure for testing
HO P H1 = o against H]_ CHg > Ho. ‘ (5]

[3601]-382 4



(#Z) In an experiment on pea-breeding, Mendel obtained the

following frequencies of seed :

315 round and yellow, 101 wrinkled and yellow, 108 round
and green, 32 wrinkled and green. According to Mendel’s
theory of heredity the numbers should be in proportion
9 :3:8: 1 Is there any evidence to doubt the theory
at 5% level of significance. [5]

(d) Compute Gross Reproduction Rate (GRR) and Net Reproduction
Rate (NRR) for the data given below : (10]

Age-group Female No. of Survival rate

Population female

(in ’000) births
156—19 170 4700 0.92
20—214 140 11900 0.89
25—29 132 9400 0.88
30—34 126 4100 0.87
356—39 116 1150 0.85
40—44 100 580 0.84
. 45—49 102 100 0.82

[3601]-382 5 P.T.O.



(a)

(b)
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@)

(i)

(Zii)

@)

(ii)

(iii)

Attempt any two of the following :

Describe Chi-square test for independence of attributes for

9 x 2 contingency table. [6]

Explain the meaning and purpose of statistical quality

control. [4]

Describe the two tailed test procedure of Wilcoxon's signed

rank test. {51

Discuss about the non-random pattern that can be observed
within the control limits of control charts for variables. What

conclusions can be drawn about them ? [5]

If Y is a random variable with probability density

function :

kNy, 0 <y < 4.

)

= 0, otherwise.

Find the value of constant k. Further obtain distribution

function of Y. [5]
Define the following terms :
(I) Crude Death Rate (CDR)

an Standardized Death Rate. [5]

6



(c)
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@)

(i7)

In a certain college 120 boys and 80 girls selected randomly

were interviewed to ask whether they own a mobile phone.

- If 74 of the boys and 56 of the girls own a mobile phone

then test whether these data support the hypothesis that
the proportion of the boys who own a mobile is less than

that of girls. Use 5% level of significance. A[5]

The following data refers to the visual defectives found
du;'ing the inspection of the first 10 samples of size 50

each from a lot of two-wheelers manufactured by automobile

company.
Sample No. No. of Defectives
1 4
2 3
3 2
4 3
5 4
6 4
7 4
8 1
9 3
10 2
Draw p-chart for the above data. Comment on the state
of control of the process. (10]
7 P.T.O.



(d)
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(i) Describe t-test for paired observations. (5]
(ii) Explain concept of anaiysis of variance. [5]
(Zii) Cdmpute the standardized death rate by direct method for
the following data : [5]
Standard Population Population A
Age Population | Specific | Population | Specific
(in. '000) death rate | (in ’000) | death rate
0—5 8 50 12 48
5—15 9 14 13 14
16—50 28 10 14 8
50 and above 5 60 10 59




Tota! No. of Questions—4] . [Total No. of Printed Pages—4
| [3601]-383
T.Y. B.A. EXAMINATION, 2009
PHILOSOPHY
(G-3 : Aesthetics and Philosophy of Religion)

(2004 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are cbmpulsory.

(ii) Figures to the right indicate full marks.

1. Answer’ any ten of the following questions (maximum 20 words each) : [20]
(1) What is Aesthetics ?
(2) Give examples of any two classifications of Art.
(3) Explain the term ‘“Performing Art’.
(4) State the meaning of ‘Median’ of Art.
(6) Define the term ‘Bhava’

(6) ° Name the theories regarding the nature of art developed by
Plato and Collingwood.

(7} Give one definition of Religion.
(80 What is Sculpture ?}
(9) Define Pantheism.
(10) State the ontological attributes of God.
(11) What is meant by Evil ?
| (12) Define Secularism.
(13) State the meaning of Ritual.
P.T.O.



0
(@)
3)
4)

(1)
(2)
3)

(4)

(1)

(2)
(3)

(4)
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Answer any two questions in five/six sentences (50 words each) : [10]

Write a note on Sublime.
Distinguish between music and dance.
“God is infinite, personal, loving and holy.” Discuss.

Write a note on belief system.

Answer any two questions 25/30 sentences (200 words each) : [20]

Explain the elements of painting as a work of Art.
Describe the» theory of Art as Communication.

Explain the nature of Religion. What are the elements of religibn ?
Discuss.

State fully the relation between secularism and religious

tolerance.

Answer any two questions in 60/70 sentences (500 words each) : [30]

State and critically examine the different proofs for the existence
of God.

“Religion is a social institution.” Discuss fully.

What are the differences between ordinary experience and aesthetic
experience ? Explain fully.

State the doctrine of Rasa according to Bharatmuni and discuss

it fully.
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[3601]-384

~ T.Y. B.AA. EXAMINATION, 2009
' PHILOSOPHY
(S-83 : Thinkers : Western and Indian)
(2004 PATTERN)

Time : Three Hours | 4 Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(17) Figures to the right indicate full marks.

1.  Answer any ten of the following questions (maximum 20 words each): [20]

(D
(2)
(3)

4)
(5)
(6)
(7)
(8
9

(10)

State the four kinds of Alienation as discussed by Marx.
Name the three modes of being discussed by Sartre.

What is the relation that holds between a ‘name’ and an ¢ object’
according to early Wittgenstein ?

Give two major issues discussed by Ryle.
Explain the term Dialectical Materialism.
What does Ryle mean by knowing how ?
Give two principles of Sarvajanika Satyadharma.
Give two principles associated with Satyagraha.

What do you understand by the term ‘practical’ in the concept
of practical Vedant ?

Which Indian philosophical thought influenced Tagore ?

P.T.O.



(11)
(12)

(13)
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What does Krishnamurti understand by religious mind ?
What is Krishnamurti’s understanding of Consciousness ?

What does the term ‘Sarvodaya’ mean ?

2.  Write short notes on any two of the following (maximum 50 words
each) [10]
(1) Sartre as atheist existentialist.
(2 Language games.
(3) Gandhiji’s concept of truth.
(4) Tagore’s view on art.
8.  Answer any two of the following questions (maximum 150 words each) : {20]
(1) Discuss Marx’s concept of Class Conflict.
(2) Discuss Ryle’s view with respect to Cartesian dualism.
(3) Explain Phule’s concepts of ‘Nirmik’.
(4) Discuss in detail Vivekananda’s views on universal religion.
4. Answer any two of the following questions (maximum 500 words each) : [30]
(1) Elaborately discuss Sartre’s concept of bad faith.
(2) Explain Wittgenstein’s use theory of meaning.
(8) Discuss Krishnamurti’s views on Freedom.
(4) Explain the correlation between the concepts of Ahimsa and

Satyagraha.
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[3601]-385
T.Y. B.A. EXAMINATION, 2009
PHILOSOPHY
Speciai Paper IV
(Textual Study)
(2004 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(it) Figures to the right indicate full marks.

1. Answer any ten of the following gquestions in 1-2 sentences each

(maximum 20 words each) : [20]
(1) Why does the idealist, according to Moore, maintain that the
- object and the subject are necessarily connected ?

(2) Name the three accusers of Socrates and state who among
them Socrates singles out to argue against ?

(3) Which three groups of persons did Socrates interact with to
test the Oracle’s statement ?

(4) What do the terms “qui” and “quid” refer to in Marcel’s treatment
of “having as possession” ?

(6) State two major causes of suffering according to Buddhist
thought.

(6) State the third and the fourth noble truths.

(7)  According to Dhammapada which of the following is not

part of the ‘Panchasheela’ :
‘Ahimsa, Satya, Asteya, Aparigraha’.
P.T.O.



(8)
9)
(10)
(11)
(12)

(13)

State two characteristics of an ‘Arhata’.

State two characteristics of ‘Bala’ according to Dhammapada.
Explain the term Middle Path.

How does Russell describe a practical man ?

What is the best virtue according to Dhammapada ?

State two characteristics of Brahmana according to Dhammapada.

Answer in brief any two of the following (maximum 50 words

each) : [(10]

2.
(1)
(2)
(3)
(4)
3.
each)
1)
(2)
3)
(4)
4,

(1)
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Explain Russell’s statement “All acquisition of knowledge is an

enlargement of the self”.
Explain the Buddhist concept of ‘Sheela’.
State the salient features of the Socratic method.

Explain the concept of ‘Nibbana’

Answer any two of the following questions (maximum 150 words

[20]
Discuss Marcel’s understanding of “having as possession”.
Explain the Buddhist conception of ‘Ahimsa’ as expressed in
Dhammapada.
Briefly explain Moore’s analysis of the statement ‘Esse est percipi’

Discuss the notion of ‘Pratityasamutpada’.

Answer any two of the following questions (minimum 300 words each) : [30]

Discuss in detail Russell’s views about values of Philosophy.

Do you agree with him ? Give reasons for your views.

2



3)

4)

Explain in detail the notion of the ideal person in the light

of Dhammapada.

Elaborately discuss Popper’s principle of falsification and bring

out its significance.

Elaborately discuss the fundamental teachings of Dhammapada.

W& ')

@ : 4 W qgwuw:sok
GAHU — () wd WA Asfan seras sma.

(i) Sodlwete sF o o giferd.

(i) ¥ TUSH WULERE g

1L EEols FER g WA SR YRE 1 fRw 2 amEm (o
20 7I) fowr . [20]

(1)

(2)

A AAER fagardl 3@ &1 9Fae & gEfase enf Rt e
AEIH Y A ?
Hiehfema i folluwi=ht T8 wim et wonfaes gwer SwaER

- Hefew @ s w2

(3)

4)

(5)

(6)
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4. EESNH HUEE G wAE W few (Fme 300 T) [30]
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[3601]-390
T.Y. B.A. EXAMINATION, 2009
(Vocational Course)
COMPUTER APPLICATIONS
Paper V ’
(Theory)
(2004 PATTERN)
Time : 3 Hours Maximum Marks : 60
N.B. :— (i) Attempt any five questions from Section I.
(ii) Attempt any five questions from Section II.
(iii) Draw a neat labelled diagram wherever necessary.
(iv) Figures to the right indicate full marks.

SECTION 1
1. Explain in detail use of web pyramid in web design. [6]

2. Explain different types of networks according to the distance
coverage. : (6]

3. Explain the terms :
(@) SMTP
(b) FTP. [6]

4. Explain the difference between Static Website, Interactive Website
and Dynamic Website. (6]

6. Explain uses of Internet. (6]

6. Write short notes on :
(@) E-mail ,
(b) Website. {6]
P.T.O.



7. List out the information that you will collect to develop a website

of Hotel. Draw a homepage for the same. (6]
SECTION 11
1. Distinguish between traditional commerce and E-commerce. [6]

2. Write short notes on :

(@) Internet security

(b) Encryption. [6]
8. What is trade cycle ? Explain EDI trade cycle. [6]
4. Explain advantages and disadvantages of E-shopping. [6]

5. Explain the following E-payment methods :
(@) Banking and financial payment

(b) Credit/Debit card. [6]
6. Explain the evolution of EDIFACT. [6]
7. Explain the importance of Digital Certificate. [6]

[3601]-390 2



Total No. of Questions—4] [Total No. of Printed Pages—&
[3601]-391
T.Y. B.A. EXAMINATION, 2009
FUNCTIONAL ENGLISH
(Vocational Stream)
Paper V [Theory]
[Written and Oral Cemmunication (Advanced Level)
for Mass Media : Print, Radio, Television]
(2004 PATTERN)
Time : Three Hours Maximum Marks : 40
N.B. :— (i) All questions are compulsory.

(ii) All questions carry equal marks.

1.  (A) Write a paragraph in about 150 words expanding any one of
the following : [10]
(i) TV news channels should care for media ethics.
(i) Electronic media is more powerful than print media.
(Zit) A news reporter has to be an alert and responsible
person.
Or
(B) Write a letter to an editor in about 150 words in response
to the folléwing news : " [10]
You can now exist forever... in a DNA
storage vault
Melbourne : After storing DNA samples for thousands of defence

personnel, an Aussie company is now planning to do the same

P.T.O.



for the general public, with more and more people wishing
to exist forever.

Under a contract, the company DNA Solutions, started off by
taking delivery of samples from more than 70,000 full-time
and reserve military personnel. The DNA business is witnessing
a boon, as people move to place a small part of themselves
into storage for enternity.

Under a voluntary scheme implemented by defence, DNA is
collected from a large number of defence personnel by using
a technology developed by the Melbourne-based firm. However,
these samples will be used only to positively identify dead
troops.

Vern Muir, Company chief, said that defence has asked him
that they may have to store DNA samples from as many as
20,000-30,000 defence personnel.

They collect the DNA by taking a drop of blood on a card
containing a chemical compound that traps DNA at room
temperature. This card can store the sample for at least 100

years.

2. Prepare a news item in about 150 words on the basis of the information

given below : [10]

[3601]-391

Increase in enrolment in English Schools by 74%

Times insight Group
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Chennai .

advantage of knowing English in global economy

enrolment zoomed by 74% within 3 years

Data collected by National University for Education Planning
and Administration.

growth of English more in non-Hindi speaking states
increase between 2003-06

enrolment doubled from 10.6 lakh to 20.9 lakh in Andhra Pradesh
from 14.7 lakh to 17.2 lakh in Tamil Nadu

from 10.6 lakh to 11.9 lakh in Maharashtra.

You are making a speech on ‘The need for Good Health
Care in rural areas.” Use the foilowing news item for reference
to prepare a draft in about 100 words : [10]
Why medical students skip stint in
Villages
TIMES NEWS NETWORK

Mumbai : President Pratibha Patil touched upon a prickly
topic when she exhorted medical students to take up rural
service. The medical corridors have been abuzz for nearly two
years with a debate on whether compulsion can force a doctor

go to rural places.

3 P.T.O.
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In fact, TOI in its edition dated July 7 had carried the ﬁndings
of an RTI (Right to Informgtion) application, which reveals
that most students, irrespective of caste or class, preferred
to pay the government the bond money of Rs. lakh than go
to rural areas (‘90% medical graduates skip rural stint’). The
government’s argument that it has subsidised their education
for five years and the rural stint is hence their social respensibility,
doesn’t cut ice with them.

“It is not just on a whim that students do not take up rural
practice,” says Gunjan Sharma of the Youth For Equality, which
filed RTI mainly to highlight that even reservation category
students who get free education skip the rural stint. Students
ha?e several grouses, he says.

The lack of infrastructure———be it in terms of medical equipment
or housing -- is just one of the many problems. An intern
who did a three-month stint in a primary health centre near
Nashik says, “Even if patients come in with a medical emergency,
there is precious little one can do in primary health centres
because of lack of equipment | and medicines.”

4



(B)

[3601]-391

Sharma points out that states like Rajasthan offer postgraduate
seats to young doctors who have put in a couple of years
of service in public hospitals. “Such incentives could go a long
way in getting students to take up rural posts, but Maharashtra
doesn’t offer such incentives for all its courses,” he says Another
student says that “the govt. has ignored healthcare in the
rural sector.”
Or
Convert the following into a news item to be read in about
60 seconds on radio (The news item should not be in more
than 78 words) : | [10]
2,278-yr-old mummy dies a slow death
TIMES NEWS NETWORK

Jaipur : A 2,278-year-old mummy of an Egyptian priestess
is decaying fast at the city’s Albert Hall Museurn. Displayed
in a glass case, it is a key attraction of the museum but
may not be around very soon, as exposure to oxygen and moisture
has led to its case 'crum‘nling to dust.

Egy}.)tian experts, who had visited the city a few years

ago, had said the mummy bought by Sawai Ram Singhi, then
5 P.TO.
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ruler of Jaipur, from Cairo in 1887 needed tc be kept in an
oxygen-free environment. The cost involved a meagre $1,000,
but the museum authorities seem to be dragging their feet
over it, and it may cost the city one of its treasures.
What’s worse is that the last time the mummy’s case was
taken out for restoration and paintwork, its beam was replaced
incorrectly adding | to the stress on the casket.

Nassry Youssef Iskander, director of the Fgyptian museum at
Cairo who visited Albert Hall a few years ago, said the mummy’s
base was in bad shape and needed urgent repairs. He added
that his country would be happy to gift an oxygen-free showcase
for the mummy, but the museum would have to request his
government first. This has not been done till now.
However, museum officials told TOI that the mummy was
preserved as it should be and that there were no concerns
about it.

But Iskander had said on his visit that the mummy required
major conservation work, none of which seems to have happened.
This despite the state government spending lakhs on the ongoing

renovation of thic museum, which was modelled on the lines

6
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CRUMBLING TO DUST

of the Victoria and Albert Museum in London and designed
by Sir Swinton Jacob.

The building had been constructed to welcome Prince Albert
who later became King Edward VII during his visit to Jaipur.
He laid the foundation stone of the museum in 18786.
The local rulers had taken a lot of interest in the museum
and even bought large Egyptian alabaster figures and scriptures
to create the right ambience in the room where the mummy
is on display.

7 P.T.O.



4. (A) Prepare an alternative copy to attract and influence the
customers. Rewrite the catch line (Make changes only in Verbal
contents) : [10]

ﬁ;’gg The Times Group is India’s largest media and
e &5 3 - 1
SO EG de,  entertainment conglomerate. The group prides
THE TIMES itself on building powerful brands such as
> The Times Of India, The Eceonomic Times,
Navbharat Times, Femina, Filmfare, Mumbai
Mirror and many more.

WE ARE LOOKING AT FILLING
THE FOLLOWING VACANCIES.
. OFFICERS

| SENIOR OFFICERS

If you are a person interested in making your career in the media
industry and have excellent communication skills, with a burning
desire for sales, here is an opportunity you should not miss. MBA’s
with 2 years sales experience would be preferred.

Fagiat

D00

Or
(B) You were the witness to some kind of terrorists’ movement
in your area. Write a report to be sent to a local
newspaper. ) [10]

[3601]-391 8



Total No. of Questions—6] [Total No. of Printed Pages—2

[3601]-392

T.Y. B.A. EXAMINATION, 2009
TRAVEL AND TOURISM MANAGEMENT
Paper V
(Emerging Trends in Tourism)
(VOCATIONAL STREAM)

(2004 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B.

:— (i) Attempt any Four questions.
(it) Figures to the right indicate full marks.
(iii) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map stencil is allowed.

Explain the concept of Destination Life Cycle (DLC) in relation with
destination development. Discuss the characteristics of each stage in
DLC. (20]

Explain the pull factors influencing tourist destination. [20]

Explain the factors that are responsible for continuous development

of manpower in relation with tourism. [20]

Provide information about ‘Incredible India Campaign’ promoted by

India for tourism promotion. [20]

P.T.O.



5. What is sustainable tourism ? Discuss different strategies for sustainable

tourism development. ' [20]
6. Write short notes on any fwo : [20]

(i) Carrying capacity

(it) Medical tourism

(ii1) Fairs and festivals : A tool to promote destination

(iv) Pollution : Negative impact of tourism.

[3601]-392 2
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[3601]-394

T.Y.. B.A. EXAMINATION, 2009

e il e

(Functional Hindi : Vocational)

W vV
(warur R Wed/gEEw ar &l § <@, 20w
iR wrget W)
(2004 PATTERN)
g : 2 "  quils : 40

g — () it WA sIfEd ¥
() W & afedt R fa@ siw ww & quie ¥

1. ‘virmee R deved’ wgEeed @ fadeel W owEm SR (8]
et

TSTEED & od WR w@ g WEees il $ e w1 @
=g €Sy

9. Har weAd & fau uRumHene wid-vafdn ) gHa fe 9| WoeEn
e AEEF § ? 8]

T
fafeq dfear 1 oMavawa W HW gL e & wHR w1 uRea e

3. (&%) wX TR & fafaw o = @ wifsw) [8]
Aga

Tetie, 3-0a qen fafedifen &1 Sl €Sy
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4. ()
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Hisgh 9 faa vl g frafafes 4 @ 5 9w gl =

f @ fafan : 4]
() AR G B SR G NS -
W ¥ (RRET/ ek /<hTale )
N — Riex del B E (S )
ETT—— o R P wiE ww ww s d
(et /mrefit/donf)
(iv) TR F UM R o UEE Y@ gEy E e SN
4 (BT |IFATR/ T
O L — faum @ simla Twm @ AW, S @k
wEE ad yoEl &1 fgeRwr @@ ¥
(afea/gatero/frafafy)
N U St SRR R

frfafen 4 @ fodl AR w=l & fo st wftanfos v fofan @ (4]
(i) HsE WerR fm,

(ii) AT,

(iii) v TEeA fusrt,

(iv) gImEA 9,

(v) w94 eeEl,

(vi) ATFAEA |



(@) Frmfafen 4 4 fred R wedl & fog R wiRonfoes v forfe : (4]
(i) Central Vigilance Commiésion,'
(ii) Bearer,
(iit) Accidents Investigation Officer,
(iv) Abstract,
(v) Leave not earned,

(vi) Anticipated revenue.

(M frfafes & 3 < W & & @ fafew [4]
() In reply to your letter No. ..... dated............... .
(i7) I am directed to acknowledge the receipt of your letter.
(iii) Please give top priority to this work.

(iv) Please hand over charge to shri.............. and report yourself

at............. .
(v) It may further be added................ .
(vi) Ordered also that the Resolution be published in the Gazette

of India for general information.
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Total No. of Questions—4] - [Total No. of Printed Pages—3
[3601]-395
T.Y. B.A. EXAMINATION, 2009
(Voecational Course)
SOIL CONSERVATION-III

Paper I (Theory)

(2004 PATTERN)
Time : Three Hours . Maximum Marks : 60

N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.

(iti) Draw neat diagrams wherever necessary.

1. Answer the following : 4]
(a) Define strip cropping.
(b) Define watershed.
(¢) Define land capability.
(d) Enlist the factors affecting soil erosion.
(¢) Name the amendments to improve acid soils.
(f) Define soil fertility.
(g) Define fertilizer.

2. (a) Explain the importance of crop cover. [5]
| Or

Give the types of soil erosion and comment on. (5]

(b) What is the effect of saline water on soil ? . (5]

P.T.O.



P

3. (a)

Explain the importance of cropping pattern in soil and water

conservation. ‘ (8]
(b) Distinguish between crop rotation and mix cropping. [8]
Or
What are the characteristics of watershed ? (8]
4. (a) Give the detailed land capability classification. [10]
Or
What are the preventive measures for saline and sodic soil ? {10]
(b) What are the components that affect the quality of irrigation
water ? [10]
(TS Tl
@ : d T THUT T : 60

o — (i) Wd W e s
(i) 3SoEHSle 3 YU YU EFifere.
(iii) oToRA®H d9 Yok FHAl il

1. w&e gy sk fed [14]
(1) ugl W Ugdrdl e foml
(F) uveR e Jen o

()

qfasuafiasi sren ol

(3) fFfel gu FOM & ¥9eh &I ?

(®)
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MogE ST GURUIEEl qguRE a9 e
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(%) S guisadt =aren ol
() T s o

2. () Ui HWRAN HEd TR H. (5]
| fegar

Sifeten qde yer @ wifedt fom. [5]

| () &mgF woarn R g gRomifasdt mifedt fo. [5]

8. (3N % ugd SHH 9 Uit duruidie mea fare @ [8]

() wwuedE de 9 fag de ugd oadie ww o [8]
fepar

| U & afite fo. [8]

4 () g afleorh iR Wi [10]
fepar

FRIHR 9 990 SHE €S T99 AWE R wesst s 2 [10]
(%) To=ar= wvarEt Y9 e WO Sewifawdt wifedt fe [10]
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T.Y. B.A. EXAMINATION, 2009

ADVERTISING, SALES PROMOTION AND SALES
MANAGEMENT

Paper V (Vocational)

(Sales Promotion, Public Relations and

Management of Sales Force)

(2004 PATTERN)

Time : Three Hours Maximum Marks : 60

"N.B. :— (Z) All questions are compulsory.

(ii) Figures to the right indicate full marks.

What do you mean by Sales Management. Explain functions of sales

manager. {15)
Or

What do you mesn by ‘Performance Appraisal’ ? Narrate the need

and -importance of performance appraisal.

What do you mean by saies budget ? Explain the importance of sales
budgeting. . [15]

Or

Define ‘sales territory’. Explain various factors that are considered

while determining sales territory.

P.T.O.



é:g *

What do you mean by Sales Fromoction ? Explain the consumer criented

[15]

salés promotional tools,

Or
Write a detailed note on ‘Public Relations’.

Write short potes on (any three) :

S’

@) Sales quota
{b} Sales analysis;
{¢) Sales audit

{d) Compensation of salesperson

(e} Need of training.

o oy
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T.Y. B.A. EXAMINATION, 2009
v & ;S
(Functional Hindi : Vocational)
wFuT VI
(- )
(2004 PATTERN)
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T.Y. B.A. EXAMINATION, 2009
WATER MANAGEMENT-III
Paper Il (Theory)
(VOCATIONAL COURSE)
| (2004 PATTERN)
Time : Three Hours Maximum Marks : 60
N.B. — (i) All questions are compulsory.
(ii) Figures to the right indicates marks.

(izi) Draw neat diagrams whenever necessary.

1. Answer the following : [14]
(@) What is evapotranspiration ?
(b) What is permanent wilting point ?
(¢) Define water scheduling.
(d) Enlist the major irrigation project in Maharashtra.
() Enlist factors affecting quality of irrigation water.
(f)  What is the adverse effect of boron on crops ?

(g0 What is maximum water holding capacity ?

2. (@) What are the factors affecting water use efficiency ? (5]
Or

Explain the advantages of irrigation. (5]

(b) Explain the importance of Tensiometer. [5]

P.T.O.



3. (a)

Give the detailed classification of salt tolerant crops. [8]

(») What are the methods of soil moisture measurement ?  [8]
Or
Give the role of physical properties of soil in water management.
4. (a) Describe the water budget of India and major irrigation
project. | (10]
| Or
What are the suitable irrigation methods for salt affected soil ? [10]
(b) What is farm pond ? Explain the site selection the farm pond
with its iinportance. . [10]
(T wu)
@ : A THOT T : 80

GO :— () W WA fEd .
(i) SoEhele S YU U SFiferd.
(i) oTeRa® AT Ak MG HEl

1. Tl WA W ofew [14]
(37) arqUUficeEs WUSE %E 7
(9) S wrm Wl fog "o wE ?
(%) die ogrel derdserdl e o
(¥) weRMHe Hewar Wit gHed fow.
(3) foarsoren ToETe URUEESTO SEhE A e
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(%) SRE=T fusrier womn goafom @@ ?
(A1) SR SeUrUREERl WIS & ?

2. (31) uoErsA srEiemael URom wIoT weswTHl Aifedr ol [5]
fepar

ARy T WER fewRl [5]

(@) Fusiried wea we wU, (5]

3. (3) &R Wewhe fyw =il fomt (8]

(¥) Sfreidte ofieen Hiswaren Yol wifgd ot (8]
fepar

Sftre g U qolt SEEEErdte Ted faig U, (8]

4. () WRARiE Gogre igSusETE Aifed! forl. YRakite THE Sefd=d Fher!
gfaww wrfedt fo. [10]

feRan
RES SHFIGdl Sofgareal vl ggdel ) &ad 2 [10]

(F) Iqax WUN w1¥ ? Iadear=dl wHE A 9 @R ggd Ww
E XU [10]

[3601]-403 a



Total No. of Questions—4] [Total No. of Printed Pages—2
[3601]-405
T.Y. B.A. EXAMINATION, 2009
ENTREPRENEURSHIP DEVELOPMENT
Paper VI-B
(Vocational)
(2004 PATTERN)
Time : Two Hours Maximum Marks : 50
N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. What is meant by the term ‘Entrepreneur’ ? Describe the qualities

of a successful entrepreneur. [12]
Or

Narrate the merits and limitations of partnership form of business

organisation. (12]

2. Explain thé criteria for selection of product applied by an

entrepreneur. [12]
Or
Define the term S.S.I. Write a note on ‘identification of oppor-
tunities for enfrepreneurship’. ' [12]
3. Write a detailed note on ‘SWOT Analysis’. [12]
Or
State and explain the causes of stress. . [12]

P.T.O.



4.  Write short notes on (any two) :
(¢) Need of entrepreneurship |
4}  Role of D.I‘."C.
(¢} Importance of human resource management

{¢d; Causes of sickness.

. o
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